Course:	LAW - 7V30 001 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Angela Downes	Responses / Expected:	8 / 43 (18.60%)

					Angel	a Down	es					Survey Co	omparis	ons
Cour	se Evaluation Questions		Re	sponse	es (%)			Indi	vidual			Law	School	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	8	4.8	4.8	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	8	4.8	4.8	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	8	4.6	4.7	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	8	4.6	4.7	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	8	4.8	4.8	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	1 12.5%	0	6 75%	8	4.4	4.8	5	8	4.4	4.8	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0	5.0	5	8	5.0	5.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	8	4.9	4.9	50
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	8	4.9	4.9	50
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	4.7	5	8	4.4	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0	5.0	5	8	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	8 100%	8	5.0	5.0	5	8	5.0	5.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	8	4.9	4.9	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	7 100%	7	5.0	5.0	5	7	5.0	5.0	50

Course: MGMT - 3860 010 - Human Resource Management Department: BUSI

Responsible Faculty: Elizabeth Muniz Responses / Expected: 6 / 28 (21.43%)

					Eliz	abeth M	lun	iiz			;	Survey Co	mparis	ons
Cour	se Evaluation Questions			Respor	nses (%)			Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	22	4.3	4.6	67
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	22	4.6	4.7	67
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	22	4.6	4.8	17
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	22	4.7	4.9	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	22	4.5	4.6	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	22	4.4	4.7	17
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	22	4.8	4.9	17
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	22	4.8	4.9	17
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	22	4.9	4.9	17
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	21	4.6	4.8	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	21	4.7	4.8	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	22	4.5	4.7	17
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	22	4.6	4.8	17
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	22	4.7	4.8	17

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				MGN	ИТ - 3860	- 0	10				Survey Co	mparison	s
Labs and Online Learning Questions			Respon	ses (%)			Co	ourse			ı	All .	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	28	4.1	4.7	38
Q16 The course topics are organized in a coherent fashion.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	43	4.3	4.8	31

Course: MGMT - 3860 011 - Human Resource Management Department: BUSI

Responsible Faculty: Elizabeth Muniz Responses / Expected: 9 / 30 (30%)

					Eliz	abeth M	lun	iz			;	Survey Co	mpariso	ons
Cou	se Evaluation Questions			Respon	nses (%))		Indi	vidual			В	JSI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	22	4.3	4.6	67
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	22	4.6	4.7	67
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	22	4.6	4.8	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	22	4.7	4.9	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	22	4.5	4.6	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	22	4.4	4.7	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	22	4.8	4.9	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	22	4.8	4.9	50
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	22	4.9	4.9	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	21	4.6	4.8	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	21	4.7	4.8	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	22	4.5	4.7	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	22	4.6	4.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	22	4.7	4.8	50

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					M	IGMT - 38	360	- 011			-	Survey Co	omparison	s
Labs	and Online Learning Questions			Res	ponses (%	.)		C	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	28	4.1	4.7	56
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	43	4.3	4.8	56

Course:MGMT - 4470 011 - LeadershipDepartment:BUSIResponsible Faculty:Frances ConnerResponses / Expected:7 / 29 (24.14%)

					Fra	nces C	onn	er				Survey Co	mpariso	ns
Co	rse Evaluation Questions	F	Res	poi	nses (%)		Indi	vidual			В	JSI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 28.6%	0	0	3 42.9%	2 28.6%	7	3.4	4.0	4	22	4.3	4.6	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	22	4.6	4.7	17
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3	4.8	5	22	4.6	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	22	4.7	4.9	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	22	4.5	4.6	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1	4.6	5	22	4.4	4.7	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	22	4.8	4.9	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0	5.0	5	22	4.8	4.9	83
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0	5.0	5	22	4.9	4.9	83
Q1	My instructor provides timely feedback to guide my progress.	0	0	0	0	6 100%	6	5.0	5.0	5	21	4.6	4.8	83
Q1	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	21	4.7	4.8	50
Q1	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	22	4.5	4.7	50
Q1	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	22	4.6	4.8	83
Q1	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	22	4.7	4.8	83

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					ı	мсмт -	4470	0 - 011			-	Survey Co	mparison	s
Lab	s and Online Learning Questions		R	espo	onses (S	%)		C	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	28	4.1	4.7	81
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	43	4.3	4.8	44

Course:PLDR - 5330 030 - Organization Theory and Managing Change in Public ServiceDepartment:PUBLDRResponsible Faculty:James AgbodzakeyResponses / Expected:3 / 6 (50%)

					Jan	nes Agb	od	zakey				Survey Co	ompariso	ons
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	ividual			PU	BLDR	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	3	4.7	4.8	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				F	PLDR - 53	30 -	- 030			-	Survey Co	mparisons	s
Labs and Online Learning Questions		F	Resp	onses (%	5)		C	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	28	4.1	4.7	38
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	43	4.3	4.8	88

Course: SPAN - 2313 001 - Spanish for Heritage Speakers Department: LangCom
Responsible Faculty: Rosa Barrett Responses / Expected: 8 / 20 (40%)

					Rosa I	Barrett					s	urvey Co	mpariso	ons
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	vidua			Lanç	Com	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	3 37.5%	3 37.5%	0	1 12.5%	1 12.5%	8	2.3	1.8	2	33	4.1	4.8	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	3 37.5%	2 25%	0	2 25%	1 12.5%	8	2.5	2.0	2	33	4.2	4.8	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	3 37.5%	1 12.5%	0	3 37.5%	1 12.5%	8	2.8	3.0	3	33	4.3	4.8	13
Q4	My instructor provides material that helps me do well on assignments.	3 37.5%	2 25%	0	2 25%	1 12.5%	8	2.5	2.0	2	33	4.2	4.8	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 37.5%	1 12.5%	2 25%	2 25%	0	8	2.4	2.5	2.5	33	4.2	4.8	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	4 50%	0	2 25%	1 12.5%	1 12.5%	8	2.4	2.0	2	33	4.2	4.8	13
Q 7	My instructor establishes a climate of respect for students.	1 12.5%	0	1 12.5%	4 50%	2 25%	8	3.8	4.0	4	33	4.6	4.8	13
Q8	My instructor is available to me on matters pertaining to the course.	4 50%	2 25%	1 12.5%	1 12.5%	0	8	1.9	1.5	1.5	33	4.1	4.7	13
Q9	My instructor encourages me to do my best work.	3 37.5%	0	3 37.5%	2 25%	0	8	2.5	2.8	3	33	4.2	4.8	13
Q10	My instructor provides timely feedback to guide my progress.	5 62.5%	2 25%	0	1 12.5%	0	8	1.6	1.3	1	33	4.0	4.8	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	1 12.5%	4 50%	1 12.5%	1 12.5%	8	3.0	3.0	3	33	4.4	4.8	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	3 37.5%	1 12.5%	3 37.5%	1 12.5%	0	8	2.3	2.5	2.5	33	4.1	4.7	13
Q13	My instructor encourages me to develop new viewpoints.	3 37.5%	0	3 37.5%	2 25%	0	8	2.5	2.8	3	33	4.2	4.7	13
Q14	My instructor made the subject interesting and motivated me to learn.	3 37.5%	1 12.5%	2 25%	2 25%	0	8	2.4	2.5	2.5	33	4.2	4.8	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				;	SPA	N - 2	313	- 001			-	Survey Co	mparison	s
Labs	and Online Learning Questions		Respo	nses (%	6)			C	ourse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	3 60%	1 20%	1 20%	0	0	5	1.6	1.3	1	28	4.1	4.7	6
Q16	The course topics are organized in a coherent fashion.	3 60%	1 20%	1 20%	0	0	5	1.6	1.3	1	43	4.3	4.8	6

Course:SPAN - 3150 030 - Spanish Culture and CivilizationDepartment:LangComResponsible Faculty:Mara VaughnResponses / Expected:10 / 20 (50%)

					Mara	Vau	ghn				Survey Co	mpariso	ons
Cou	se Evaluation Questions	Re	espo	onses	(%)		Indi	vidual			Lan	gCom	
		SD E	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.1	4.8	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.2	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.3	4.8	75
Q4	My instructor provides material that helps me do well on assignments.	0 0	0	1 10%	9 90%	10	4.9	4.9	5	33	4.2	4.8	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.2	4.8	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.2	4.8	75
Q7	My instructor establishes a climate of respect for students.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.6	4.8	75
Q8	My instructor is available to me on matters pertaining to the course.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.1	4.7	88
Q9	My instructor encourages me to do my best work.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.2	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.0	4.8	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.4	4.8	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.1	4.7	88
Q13	My instructor encourages me to develop new viewpoints.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.2	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	0	0	10 100%	10	5.0	5.0	5	33	4.2	4.8	75

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

						SPAN -	315	50 - 030				Survey Co	mparisons	;
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	5.0	5	28	4.1	4.7	81
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	7 100%	7	5.0	5.0	5	43	4.3	4.8	88

Course: SPAN - 3313 001 - Advanced Spanish for Heritage Speakers Department: LangCom

Responsible Faculty: Rosa Barrett Responses / Expected: 6 / 20 (30%)

					Rosa	Barre	tt				;	Survey Co	mpariso	ons
Cou	se Evaluation Questions		Re	sponse	es (%)			Indi	vidual			Lanç	Com	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	33	4.1	4.8	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	33	4.2	4.8	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	33	4.3	4.8	38
Q4	My instructor provides material that helps me do well on assignments.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	33	4.2	4.8	38
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	33	4.2	4.8	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	33	4.2	4.8	38
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	33	4.6	4.8	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	33	4.1	4.7	38
Q9	My instructor encourages me to do my best work.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	33	4.2	4.8	38
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	33	4.0	4.8	38
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	33	4.4	4.8	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 50%	1 16.7%	2 33.3%	6	3.8	3.5	3.5	33	4.1	4.7	38
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	33	4.2	4.7	38
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	33	4.2	4.8	38

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				S	PAN - 3	313	- 001			-	Survey Co	mparisons	s
Labs and Online Learning Questions		Res	pon	ses (%))		Co	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	28	4.1	4.7	19
Q16 The course topics are organized in a coherent fashion.	1 25%	0	0	2 50%	1 25%	4	3.5	4.0	4	43	4.3	4.8	19

Course:SPAN - 3570 001 - Spanish in the Bilingual ClassroomDepartment:LangComResponsible Faculty:Mara VaughnResponses / Expected:9 / 16 (56.25%)

						Mara Va	aug	jhn .				Survey Co	mpariso	ons
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	ividual	l		Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	33	4.1	4.8	63
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.2	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.3	4.8	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.2	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.2	4.8	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.2	4.8	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.6	4.8	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	33	4.1	4.7	63
Q9	My instructor encourages me to do my best work.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.2	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.0	4.8	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.4	4.8	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	33	4.1	4.7	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	33	4.2	4.7	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	9 100%	9	5.0	5.0	5	33	4.2	4.8	75

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					S	PAN - 35	70 -	001			-	Survey Co	omparison	s
Labs	and Online Learning Questions		ı	Resp	onses (%	.)		C	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	28	4.1	4.7	81
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	43	4.3	4.8	69

Course:	ACCT - 2010 010 - Accounting Principles I (Financial Accounting)	Department:	BUSI
Responsible Faculty:	Pamela Thompson	Responses / Expected:	20 / 27 (74.07%)

					Pa	mela 1	Γhon	npson			8	Survey Co	mparisor	ıs
Cou	se Evaluation Questions		Re	spon	ses (%)		Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	6 30%	14 70%	20	4.7	4.8	5	203	4.4	4.6	61
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 15%	17 85%	20	4.9	4.9	5	202	4.5	4.7	80
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 20%	16 80%	20	4.8	4.9	5	203	4.6	4.8	66
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 20%	16 80%	20	4.8	4.9	5	202	4.5	4.7	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 15%	6 30%	11 55%	20	4.4	4.6	5	203	4.4	4.6	34
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 5%	8 40%	11 55%	20	4.5	4.6	5	203	4.5	4.7	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 15%	17 85%	20	4.9	4.9	5	203	4.7	4.8	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 20%	16 80%	20	4.8	4.9	5	203	4.6	4.8	70
Q9	My instructor encourages me to do my best work.	0	0	0	4 20%	16 80%	20	4.8	4.9	5	202	4.6	4.7	64
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	6 30%	14 70%	20	4.7	4.8	5	201	4.5	4.8	48
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 25%	15 75%	20	4.8	4.8	5	203	4.6	4.8	59
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5%	5 25%	14 70%	20	4.7	4.8	5	203	4.5	4.7	52
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 5%	4 20%	15 75%	20	4.7	4.8	5	203	4.5	4.7	73
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 5%	3 15%	16 80%	20	4.8	4.9	5	202	4.5	4.7	77

				ACCT	- 2010 - 0	010					Survey Cor	nparisons	:
Labs and Online Learning Questions		Re	esponse	s (%)			Co	urse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 6.7%	1 6.7%	1 6.7%	1 6.7%	11 73.3%	15	4.3	4.8	5	383	4.4	4.7	60
Q16 The course topics are organized in a coherent fashion.	0	0	0	4 22.2%	14 77.8%	18	4.8	4.9	5	555	4.6	4.8	62

Course: ACCT - 4420 010 - International Accounting	Department:	BUSI
Responsible Faculty: Pamela Thompson	Responses / Expected:	11 / 13 (84.62%)

Ca	se Evaluation Questions					ela Tho	mps				5	Survey Co	•	ns
Coul	se Evaluation Questions		F	Respon	ses (%)			Indiv	vidual	ı		BU		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	7 63.6%	4 36.4%	11	4.4	4.3	4	203	4.4	4.6	20
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 .	2 18.2%	4 36.4%	5 45.5%	11	4.3	4.4	4	202	4.5	4.7	16
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	203	4.6	4.8	16
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4	4.4	4	202	4.5	4.7	20
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 ,	3 27.3%	3 27.3%	5 45.5%	11	4.2	4.3	4	203	4.4	4.6	20
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	203	4.5	4.7	20
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	203	4.7	4.8	16
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	203	4.6	4.8	43
Q9	My instructor encourages me to do my best work.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	202	4.6	4.7	30
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	201	4.5	4.8	34
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 54.5%	5 45.5%	11	4.5	4.4	4	203	4.6	4.8	16
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3	4.3	4	203	4.5	4.7	14
Q13	My instructor encourages me to develop new viewpoints.	0	0 ,	2 18.2%	3 27.3%	6 54.5%	11	4.4	4.6	5	203	4.5	4.7	34
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	202	4.5	4.7	30

				A	ACCT - 44	20 -	010				- Survey Con	nparisons	
Labs and Online Learning Questions			Res	ponses (%)			C	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	383	4.4	4.7	23
Q16 The course topics are organized in a coherent fashion.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	555	4.6	4.8	17

Course:	AGER - 4560 040 - Minority Aging	Department:	SEHSD
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	2 / 4 (50%)

					Iftel	har	Amin				Survey Co	mpariso	ns
Cou	rse Evaluation Questions	1	Res	por	nses (%)		Ind	ividual			SE	HSD	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.3	4.7	89
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.5	4.8	83
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.5	4.8	89
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.5	4.9	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.5	4.8	89
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.4	4.8	89
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.7	4.9	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.5	4.9	83
Q9	My instructor encourages me to do my best work.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.6	4.9	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.3	4.8	89
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 2 100%	2	5.0	5.0	5	38	4.5	4.8	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.5	4.8	89
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 1 100%	1	5.0	5.0	5	38	4.4	4.7	89
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	39	4.5	4.8	89

						AGER -	456	60 - 040			-	Survey Con	nparisons	
Labs	and Online Learning Questions		Res	spor	ises	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	555	4.6	4.8	89

Course:	AGRI - 3311 030 - Pest Management	Department:	LIFESCI
Responsible Faculty:	Jerrod Tynes	Responses / Expected:	2 / 2 (100%)

					Jerre	od T	ynes			:	Survey Co	mparisor	15
Cour	se Evaluation Questions	F	Res	por	ses (%)		Indi	ividual			LIFE	SCI	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.2	4.3	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.3	4.4	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.3	4.4	92
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.3	4.4	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.2	4.3	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.1	4.2	94
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.4	4.5	92
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.3	4.4	92
Q9	My instructor encourages me to do my best work.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.2	4.4	92
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.3	4.4	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.3	4.4	92
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.3	4.4	92
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.2	4.2	92
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	118	4.1	4.3	92

						AGRI -	331	1 - 030				- Survey Con	nparisons	
Labs	s and Online Learning Questions		Res	por	ıses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	555	4.6	4.8	89

Course:	ART - 1300 030 - Art Appreciation for Non-Art Majors	Department:	LangCom
Responsible Faculty:	Rafael Molina	Responses / Expected:	5 / 26 (19.23%)

0	se Evaluation Questions		_			Rafael	Mo					Survey Co	•	ns
Coul	se Evaluation Questions	<u> </u>	Respo	onse	es (%)		Indi	vidual	1		Lan	gCom	
		SD I	N		A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 (40		2 40%	1 20%	5	3.8	3.8	4	47	4.3	4.6	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 (40		1 20%	2 40%	5	4.0	4.0	4	47	4.4	4.6	6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0 (0		1 20%	4 80%	5	4.8	4.9	5	47	4.6	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0 (20	%	2 40%	2 40%	5	4.2	4.3	4	47	4.5	4.7	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 (60		1 20%	1 20%	5	3.6	3.3	3	46	4.2	4.6	6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 (40		1 20%	2 40%	5	4.0	4.0	4	47	4.4	4.7	13
Q7	My instructor establishes a climate of respect for students.	0 (20		2 40%	2 40%	5	4.2	4.3	4	47	4.5	4.7	19
Q8	My instructor is available to me on matters pertaining to the course.	0 (0		3 60%	2 40%	5	4.4	4.3	4	47	4.6	4.8	19
Q9	My instructor encourages me to do my best work.	0 (20		2 40%	2 40%	5	4.2	4.3	4	47	4.5	4.7	19
Q10	My instructor provides timely feedback to guide my progress.	0 () 1 20		2 40%	2 40%	5	4.2	4.3	4	47	4.6	4.7	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 (20		2 40%	2 40%	5	4.2	4.3	4	47	4.4	4.6	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 (20		2 40%	2 40%	5	4.2	4.3	4	47	4.4	4.6	31
Q13	My instructor encourages me to develop new viewpoints.	0 (20		1 20%	3 60%	5	4.4	4.7	5	47	4.4	4.7	44
Q14	My instructor made the subject interesting and motivated me to learn.	0 (1 20	% .	2 40%	2 40%	5	4.2	4.3	4	47	4.3	4.6	31

				,	ART - 130	0 - 0	030				- Survey Con	nparisons	
Labs and Online Learning Questions			Res	ponses (%)			C	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	383	4.4	4.7	23
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	555	4.6	4.8	16

Course: BCIS	IS - 1305 030 - Business Computer Applications	Department:	BUSI
Responsible Faculty: The	eodore Larson	Responses / Expected:	7 / 19 (36.84%)

					Theo	odore La	ırsı	on .			5	urvey Coi	nnarisoı	ns
Cou	se Evaluation Questions			Respons					vidual			BU	•	
		SD	D	N	А	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0 -	5 71.4%	2 28.6%	7	4.3	4.2	4	203	4.4	4.6	11
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0 4	3 42.9%	4 57.1%	7	4.6	4.6	5	202	4.5	4.7	36
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0 4	3 42.9%	4 57.1%	7	4.6	4.6	5	203	4.6	4.8	27
Q4	My instructor provides material that helps me do well on assignments.	0	0	0 /	3 42.9%	4 57.1%	7	4.6	4.6	5	202	4.5	4.7	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3% 2	2 28.6%	4 57.1%	7	4.4	4.6	5	203	4.4	4.6	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3% 2	2 28.6%	4 57.1%	7	4.4	4.6	5	203	4.5	4.7	34
Q7	My instructor establishes a climate of respect for students.	0	0	0 4	3 42.9%	4 57.1%	7	4.6	4.6	5	203	4.7	4.8	23
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0 /	3 42.9%	4 57.1%	7	4.6	4.6	5	203	4.6	4.8	23
Q9	My instructor encourages me to do my best work.	0	0	1 14.3% 2	2 28.6%	4 57.1%	7	4.4	4.6	5	202	4.6	4.7	39
Q10	My instructor provides timely feedback to guide my progress.	0	0	0 (4 57.1%	3 42.9%	7	4.4	4.4	4	201	4.5	4.8	20
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3% 2	2 28.6%	4 57.1%	7	4.4	4.6	5	203	4.6	4.8	30
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3% 5	4 57.1%	2 28.6%	7	4.1	4.1	4	203	4.5	4.7	7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 14.3% 5	4 57.1%	2 28.6%	7	4.1	4.1	4	203	4.5	4.7	7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3% 5	4 57.1%	2 28.6%	7	4.1	4.1	4	202	4.5	4.7	16

					В	CIS - 130	05 - (030				Survey Cor	nparisons	
Labs	s and Online Learning Questions		R	espons	es (%)			С	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	1 20%	0	1 20%	0	3 60%	5	3.8	4.7	5	555	4.6	4.8	37

Course: BCIS - 3610 010 - Basic Information Syste	ms Department:	BUSI
Responsible Faculty: Theodore Larson	Responses / Expected:	9 / 24 (37.50%)

					Theodo	e Larso	n				s	urvey Cor	npariso	ns
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N I	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 11.1%	0	2 22.2%	6 66.7%	9	4.4	4.8	5	203	4.4	4.6	52
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	202	4.5	4.7	89
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	0	8 88.9%	9	4.8	4.9	5	203	4.6	4.8	89
Q4	My instructor provides material that helps me do well on assignments.	0	1 11.1%	0	0	8 88.9%	9	4.7	4.9	5	202	4.5	4.7	89
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	0	8 88.9%	9	4.8	4.9	5	203	4.4	4.6	89
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 11.1%	0	1 11.1%	7 77.8%	9	4.6	4.9	5	203	4.5	4.7	73
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	203	4.7	4.8	82
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	203	4.6	4.8	86
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	202	4.6	4.7	82
Q10	My instructor provides timely feedback to guide my progress.	1 11.1%	0	0	0	8 88.9%	9	4.6	4.9	5	201	4.5	4.8	82
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 11.1%	0	0	8 88.9%	9	4.7	4.9	5	203	4.6	4.8	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	203	4.5	4.7	84
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	203	4.5	4.7	89
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 11.1%	0	0	8 88.9%	9	4.7	4.9	5	202	4.5	4.7	89

						BCIS -	361	0 - 010				Survey Con	nparisons	
Labs	and Online Learning Questions		Res	spor	ises	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	5.0	5	555	4.6	4.8	89

Course:	BCIS - 3610 011 - Basic Information Systems	Department:	BUSI
Responsible Faculty:	Oluseyi Obitade	Responses / Expected:	16 / 18 (88.89%)

0	Furthering Quantities					eyi Obita	ade				S	urvey Co	•	ns
Coul	se Evaluation Questions		F	Respons	es (%)			Indi	/idual			BU		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 6.3%	8 50%	7 43.8%	16	4.4	4.4	4	203	4.4	4.6	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 43.8%	9 56.3%	16	4.6	4.6	5	202	4.5	4.7	30
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	7 43.8%	9 56.3%	16	4.6	4.6	5	203	4.6	4.8	20
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 31.3%	11 68.8%	16	4.7	4.8	5	202	4.5	4.7	48
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 6.3%	8 50%	7 43.8%	16	4.4	4.4	4	203	4.4	4.6	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 18.8%	4 25%	9 56.3%	16	4.4	4.6	5	203	4.5	4.7	30
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 25%	12 75%	16	4.8	4.8	5	203	4.7	4.8	57
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	8 50%	8 50%	16	4.5	4.5	4.5	203	4.6	4.8	16
Q9	My instructor encourages me to do my best work.	0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5	4.6	5	202	4.6	4.7	34
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	6 40%	9 60%	15	4.6	4.7	5	201	4.5	4.8	41
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 6.3%	5 31.3%	10 62.5%	16	4.6	4.7	5	203	4.6	4.8	39
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 6.3%	5 31.3%	10 62.5%	16	4.6	4.7	5	203	4.5	4.7	39
Q13	My instructor encourages me to develop new viewpoints.	0	1 6.3%	0	6 37.5%	9 56.3%	16	4.4	4.6	5	203	4.5	4.7	39
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 6.3%	3 18.8%	12 75%	16	4.7	4.8	5	202	4.5	4.7	66

						BCIS -	3610	- 011				- Survey Co	nparisons	
Labs	s and Online Learning Questions		Re	espoi	nses (%))		Co	urse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	4 40%	6 60%	10	4.6	4.7	5	383	4.4	4.7	48
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 20%	12 80%	15	4.8	4.9	5	555	4.6	4.8	65

Course: BIOL - 1082 001 - Biology for Educators	Department:	LIFESCI
Responsible Faculty: Keriman Livingston	Responses / Expected:	16 / 31 (51.61%)

Cour	se Evaluation Questions		Re	sponse	Kerimar	Livings	ton		vidual		S	urvey Co	•	ns
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	2 12.5%	0	9 56.3%	5 31.3%	16	4.1	4.2	4	118	4.2	4.3	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 6.3%	0	1 6.3%	7 43.8%	7 43.8%	16	4.2	4.4	4	118	4.3	4.4	47
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 6.3%	0	1 6.3%	6 37.5%	8 50%	16	4.3	4.5	4.5	117	4.3	4.4	61
Q4	My instructor provides material that helps me do well on assignments.	0	2 12.5%	0	7 43.8%	7 43.8%	16	4.2	4.4	4	118	4.3	4.4	47
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 12.5%	7 43.8%	7 43.8%	16	4.3	4.4	4	118	4.2	4.3	47
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 6.3%	1 6.3%	8 50%	6 37.5%	16	4.2	4.3	4	118	4.1	4.2	50
Q7	My instructor establishes a climate of respect for students.	0	0	3 18.8%	5 31.3%	8 50%	16	4.3	4.5	4.5	118	4.4	4.5	39
Q8	My instructor is available to me on matters pertaining to the course.	0	1 6.3%	0	7 43.8%	8 50%	16	4.4	4.5	4.5	118	4.3	4.4	64
Q9	My instructor encourages me to do my best work.	1 6.3%	0	2 12.5%	4 25%	9 56.3%	16	4.3	4.6	5	117	4.2	4.4	67
Q10	My instructor provides timely feedback to guide my progress.	0	1 6.3%	1 6.3%	8 50%	6 37.5%	16	4.2	4.3	4	118	4.3	4.4	31
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5	4.6	5	118	4.3	4.4	69
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 18.8%	6 37.5%	7 43.8%	16	4.3	4.3	4	117	4.3	4.4	47
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 18.8%	8 50%	5 31.3%	16	4.1	4.1	4	118	4.2	4.2	53
Q14	My instructor made the subject interesting and motivated me to learn.	1 6.3%	1 6.3%	1 6.3%	7 43.8%	6 37.5%	16	4.0	4.2	4	118	4.1	4.3	42

					BIOL -	- 1082 - 00)1					Survey Co	mparisons	s
Labs	s and Online Learning Questions		F	Response	s (%)			Co	urse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 6.3%	2 12.5%	4 25%	9 56.3%	16	4.3	4.6	5	383	4.4	4.7	45
Q16	The course topics are organized in a coherent fashion.	1 6.3%	0	1 6.3%	7 43.8%	7 43.8%	16	4.2	4.4	4	555	4.6	4.8	20

Course: BIOL - 1082 301 - Biology for Educators	Department:	LIFESCI
Responsible Faculty: Keriman Livingston	Responses / Expected:	16 / 31 (51.61%)

				k	Ceriman	Livings	ton				S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		Res	sponses	(%)			Indiv	vidual			LIFE	SCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 6.3%	1 6.3%	8 50%	6 37.5%	16	4.2	4.3	4	118	4.2	4.3	58
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 12.5%	0	5 31.3%	9 56.3%	16	4.3	4.6	5	118	4.3	4.4	58
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 12.5%	5 31.3%	9 56.3%	16	4.4	4.6	5	117	4.3	4.4	69
Q4	My instructor provides material that helps me do well on assignments.	1 6.3%	0	1 6.3%	6 37.5%	8 50%	16	4.3	4.5	4.5	118	4.3	4.4	61
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 12.5%	6 37.5%	8 50%	16	4.4	4.5	4.5	118	4.2	4.3	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.3%	0	1 6.3%	6 37.5%	8 50%	16	4.3	4.5	4.5	118	4.1	4.2	61
Q7	My instructor establishes a climate of respect for students.	0	0	2 12.5%	5 31.3%	9 56.3%	16	4.4	4.6	5	118	4.4	4.5	53
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 12.5%	7 43.8%	7 43.8%	16	4.3	4.4	4	118	4.3	4.4	47
Q9	My instructor encourages me to do my best work.	1 6.3%	1 6.3%	0	5 31.3%	9 56.3%	16	4.3	4.6	5	117	4.2	4.4	67
Q10	My instructor provides timely feedback to guide my progress.	0	1 6.3%	1 6.3%	7 43.8%	7 43.8%	16	4.3	4.4	4	118	4.3	4.4	36
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 18.8%	6 37.5%	7 43.8%	16	4.3	4.3	4	118	4.3	4.4	53
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 18.8%	5 31.3%	8 50%	16	4.3	4.5	4.5	117	4.3	4.4	56
Q13	My instructor encourages me to develop new viewpoints.	0	1 6.3%	3 18.8%	5 31.3%	7 43.8%	16	4.1	4.3	4	118	4.2	4.2	58
Q14	My instructor made the subject interesting and motivated me to learn.	2 12.5%	0	1 6.3%	6 37.5%	7 43.8%	16	4.0	4.3	4	118	4.1	4.3	53

					BIC)L - 1082 ·	- 301					- Survey Cor	nparisons	
Labs	and Online Learning Questions			Respon	ses (%)			Co	urse			Α	II	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5	4.6	5	383	4.4	4.7	45
Q16	The course topics are organized in a coherent fashion.	1 6.3%	0	0	7 43.8%	8 50%	16	4.3	4.5	4.5	555	4.6	4.8	28

Course: BIOL - 1132 030 - Environmental Science	Department:	LIFESCI
Responsible Faculty: Irene Rodriguez Virgen	Responses / Expected:	10 / 28 (35.71%)

				ı	rene Ro	driguez	Virg	en			S	urvey Co	mpariso	ns
Cou	se Evaluation Questions		R	espons	es (%)			Indi	vidual			LIFE	SCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 10%	0	2 20%	3 30%	4 40%	10	3.9	4.2	4	118	4.2	4.3	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	118	4.3	4.4	53
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3	4.4	4	117	4.3	4.4	53
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	118	4.3	4.4	61
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	118	4.2	4.3	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	118	4.1	4.2	61
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	6 60%	3 30%	10	4.2	4.2	4	118	4.4	4.5	19
Q8	My instructor is available to me on matters pertaining to the course.	0	1 10%	1 10%	4 40%	4 40%	10	4.1	4.3	4	118	4.3	4.4	42
Q9	My instructor encourages me to do my best work.	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	117	4.2	4.4	39
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	118	4.3	4.4	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 10%	1 10%	5 50%	3 30%	10	4.0	4.1	4	118	4.3	4.4	36
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	117	4.3	4.4	56
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	118	4.2	4.2	64
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	0	4 40%	5 50%	10	4.2	4.5	4.5	118	4.1	4.3	64

					В	OL - 11	32 - 0	30				Survey Cor	nparisons	
Labs	s and Online Learning Questions		Re	esponse	es (%)			Co	urse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 10%	0	0	4 40%	5 50%	10	4.2	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	555	4.6	4.8	28

Course:	BIOL - 1132 330 - Environmental Science	Department:	LIFESCI
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	10 / 28 (35.71%)

					Irene Ro	driguez	Virg	en			S	urvey Co	mpariso	ns
Cou	se Evaluation Questions		R	espons	es (%)			Indi	vidual			LIFE	SCI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 10%	0	1 10%	2 20%	6 60%	10	4.2	4.7	5	118	4.2	4.3	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	1 10%	1 10%	7 70%	10	4.3	4.8	5	118	4.3	4.4	69
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	117	4.3	4.4	61
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	118	4.3	4.4	61
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	2 20%	2 20%	5 50%	10	4.0	4.5	4.5	118	4.2	4.3	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	0	2 20%	3 30%	4 40%	10	3.9	4.2	4	118	4.1	4.2	42
Q7	My instructor establishes a climate of respect for students.	0	0	2 20%	2 20%	6 60%	10	4.4	4.7	5	118	4.4	4.5	58
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	118	4.3	4.4	64
Q9	My instructor encourages me to do my best work.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	117	4.2	4.4	58
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	5 50%	5 50%	10	4.5	4.5	4.5	118	4.3	4.4	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 10%	1 10%	4 40%	4 40%	10	4.1	4.3	4	118	4.3	4.4	44
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	117	4.3	4.4	64
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	3 30%	6 60%	10	4.5	4.7	5	118	4.2	4.2	75
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	2 20%	2 20%	5 50%	10	4.0	4.5	4.5	118	4.1	4.3	64

					ВІ	OL - 11:	32 - 3	330				Survey Cor	nparisons	
Labs	and Online Learning Questions		Resp	onse	es (%)			Co	urse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 10%	1 10%	0	3 30%	5 50%	10	4.0	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	1 10%	0	0	4 40%	5 50%	10	4.2	4.5	4.5	555	4.6	4.8	28

Course: BIOL - 1710 001 - Biology for Science Majors I	Department:	LIFESCI
Responsible Faculty: Sarvjeet Singh	Responses / Expected:	2 / 7 (28.57%)

					Sa	arvjee	t Siı	•			8	Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	espon	ses (%)			Indi	vidual			LIFE	SCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.2	4.3	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	117	4.3	4.4	3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.2	4.3	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.1	4.2	8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.4	4.5	39
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.3	4.4	64
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	117	4.2	4.4	11
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.3	4.4	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.3	4.4	64
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	117	4.3	4.4	11
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.2	4.2	11
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.1	4.3	8

					BIOL -	1710	- 001				Survey Cor	nparisons	
Labs and Online Learning Questions		R	espoi	nses (%))		Co	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	555	4.6	4.8	28

Course:	BIOL - 1730 001 - Biology for Science Majors I Laboratory	Department:	LIFESCI
Responsible Faculty:	Sarvjeet Singh	Responses / Expected:	2 / 9 (22.22%)

					Sa	rvjeet	t Sir	ngh			8	Survey Co	nparisor	ıs
Cour	se Evaluation Questions		R	espon	ses (%)			Indi	ividual			LIFE	SCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.2	4.3	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	117	4.3	4.4	17
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.2	4.3	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.1	4.2	8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.4	4.5	39
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	117	4.2	4.4	11
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.3	4.4	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	28
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	117	4.3	4.4	33
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.2	4.2	11
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.1	4.3	8

					В	IOL -	1730	- 001				- Survey Cor	nparisons	
Labs and Online Learning Questions			Re	espo	nses (%)			C	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integr	ated into the course structure.	0	0	0	2 100%	0	2	4.0	4.0	4	383	4.4	4.7	14
Q16 The course topics are organized	l in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	555	4.6	4.8	7

Course:	BIOL - 2301 030 - Human Anatomy and Physiology I	Department:	LIFESCI
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	2 / 18 (11.11%)

					A	ubrey	Frai	ntz			8	Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	espor	ıses (%)			Indi	ividual			LIFE	SCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.2	4.3	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	117	4.3	4.4	17
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.2	4.3	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.1	4.2	31
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.4	4.5	39
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	117	4.2	4.4	11
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.3	4.4	6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	117	4.3	4.4	11
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.2	4.2	11
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.1	4.3	31

					ı	BIOL - 2	301	- 030				- Survey Co	mparisons	
Labs	s and Online Learning Questions		R	espo	onses (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	555	4.6	4.8	7

Course:	BIOL - 2311 001 - Human Anatomy and Physiology I Laboratory	Department:	LIFESCI
Responsible Faculty:	Jessica Guerrero	Responses / Expected:	2 / 18 (11.11%)

						sica (Guei				8	Survey Co	•	ns
Cour	se Evaluation Questions		R	espor	ises (%)	1		Indi	vidual			LIFE		
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.2	4.3	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	117	4.3	4.4	17
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.2	4.3	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.1	4.2	31
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.4	4.5	3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	22
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	117	4.2	4.4	11
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.3	4.4	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	118	4.3	4.4	6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	117	4.3	4.4	11
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0	4.0	4	118	4.2	4.2	36
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	118	4.1	4.3	64

					ı	BIOL - 2	311	- 001				- Survey Co	nparisons	
Labs	s and Online Learning Questions		R	espo	onses (%)			Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	555	4.6	4.8	7

Course: BIOL - 3311 030 - Pest Management	Department:	LIFESCI
Responsible Faculty: Jerrod Tynes	Responses / Expected:	4 / 7 (57.14%)

_						Jerro	d Ty				\$	Survey Co	•	ıs
Cour	se Evaluation Questions		Res	poi	nses (%)		Indi	ividual			LIFE	SCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.2	4.3	81
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.3	4.4	81
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	117	4.3	4.4	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.3	4.4	81
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.2	4.3	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.1	4.2	81
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.4	4.5	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.3	4.4	75
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	117	4.2	4.4	81
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.3	4.4	81
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.3	4.4	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	117	4.3	4.4	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.2	4.2	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	118	4.1	4.3	81

						BIOL - 33	11 - (030				- Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%))		C	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	383	4.4	4.7	54
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	555	4.6	4.8	56

Course: BIOL - 3312 001 - Animal Nutrition	Department:	LIFESCI
Responsible Faculty: Saima Khursheed	Responses / Expected:	16 / 17 (94.12%)

					Saima	Khursh	eed				S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		Re	sponse	es (%)			Indi	vidual			LIFE	SCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 12.5%	6 37.5%	8 50%	16	4.4	4.5	4.5	118	4.2	4.3	64
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	11 68.8%	5 31.3%	16	4.3	4.2	4	118	4.3	4.4	36
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	10 62.5%	6 37.5%	16	4.4	4.3	4	117	4.3	4.4	47
Q4	My instructor provides material that helps me do well on assignments.	0	1 6.3%	0	7 43.8%	8 50%	16	4.4	4.5	4.5	118	4.3	4.4	61
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 18.8%	10 62.5%	3 18.8%	16	4.0	4.0	4	118	4.2	4.3	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.3%	0	2 12.5%	10 62.5%	3 18.8%	16	3.9	4.0	4	118	4.1	4.2	31
Q7	My instructor establishes a climate of respect for students.	0	0	1 6.3%	9 56.3%	6 37.5%	16	4.3	4.3	4	118	4.4	4.5	25
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	9 56.3%	7 43.8%	16	4.4	4.4	4	118	4.3	4.4	53
Q9	My instructor encourages me to do my best work.	0	0	4 25%	8 50%	4 25%	16	4.0	4.0	4	117	4.2	4.4	31
Q10	My instructor provides timely feedback to guide my progress.	0	0	4 25%	6 37.5%	6 37.5%	16	4.1	4.2	4	118	4.3	4.4	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 12.5%	7 43.8%	7 43.8%	16	4.3	4.4	4	118	4.3	4.4	58
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 6.3%	2 12.5%	8 50%	5 31.3%	16	4.1	4.1	4	117	4.3	4.4	42
Q13	My instructor encourages me to develop new viewpoints.	0	1 6.3%	0	12 75%	3 18.8%	16	4.1	4.1	4	118	4.2	4.2	47
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 12.5%	8 50%	6 37.5%	16	4.3	4.3	4	118	4.1	4.3	47

					BI	OL - 3312	- 001					- Survey Cor	nparisons	
Labs	and Online Learning Questions			Respor	nses (%)			Co	urse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 14.3%	5 71.4%	1 14.3%	7	4.0	4.0	4	383	4.4	4.7	14
Q16	The course topics are organized in a coherent fashion.	0	0	0	7 58.3%	5 41.7%	12	4.4	4.4	4	555	4.6	4.8	20

Course: BIOL - 3451 001 - Genetics	Department:	LIFESCI
Responsible Faculty: Mohammadmehdi Eslamieh	Responses / Expected:	7 / 26 (26.92%)

				Мо	ohamm	admehd	li Es	slamieh			s	urvey Coi	npariso	ns
Cou	se Evaluation Questions			Respons	ses (%)			Indi	vidual			LIFE	SCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	118	4.2	4.3	69
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0 ;	2 28.6%	5 71.4%	7	4.7	4.8	5	118	4.3	4.4	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	117	4.3	4.4	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	118	4.3	4.4	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	118	4.2	4.3	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1	4.3	4	118	4.1	4.2	50
Q7	My instructor establishes a climate of respect for students.	0	0	0 ,	1 14.3%	6 85.7%	7	4.9	4.9	5	118	4.4	4.5	81
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0 ,	1 14.3%	6 85.7%	7	4.9	4.9	5	118	4.3	4.4	81
Q9	My instructor encourages me to do my best work.	0	0	0 ;	2 28.6%	5 71.4%	7	4.7	4.8	5	117	4.2	4.4	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	118	4.3	4.4	64
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	118	4.3	4.4	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0 ,	1 14.3%	6 85.7%	7	4.9	4.9	5	117	4.3	4.4	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	118	4.2	4.2	69
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	118	4.1	4.3	75

					В	IOL - 345	1 - 0	01				- Survey Cor	mparisons	
Labs and Online Learning Questions			Respor	ıses	(%)			Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the cou	rse structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	383	4.4	4.7	54
Q16 The course topics are organized in a coherent fa	shion.	0	1 20%	0	0	4 80%	5	4.4	4.9	5	555	4.6	4.8	65

Course: CDFS - 413	33 040 - Adolescent Development	Department:	EDUCATION
Responsible Faculty: Nedra Was	shington	Responses / Expected:	5 / 11 (45.45%)

Cour	se Evaluation Questions		Dac	enone	Ne ses (%		ashi	ington	ividual			Survey Co	ompariso ATION	ns
			D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	16	4.8	4.9	38
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	16	4.8	4.9	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	16	4.9	4.9	38
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	16	4.9	4.9	38
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	16	4.8	4.9	38

						CDFS - 4	133	- 040				Survey Co	nparisons	
Labs an	nd Online Learning Questions		R	espo	nses (%	5)		Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 Th	he section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	383	4.4	4.7	85
Q16 Th	he course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	555	4.6	4.8	56

Course:	CDFS - 4333 040 - Family Resource Management	Department:	EDUCATION
Responsible Faculty:	Janice Moore	Responses / Expected:	5 / 10 (50%)

					Jani	ce N	/loore				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	por	ses (%)		Ind	ividual			EDUC	ATION	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.9	4.9	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.9	4.9	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75

						CDFS -	433	3 - 040				Survey Con	nparisons	
Labs	s and Online Learning Questions		Res	por	ises	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	555	4.6	4.8	89

Course:	CDFS - 4350 040 - Child Development Seminar: Current Trends and Issues	Department:	EDUCATION
Responsible Faculty:	Nedra Washington	Responses / Expected:	1 / 8 (12.50%)

					Nec	lra W	ash	nington				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Resp	oon	nses (%))		Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.9	4.9	13
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.9	4.9	13
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	16	4.8	4.9	13

				С	DFS -	4350	0 - 040				- Survey Cor	nparisons	
Labs and Online Learning Questions		Re	espo	nses (%)			C	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	383	4.4	4.7	-
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	4.0	4	555	4.6	4.8	7

Course:	CDFS - 4413 040 - Family Life Education	Department:	EDUCATION
Responsible Faculty:	Janice Moore	Responses / Expected:	5 / 12 (41.67%)

Cour	se Evaluation Questions		.			ce N	/loore	ividual			Survey Co	mpariso	ns
Cour	ac Evaluation Questions	SD	Т	N	A SA	N	1	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.9	4.9	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.9	4.9	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 5 100%	5	5.0	5.0	5	16	4.8	4.9	75

						CDFS -	441	3 - 040				Survey Con	nparisons	
Labs	and Online Learning Questions		Res	spor	ises	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	555	4.6	4.8	89

Course:	CHEM - 1360 030 - Context of Chemistry	Department:	LIFESCI
Responsible Faculty:	Scott Grimes	Responses / Expected:	3 / 5 (60%)

0	se Evaluation Questions			_		ott Grin	nes				5	urvey Co	•	ns
Cour	se Evaluation Questions			Respon	ses (%)			Indi	vidual			LIFE		
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.2	4.3	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	118	4.3	4.4	42
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	117	4.3	4.4	39
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	118	4.3	4.4	39
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	118	4.2	4.3	42
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	118	4.1	4.2	72
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	118	4.4	4.5	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.3	4.4	22
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	117	4.2	4.4	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	118	4.3	4.4	72
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.3	4.4	28
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	117	4.3	4.4	33
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.2	4.2	36
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.1	4.3	31

						CHEM - 1	1360	- 030				- Survey Co	mparisons	
Labs	s and Online Learning Questions		R	Respo	onses (%	5)		Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	555	4.6	4.8	89

Course:	CHEM - 1360 330 - Context of Chemistry	Department:	LIFESCI
Responsible Faculty:	Scott Grimes	Responses / Expected:	3 / 5 (60%)

					Sc	ott Grin	nes	:			5	urvey Co	npariso	ns
Cou	se Evaluation Questions			Respor	nses (%)			Indi	vidual			LIFE	SCI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.2	4.3	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	118	4.3	4.4	64
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	117	4.3	4.4	39
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	118	4.3	4.4	39
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.2	4.3	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	118	4.1	4.2	72
Q 7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	118	4.4	4.5	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.3	4.4	22
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	117	4.2	4.4	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	118	4.3	4.4	72
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	118	4.3	4.4	44
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	117	4.3	4.4	69
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.2	4.2	36
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	118	4.1	4.3	31

					(CHEM - 13	60 -	330				- Survey Con	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	383	4.4	4.7	23
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	555	4.6	4.8	43

Course:	CHEM - 4670 030 - Introduction to Medicinal Chemistry	Department:	LIFESCI
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	6 / 14 (42.86%)

Cour	se Evaluation Questions				Muhamı ıses (%)	med You	ısu		vidual		S	urvey Cor	•	ns
- Coun		SD		N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	118	4.2	4.3	86
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	118	4.3	4.4	86
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	117	4.3	4.4	92
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	6 100%	6	5.0	5.0	5	118	4.3	4.4	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	118	4.2	4.3	86
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	118	4.1	4.2	86
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0	5.0	5	118	4.4	4.5	92
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0	5.0	5	118	4.3	4.4	92
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0	5.0	5	117	4.2	4.4	92
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	118	4.3	4.4	86
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	5.0	5	118	4.3	4.4	92
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	117	4.3	4.4	92
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0	5.0	5	118	4.2	4.2	92
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	118	4.1	4.3	92

						CHEM	- 467	70 - 030				Survey Con	nparisons	
Labs	s and Online Learning Questions		Res	por	ises	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	555	4.6	4.8	89

Course:	CJUS - 2100 030 - Crime and Justice in the United States	Department:	Criminal J
Responsible Faculty:	Nahid Siddique	Responses / Expected:	2 / 12 (16.67%)

					Nahi	Survey Comparisons							
Course Evaluation Questions			Res	por	ıses (%)		Ind	ividual		Criminal			
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.7	4.8	90
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.8	4.9	90
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.8	4.8	90
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.7	4.8	90
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.7	4.8	90
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.7	4.8	90
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.8	4.9	90
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.8	4.8	90
Q9	My instructor encourages me to do my best work.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.7	4.8	90
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.7	4.8	90
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.8	4.9	90
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.8	4.9	80
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.6	4.7	90
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	28	4.8	4.8	90

Labs and Online Learning Questions					CJUS -	210	Survey Comparisons							
		Res	pon	ses	(%)		Co	ourse		All				
		D	N	A	SA	N	Mean Grp Med. N Me		Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	383	4.4	4.7	-	
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	555	4.6	4.8	89	

Course:	CJUS - 2600 030 - Diversity Issues in Criminal Justice	Department:	Criminal J
Responsible Faculty:	John Coleman	Responses / Expected:	3 / 16 (18.75%)

					Jo	hn Coler	nar	1				Survey Co	mpariso	ns
Cour	se Evaluation Questions			Respor	ıses (%)			Indi	vidual			Crir	ninal	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.7	4.8	30
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.8	4.9	10
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.8	4.8	30
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.7	4.8	30
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.7	4.8	30
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	28	4.7	4.8	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.8	4.9	10
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.8	4.8	30
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.7	4.8	30
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	28	4.7	4.8	10
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	28	4.8	4.9	10
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	28	4.8	4.9	80
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.6	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	28	4.8	4.8	30

					(CJUS - 26	00 -	030				- Survey Con	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%))		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	555	4.6	4.8	43

Course:	CJUS - 3410 030 - Correctional Case Management	Department:	Criminal J
Responsible Faculty:	Michael Noyes	Responses / Expected:	11 / 30 (36.67%)

						Michael	Noy					Survey Co	ompariso	ns
Cou	se Evaluation Questions		F	esp	onses ('	%)		Indi	vidual			Cri	minal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	28	4.7	4.8	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.8	4.9	70
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.8	4.8	70
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	28	4.7	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	28	4.7	4.8	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.7	4.8	70
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.8	4.9	70
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.8	4.8	70
Q9	My instructor encourages me to do my best work.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	28	4.7	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.7	4.8	70
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.8	4.9	70
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.8	4.9	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	28	4.6	4.7	30
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	28	4.8	4.8	70

						CJUS - 34	10 - 0	030				- Survey Cor	mparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		Co	urse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	383	4.4	4.7	54
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	555	4.6	4.8	77

Course:	CJUS - 3700 030 - Ethical Issues in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Mark Stallo	Responses / Expected:	8 / 29 (27.59%)

Cour	se Evaluation Questions			Docnor	N nses (%)	lark Sta	llo	Indi	vidual			Survey Co	<i>mpariso</i> ninal	ns
- Coun		SD		N	A	SA	N		Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	28	4.7	4.8	10
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	28	4.8	4.9	40
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	28	4.8	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	28	4.7	4.8	10
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	28	4.7	4.8	10
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	28	4.7	4.8	30
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	28	4.8	4.9	40
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	28	4.8	4.8	50
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	28	4.7	4.8	70
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	28	4.7	4.8	40
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	28	4.8	4.9	40
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	28	4.8	4.9	20
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	28	4.6	4.7	70
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	28	4.8	4.8	10

					(CJUS - 37	00 -	030				- Survey Con	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%))		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	555	4.6	4.8	50

Course:	CJUS - 4870 001 - Topics in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Aaron Bartula	Responses / Expected:	4 / 10 (40%)

						Aaron	D	4				Survey Co		
Cour	se Evaluation Questions		Res	nor	nses (%		ваг		ividual				mpariso ninal	15
		SD	D	_	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.7	4.8	70
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.8	4.9	40
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	28	4.8	4.8	10
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.7	4.8	70
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.7	4.8	70
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	28	4.7	4.8	10
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.8	4.9	40
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	28	4.8	4.8	10
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	28	4.7	4.8	10
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.7	4.8	40
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.8	4.9	40
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.8	4.9	20
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	28	4.6	4.7	10
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	28	4.8	4.8	50

						CJUS - 4	870	- 001				- Survey Co	mparisons	
Labs	s and Online Learning Questions		R	espo	onses (%	5)		Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	555	4.6	4.8	56

Course: COMM - 3311 001 - New Media Storytelling	Department:	LangCom
Responsible Faculty: Richard Strong	Responses / Expected:	4 / 19 (21.05%)

				F	Richard	Str	ong				Survey Co	mpariso	ns
Cou	se Evaluation Questions	F	espon	ses (%	5)		Indi	vidual			Lan	gCom	
		SD E	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.3	4.6	81
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.4	4.6	81
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.6	4.8	56
Q4	My instructor provides material that helps me do well on assignments.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.5	4.7	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	46	4.2	4.6	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.4	4.7	63
Q7	My instructor establishes a climate of respect for students.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.5	4.7	38
Q8	My instructor is available to me on matters pertaining to the course.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.6	4.8	44
Q9	My instructor encourages me to do my best work.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.5	4.7	63
Q10	My instructor provides timely feedback to guide my progress.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.6	4.7	44
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.4	4.6	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.4	4.6	75
Q13	My instructor encourages me to develop new viewpoints.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.4	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.3	4.6	75

	COMM - 3						001			Survey Comparisons				
Labs and Online Learning Questions		Responses (%)		C	ourse			Al	All					
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35	
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	555	4.6	4.8	43	

Course: COMM - 3312 001 - New Media Literacies	Department:	LangCom
Responsible Faculty: Dr. Glenda Balas	Responses / Expected:	4 / 13 (30.77%)

				-	Glenda	Ва	las				Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	espon	ses (%)		Indi	ividual			Lang	gCom	
		SD D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	2 50%	1 25%	1 25%	4	3.8	3.5	3.5	47	4.3	4.6	6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.4	4.6	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.6	4.8	56
Q4	My instructor provides material that helps me do well on assignments.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.5	4.7	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	46	4.2	4.6	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.4	4.7	63
Q7	My instructor establishes a climate of respect for students.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.5	4.7	38
Q8	My instructor is available to me on matters pertaining to the course.	0 0	1 25%	2 50%	1 25%	4	4.0	4.0	4	47	4.6	4.8	6
Q9	My instructor encourages me to do my best work.	0 0	1 25%	0	3 75%	4	4.5	4.8	5	47	4.5	4.7	63
Q10	My instructor provides timely feedback to guide my progress.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.6	4.7	44
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.4	4.6	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	1 25%	2 50%	1 25%	4	4.0	4.0	4	47	4.4	4.6	13
Q13	My instructor encourages me to develop new viewpoints.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	47	4.4	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	1 25%	2 50%	1 25%	4	4.0	4.0	4	47	4.3	4.6	19

						сомм -	3312	2 - 001			Survey Comparisons				
Labs	s and Online Learning Questions		Responses (%)				Co	ourse			II				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	383	4.4	4.7	14	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	555	4.6	4.8	89	

Course:	COUN - 5610 040 - Addiction Counseling	Department:	SEHSD
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	4 / 15 (26.67%)

Carr	se Evaluation Questions		_			hillip O	rtiz					Survey Co	•	ns
Coul	se Evaluation Questions											SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	39	4.3	4.7	61
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	44
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	44
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.9	33
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	39	4.5	4.8	22
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	0	0	3 75%	4	4.3	4.8	5	39	4.4	4.8	44
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	39	4.7	4.9	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	39	4.5	4.9	83
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	39	4.6	4.9	28
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	39	4.3	4.8	44
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	38	4.5	4.8	39
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	56
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	38	4.4	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	33

					COUN -	- 561	Survey Comparisons									
Labs and Online Learning Questions	Re		Responses (%)						Co	ourse		All				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	383	4.4	4.7	-			
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	555	4.6	4.8	89			

Course:	COUN - 5610 041 - Addiction Counseling	Department:	SEHSD
Responsible Faculty:	Amy McCortney	Responses / Expected:	4 / 10 (40%)

					Amy	McCo	rtn	еу				Survey Co	ompariso	ns
Cou	se Evaluation Questions	Responses (%) Individual SD D N A SA N Mean Grp Med.										SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	39	4.3	4.7	6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	39	4.5	4.8	6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	39	4.5	4.8	6
Q4	My instructor provides material that helps me do well on assignments.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	39	4.5	4.9	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	39	4.5	4.8	22
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	39	4.4	4.8	6
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	39	4.7	4.9	6
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	39	4.5	4.9	6
Q9	My instructor encourages me to do my best work.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	39	4.6	4.9	11
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	39	4.3	4.8	6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	38	4.5	4.8	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	39	4.5	4.8	11
Q13	My instructor encourages me to develop new viewpoints.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	38	4.4	4.7	22
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	39	4.5	4.8	11

				COUN	Survey Comparisons								
Labs and Online Learning Questions		R	Responses	s (%)			C	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7	3.0	3	383	4.4	4.7	7
Q16 The course topics are organized in a coherent fashion.	1 25%	0	0	2 50%	1 25%	4	3.5	4.0	4	555	4.6	4.8	7

Course: DFST - 1013 020 - Human Development	Department:	SEHSD
Responsible Faculty: Alisha Brown	Responses / Expected:	6 / 13 (46.15%)

Cour	se Evaluation Ouestions		D-	ponses		Brown		1	vidual	1		Survey Comparisons SEHSD				
Cou	ac Evaluation (describes	SD	D	ponses N	(%)	SA	N	Mean	Grp	Med.	N	Mean	Grp	Pct		
		35				<u> </u>		wican	Med	IVICU.	- '	Wiedii	Med	Rnk		
Q1	My instructor explains difficult material clearly.	2 33.3%	0	0	1 16.7%	3 50%	6	3.5	4.5	4.5	39	4.3	4.7	33		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7	4.5	4.5	39	4.5	4.8	17		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	1 16.7%	0	0	4 66.7%	6	3.8	4.8	5	39	4.5	4.8	17		
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	1 16.7%	0	0	4 66.7%	6	3.8	4.8	5	39	4.5	4.9	17		
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	0	2 33.3%	0	3 50%	6	3.7	4.0	4	39	4.5	4.8	6		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 33.3%	0	0	1 16.7%	3 50%	6	3.5	4.5	4.5	39	4.4	4.8	17		
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	39	4.7	4.9	17		
Q8	My instructor is available to me on matters pertaining to the course.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	39	4.5	4.9	17		
Q9	My instructor encourages me to do my best work.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	39	4.6	4.9	11		
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7	4.5	4.5	39	4.3	4.8	17		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	38	4.5	4.8	17		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7	4.5	4.5	39	4.5	4.8	11		
Q13	My instructor encourages me to develop new viewpoints.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7	4.5	4.5	38	4.4	4.7	22		
Q14	My instructor made the subject interesting and motivated me to learn.	2 33.3%	0	0	1 16.7%	3 50%	6	3.5	4.5	4.5	39	4.5	4.8	11		

						DFST - 1	013	- 020				- Survey Cor	nparisons	
Labs	and Online Learning Questions		Res	ponses	(%)			C	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	383	4.4	4.7	14
Q16	The course topics are organized in a coherent fashion.	1 20%	0	1 20%	0	3 60%	5	3.8	4.7	5	555	4.6	4.8	37

Course:	DSCI - 2305 001 - Business Statistics I	Department:	BUSI
Responsible Faculty:	Daniel Friesen	Responses / Expected:	6 / 28 (21.43%)

					Daniel F	ries	sen			8	Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	esponse	s (%)		Indi	vidual			BU	SI	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.4	4.6	89
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	202	4.5	4.7	73
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.6	4.8	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	202	4.5	4.7	80
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.4	4.6	84
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.5	4.7	86
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.7	4.8	70
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.6	4.8	75
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	202	4.6	4.7	70
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	201	4.5	4.8	68
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.6	4.8	66
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.5	4.7	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	203	4.5	4.7	80
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	202	4.5	4.7	84

						DSCI - 23	05 -	001				- Survey Con	nparisons	
Labs	s and Online Learning Questions		- 1	Response	s (%)		С	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	383	4.4	4.7	62
Q16	The course topics are organized in a coherent fashion.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	555	4.6	4.8	69

Course: DSCI - 3305 001 - Business Statistics II	Department:	BUSI
Responsible Faculty: Daniel Friesen	Responses / Expected:	8 / 22 (36.36%)

0	se Evaluation Questions		_			Friesen	ı				s	urvey Cor	•	ns
Cour	se Evaluation Questions		Res	sponses	(%)			Indi	ividual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 12.5%	1 12.5%	1 12.5%	3 37.5%	2 25%	8	3.5	3.8	4	203	4.4	4.6	2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6	4.2	4	202	4.5	4.7	7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3	4.3	4	203	4.6	4.8	7
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	1 12.5%	3 37.5%	3 37.5%	8	3.9	4.2	4	202	4.5	4.7	2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 25%	1 12.5%	3 37.5%	2 25%	8	3.6	3.8	4	203	4.4	4.6	2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0	4.2	4	203	4.5	4.7	2
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	203	4.7	4.8	2
Q8	My instructor is available to me on matters pertaining to the course.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1	4.3	4	203	4.6	4.8	5
Q9	My instructor encourages me to do my best work.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9	3.8	4	202	4.6	4.7	7
Q10	My instructor provides timely feedback to guide my progress.	0	2 25%	0	2 25%	4 50%	8	4.0	4.5	4.5	201	4.5	4.8	30
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	203	4.6	4.8	2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9	3.8	4	203	4.5	4.7	2
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 50%	2 25%	2 25%	8	3.8	3.5	3.5	203	4.5	4.7	2
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	1 12.5%	0	3 37.5%	3 37.5%	8	3.8	4.2	4	202	4.5	4.7	20

					DS	CI - 3305 -	001					- Survey Cor	nparisons	
Labs	and Online Learning Questions			Respon	ıses (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	383	4.4	4.7	21
Q16	The course topics are organized in a coherent fashion.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	555	4.6	4.8	7

Course: DSCI - 3320 010 - Data Visualization I	Department:	BUSI
Responsible Faculty: Oluseyi Obitade	Responses / Expected:	15 / 17 (88.24%)

					Oluse	yi Obita	de				S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		Re	sponse	s (%)			Indi	vidual			BU	JSI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 6.7%	0	0	3 20%	11 73.3%	15	4.5	4.8	5	203	4.4	4.6	70
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 13.3%	13 86.7%	15	4.9	4.9	5	202	4.5	4.7	84
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 13.3%	13 86.7%	15	4.9	4.9	5	203	4.6	4.8	80
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 13.3%	13 86.7%	15	4.9	4.9	5	202	4.5	4.7	84
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	203	4.4	4.6	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 20%	12 80%	15	4.8	4.9	5	203	4.5	4.7	80
Q7	My instructor establishes a climate of respect for students.	0	0	2 13.3%	2 13.3%	11 73.3%	15	4.6	4.8	5	203	4.7	4.8	48
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	203	4.6	4.8	61
Q9	My instructor encourages me to do my best work.	0	0	1 6.7%	1 6.7%	13 86.7%	15	4.8	4.9	5	202	4.6	4.7	75
Q10	My instructor provides timely feedback to guide my progress.	0	1 6.7%	0	3 20%	11 73.3%	15	4.6	4.8	5	201	4.5	4.8	57
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 13.3%	3 20%	10 66.7%	15	4.5	4.8	5	203	4.6	4.8	45
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 20%	12 80%	15	4.8	4.9	5	203	4.5	4.7	68
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 6.7%	3 20%	11 73.3%	15	4.7	4.8	5	203	4.5	4.7	66
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	202	4.5	4.7	57

						DSCI - 33	20 - 0	10				- Survey Co	mparisons	
Labs	s and Online Learning Questions			Res	ponses (%	.)		Co	urse			Α	II	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 30%	7 70%	10	4.7	4.8	5	383	4.4	4.7	58
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 15.4%	11 84.6%	13	4.8	4.9	5	555	4.6	4.8	71

Course: ECON - 1100 010 - Principles of Microeco	nomics Department:	BUSI
Responsible Faculty: Danielle Zanzalari	Responses / Expected:	17 / 26 (65.38%)

					Danielle	e Zanza	lari				s	urvey Co	mpariso	ns
Cour	se Evaluation Questions		Re	sponse	s (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	3 17.6%	0	9 52.9%	5 29.4%	17	3.9	4.1	4	203	4.4	4.6	7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	11 64.7%	6 35.3%	17	4.4	4.3	4	202	4.5	4.7	11
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 11.8%	9 52.9%	6 35.3%	17	4.2	4.2	4	203	4.6	4.8	2
Q4	My instructor provides material that helps me do well on assignments.	0	1 5.9%	1 5.9%	9 52.9%	6 35.3%	17	4.2	4.2	4	202	4.5	4.7	7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5.9%	10 58.8%	6 35.3%	17	4.3	4.3	4	203	4.4	4.6	11
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 11.8%	9 52.9%	6 35.3%	17	4.2	4.2	4	203	4.5	4.7	7
Q7	My instructor establishes a climate of respect for students.	0	0	1 5.9%	8 47.1%	8 47.1%	17	4.4	4.4	4	203	4.7	4.8	7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	10 58.8%	7 41.2%	17	4.4	4.4	4	203	4.6	4.8	11
Q9	My instructor encourages me to do my best work.	0	0	1 5.9%	10 58.8%	6 35.3%	17	4.3	4.3	4	202	4.6	4.7	18
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	9 56.3%	7 43.8%	16	4.4	4.4	4	201	4.5	4.8	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	10 58.8%	7 41.2%	17	4.4	4.4	4	203	4.6	4.8	11
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5.9%	9 52.9%	7 41.2%	17	4.4	4.3	4	203	4.5	4.7	23
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 11.8%	9 52.9%	6 35.3%	17	4.2	4.2	4	203	4.5	4.7	11
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.9%	0	3 17.6%	9 52.9%	4 23.5%	17	3.9	4.0	4	202	4.5	4.7	11

					E	CON - 110	0 - 01	10				- Survey Cor	nparisons	
Labs	and Online Learning Questions			Respons	ses (%)			Co	urse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 10%	5 50%	4 40%	10	4.3	4.3	4	383	4.4	4.7	25
Q16	The course topics are organized in a coherent fashion.	0	0	2 14.3%	7 50%	5 35.7%	14	4.2	4.2	4	555	4.6	4.8	14

Course: ECON - 4850 010 - International Trade	Department:	BUSI
Responsible Faculty: Danielle Zanzalari	Responses / Expected:	20 / 28 (71.43%)

Cour	se Evaluation Questions					nielle	Zan				;	Survey Co	•	ıs
Cour	se Evaluation Questions		Т	·	ses (%	ĺ		1	vidual Grp			BU	SI Grp	Pct
		SD	D	N	Α	SA	N	Mean	Med	Med.	N	Mean	Med	Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 5%	6 30%	13 65%	20	4.6	4.7	5	203	4.4	4.6	43
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 35%	13 65%	20	4.7	4.7	5	202	4.5	4.7	48
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 20%	16 80%	20	4.8	4.9	5	203	4.6	4.8	66
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	6 30%	14 70%	20	4.7	4.8	5	202	4.5	4.7	52
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5%	6 30%	13 65%	20	4.6	4.7	5	203	4.4	4.6	52
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 25%	15 75%	20	4.8	4.8	5	203	4.5	4.7	61
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 5%	19 95%	20	5.0	5.0	5	203	4.7	4.8	89
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 5%	2 10%	17 85%	20	4.8	4.9	5	203	4.6	4.8	80
Q9	My instructor encourages me to do my best work.	0	0	2 10%	2 10%	16 80%	20	4.7	4.9	5	202	4.6	4.7	64
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	201	4.5	4.8	82
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 5%	19 95%	20	5.0	5.0	5	203	4.6	4.8	84
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5%	2 10%	17 85%	20	4.8	4.9	5	203	4.5	4.7	80
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 5%	5 25%	14 70%	20	4.7	4.8	5	203	4.5	4.7	57
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 25%	15 75%	20	4.8	4.8	5	202	4.5	4.7	66

						ECON - 48	350 - 0	010				- Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		Co	urse			A	II	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	383	4.4	4.7	62
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 10.5%	17 89.5%	19	4.9	4.9	5	555	4.6	4.8	75

Course:	EDBE - 3470 021 - Foundations of Bilingual and English as Second Language Educ	Department:	SEHSTE
Responsible Faculty:	Patricia Sosa-Sanchez	Responses / Expected:	23 / 28 (82.14%)

				ı	Patricia	Sosa-Sa	anch	iez				Survey Co	mparisc	ons
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			SEH	HSTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 4.3%	0	0	10 43.5%	12 52.2%	23	4.4	4.5	5	62	4.6	4.8	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 4.3%	0	0	10 43.5%	12 52.2%	23	4.4	4.5	5	62	4.6	4.8	13
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 4.3%	0	0	7 30.4%	15 65.2%	23	4.5	4.7	5	62	4.7	4.9	13
Q4	My instructor provides material that helps me do well on assignments.	1 4.3%	0	0	11 47.8%	11 47.8%	23	4.3	4.5	4	62	4.6	4.8	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 4.3%	0	2 8.7%	8 34.8%	12 52.2%	23	4.3	4.5	5	62	4.5	4.8	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4.3%	1 4.3%	1 4.3%	8 34.8%	12 52.2%	23	4.3	4.5	5	62	4.5	4.8	13
Q7	My instructor establishes a climate of respect for students.	1 4.3%	0	1 4.3%	3 13%	18 78.3%	23	4.6	4.9	5	62	4.7	4.9	38
Q8	My instructor is available to me on matters pertaining to the course.	1 4.3%	1 4.3%	0	6 26.1%	15 65.2%	23	4.4	4.7	5	62	4.6	4.9	13
Q9	My instructor encourages me to do my best work.	1 4.3%	0	0	6 26.1%	16 69.6%	23	4.6	4.8	5	62	4.7	4.9	13
Q10	My instructor provides timely feedback to guide my progress.	2 8.7%	0	3 13%	6 26.1%	12 52.2%	23	4.1	4.5	5	62	4.5	4.8	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 4.3%	0	0	7 30.4%	15 65.2%	23	4.5	4.7	5	61	4.6	4.8	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 4.3%	0	1 4.3%	6 26.1%	15 65.2%	23	4.5	4.7	5	62	4.6	4.8	13
Q13	My instructor encourages me to develop new viewpoints.	1 4.3%	0	1 4.3%	7 30.4%	14 60.9%	23	4.4	4.7	5	61	4.6	4.8	13
Q14	My instructor made the subject interesting and motivated me to learn.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	4.9	5	62	4.7	4.9	50

				EDBE	- 3470 - 0	021					Survey Cor	nparisons	;
Labs and Online Learning Questions			Respons	es (%)			Co	urse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	2 11.1%	0	2 11.1%	3 16.7%	11 61.1%	18	4.2	4.7	5	383	4.4	4.7	50
Q16 The course topics are organized in a coherent fashion.	2 9.1%	0	0	3 13.6%	17 77.3%	22	4.5	4.9	5	555	4.6	4.8	61

Course:	EDRE - 4450 001 - Reading and Writing, Birth through Grade 6	Department:	SEHSTE
Responsible Faculty:	Alyssa McDowell	Responses / Expected:	23 / 29 (79.31%)

Cour	se Evaluation Questions		D		Al onses (%	yssa Mo	Dov		vidual			Survey Co	mpariso	ns
Cou	ac Transition Questions	SD	D	Ė	A A	SA	N		Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	4.9	5	62	4.6	4.8	63
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 4.3%	0	0	3 13%	19 82.6%	23	4.7	4.9	5	62	4.6	4.8	63
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 4.3%	0	0	1 4.3%	21 91.3%	23	4.8	5.0	5	62	4.7	4.9	88
Q4	My instructor provides material that helps me do well on assignments.	1 4.3%	0	0	2 8.7%	20 87%	23	4.7	4.9	5	62	4.6	4.8	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	4.9	5	62	4.5	4.8	63
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4.3%	0	0	3 13%	19 82.6%	23	4.7	4.9	5	62	4.5	4.8	63
Q7	My instructor establishes a climate of respect for students.	1 4.3%	0	0	3 13%	19 82.6%	23	4.7	4.9	5	62	4.7	4.9	63
Q8	My instructor is available to me on matters pertaining to the course.	1 4.3%	0	0	2 8.7%	20 87%	23	4.7	4.9	5	62	4.6	4.9	63
Q9	My instructor encourages me to do my best work.	1 4.3%	0	0	3 13%	19 82.6%	23	4.7	4.9	5	62	4.7	4.9	63
Q10	My instructor provides timely feedback to guide my progress.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	4.9	5	62	4.5	4.8	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	4.9	5	61	4.6	4.8	63
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	4.9	5	62	4.6	4.8	63
Q13	My instructor encourages me to develop new viewpoints.	1 4.3%	0	0	5 21.7%	17 73.9%	23	4.6	4.8	5	61	4.6	4.8	63
Q14	My instructor made the subject interesting and motivated me to learn.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	4.9	5	62	4.7	4.9	50

						EDRE - 44	50 - 0	01				- Survey Co	mparisons	
Labs	s and Online Learning Questions		Re	espo	nses (%))		Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 7.7%	0	0	1 7.7%	11 84.6%	13	4.6	4.9	5	383	4.4	4.7	69
Q16	The course topics are organized in a coherent fashion.	1 5%	0	0	4 20%	15 75%	20	4.6	4.8	5	555	4.6	4.8	56

Course:	EDRE - 4840 001 - Linguistically Diverse Learners	Department:	SEHSTE
Responsible Faculty:	Paula Mason	Responses / Expected:	7 / 29 (24.14%)

Cour	se Evaluation Questions	Paula Mason Responses (%) Individual Grp									Survey Co	ompariso HSTE	ns	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	62	4.6	4.8	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	62	4.6	4.8	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 28.6%	0	5 71.4%	7	4.4	4.8	5	62	4.7	4.9	38
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 28.6%	0	5 71.4%	7	4.4	4.8	5	62	4.6	4.8	38
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 28.6%	0	5 71.4%	7	4.4	4.8	5	62	4.5	4.8	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	62	4.5	4.8	38
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	62	4.7	4.9	13
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	62	4.6	4.9	38
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	62	4.7	4.9	38
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 28.6%	0	5 71.4%	7	4.4	4.8	5	62	4.5	4.8	38
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	61	4.6	4.8	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	0	5 71.4%	7	4.4	4.8	5	62	4.6	4.8	38
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	61	4.6	4.8	38
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 28.6%	0	5 71.4%	7	4.4	4.8	5	62	4.7	4.9	13

					E	ORE - 4840	- 00	01				- Survey Con	nparisons	
Labs	s and Online Learning Questions			Respons	ses (%)			C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	383	4.4	4.7	54
Q16	The course topics are organized in a coherent fashion.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	555	4.6	4.8	37

Course:	ENGL - 1323 030 - Computer Assisted College Writing II	Department:	LangCom
Responsible Faculty:	Robert Harris	Responses / Expected:	3 / 14 (21.43%)

Cour	se Evaluation Questions			Respon		bert Ha	rris		vidual			Survey Co	ompariso qCom	ns
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	47	4.3	4.6	31
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	47	4.4	4.6	19
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.6	4.8	31
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.5	4.7	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	46	4.2	4.6	56
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.4	4.7	31
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.5	4.7	56
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.6	4.8	88
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	47	4.5	4.7	6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	47	4.6	4.7	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	47	4.4	4.6	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	47	4.4	4.6	44
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.4	4.7	56
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.3	4.6	44

					E	NGL - 1	323	- 030				- Survey Co	mparisons	
Labs	s and Online Learning Questions		R	espo	onses (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	555	4.6	4.8	7

Course:	ENGL - 2220 030 - Survey of World Literatures from 1700 to the Present	Department:	LangCom
Responsible Faculty:	Robert Harris	Responses / Expected:	8 / 18 (44.44%)

					Robe	ert Harri	s					Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			Lang	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	4.7	5	47	4.3	4.6	69
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	47	4.4	4.6	69
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	47	4.6	4.8	56
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	47	4.5	4.7	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 28.6%	0	0	5 71.4%	7	4.1	4.8	5	46	4.2	4.6	69
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	0	0	7 87.5%	8	4.6	4.9	5	47	4.4	4.7	81
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	47	4.5	4.7	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	47	4.6	4.8	69
Q9	My instructor encourages me to do my best work.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4	4.7	5	47	4.5	4.7	44
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	47	4.6	4.7	81
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	47	4.4	4.6	69
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	47	4.4	4.6	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	47	4.4	4.7	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	0	1 12.5%	6 75%	8	4.5	4.8	5	47	4.3	4.6	75

						ENGL -	222	0 - 030			-	- Survey Con	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	5.0	5	555	4.6	4.8	89

Course: FINA - 3770 010 - Finance	Department:	BUSI
Responsible Faculty: John Rowland	Responses / Expected:	6 / 16 (37.50%)

Cour	se Evaluation Ouestions			Daanan	Jo nses (%)	hn Rowl	and		vidual		8	urvey Cor	•	ns
Coul	a Francisco	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	203	4.4	4.6	16
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	202	4.5	4.7	23
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	203	4.6	4.8	11
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	202	4.5	4.7	11
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	203	4.4	4.6	11
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	203	4.5	4.7	16
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	203	4.7	4.8	11
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	203	4.6	4.8	5
Q9	My instructor encourages me to do my best work.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	202	4.6	4.7	18
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	201	4.5	4.8	11
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	203	4.6	4.8	23
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	203	4.5	4.7	14
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	203	4.5	4.7	18
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	202	4.5	4.7	25

						FINA - 37	70 - (010				- Survey Con	nparisons	
Labs	and Online Learning Questions			Res	ponses (%))		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	555	4.6	4.8	43

Course: FINA - 3770 011 - Finance	Department:	BUSI
Responsible Faculty: John Rowland	Responses / Expected:	9 / 29 (31.03%)

					Jo	hn Rowl	anc	i			8	urvey Co	npariso	ns
Cou	se Evaluation Questions			Respon	ses (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	203	4.4	4.6	80
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 22.2%	0	7 77.8%	9	4.6	4.9	5	202	4.5	4.7	66
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	203	4.6	4.8	57
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4	4.7	5	202	4.5	4.7	36
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	203	4.4	4.6	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	203	4.5	4.7	73
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	203	4.7	4.8	82
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	203	4.6	4.8	86
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	202	4.6	4.7	82
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	201	4.5	4.8	61
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	203	4.6	4.8	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	203	4.5	4.7	45
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	203	4.5	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	202	4.5	4.7	43

		FINA - 3770 - 011								Survey Comparisons							
Labs and Online Learning Questions		Responses (%)					C	ourse		II							
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk				
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	383	4.4	4.7	67				
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	555	4.6	4.8	56				

Course:	FINA - 4320 5W1 - Financial Statement Analysis & Financing Decisions	Department:	BUSI
Responsible Faculty:	Ajamu Loving	Responses / Expected:	4 / 18 (22.22%)

					Ajar	nu L	oving			\$	Survey Co	mparison	ıs
Cou	se Evaluation Questions		Resp	oon	ses (%)		Indi	ividual			BU	ISI	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.4	4.6	95
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 4 100%	4	5.0	5.0	5	202	4.5	4.7	95
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.6	4.8	95
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 4 100%	4	5.0	5.0	5	202	4.5	4.7	95
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.4	4.6	95
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.5	4.7	95
Q 7	My instructor establishes a climate of respect for students.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.7	4.8	95
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.6	4.8	95
Q9	My instructor encourages me to do my best work.	0	0	0	0 4 100%	4	5.0	5.0	5	202	4.6	4.7	93
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 4 100%	4	5.0	5.0	5	201	4.5	4.8	93
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.6	4.8	93
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.5	4.7	93
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 4 100%	4	5.0	5.0	5	203	4.5	4.7	95
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 4 100%	4	5.0	5.0	5	202	4.5	4.7	95

					ı	FINA - 432	20 - 5	5W1				- Survey Cor	nparisons	
Labs	and Online Learning Questions			Res	onses (%))		С	ourse			Al	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	555	4.6	4.8	43

Course: GEOG - 1710 031 - Earth Science	Department:	LIFESCI
Responsible Faculty: Donna Hamilton	Responses / Expected:	8 / 24 (33.33%)

Cour	se Evaluation Questions			Respons		a Hamil	ton		vidual		5	urvey Co	•	ns
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	4 50%	3 37.5%	1 12.5%	8	3.6	3.5	3.5	118	4.2	4.3	3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9	3.8	4	118	4.3	4.4	8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 25%	4 50%	2 25%	8	4.0	4.0	4	117	4.3	4.4	17
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9	3.8	4	118	4.3	4.4	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 37.5%	4 50%	1 12.5%	8	3.8	3.8	4	118	4.2	4.3	8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	4 50%	3 37.5%	1 12.5%	8	3.6	3.5	3.5	118	4.1	4.2	8
Q7	My instructor establishes a climate of respect for students.	0	0	2 25%	5 62.5%	1 12.5%	8	3.9	3.9	4	118	4.4	4.5	8
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	0	3 37.5%	3 37.5%	1 12.5%	8	3.4	3.5	3.5	118	4.3	4.4	3
Q9	My instructor encourages me to do my best work.	0	0	2 25%	5 62.5%	1 12.5%	8	3.9	3.9	4	117	4.2	4.4	25
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 37.5%	4 50%	1 12.5%	8	3.8	3.8	4	118	4.3	4.4	3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 25%	5 62.5%	1 12.5%	8	3.9	3.9	4	118	4.3	4.4	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	4 50%	3 37.5%	1 12.5%	8	3.6	3.5	3.5	117	4.3	4.4	11
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 50%	3 37.5%	1 12.5%	8	3.6	3.5	3.5	118	4.2	4.2	11
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	4 50%	3 37.5%	1 12.5%	8	3.6	3.5	3.5	118	4.1	4.3	8

					GEO	G - 1710	- 03	1				- Survey Cor	nparisons	
Labs	and Online Learning Questions			Respon	ises (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1	4.1	4	383	4.4	4.7	20
Q16	The course topics are organized in a coherent fashion.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0	4.0	4	555	4.6	4.8	7

Course: GEOG - 1710 331 - Earth Science	Department:	LIFESCI
Responsible Faculty: Donna Hamilton	Responses / Expected:	8 / 24 (33.33%)

Cour	se Evaluation Questions		_			Hamilt	on				S	urvey Co	•	ns
Coul	se Evaluation Questions		R	espons	es (%)			Indi	ividual			LIFE		Pct
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Rnk
Q1	My instructor explains difficult material clearly.	0	0	3 37.5%	4 50%	1 12.5%	8	3.8	3.8	4	118	4.2	4.3	8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	4 50%	3 37.5%	1 12.5%	8	3.6	3.5	3.5	118	4.3	4.4	3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1	4.1	4	117	4.3	4.4	31
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9	3.8	4	118	4.3	4.4	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 12.5%	3 37.5%	2 25%	2 25%	8	3.6	3.5	3.5	118	4.2	4.3	3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	2 25%	3 37.5%	2 25%	8	3.8	3.8	4	118	4.1	4.2	19
Q7	My instructor establishes a climate of respect for students.	0	0	2 25%	4 50%	2 25%	8	4.0	4.0	4	118	4.4	4.5	14
Q8	My instructor is available to me on matters pertaining to the course.	0	1 12.5%	2 25%	2 25%	3 37.5%	8	3.9	4.0	4	118	4.3	4.4	22
Q9	My instructor encourages me to do my best work.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	117	4.2	4.4	39
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	2 25%	3 37.5%	2 25%	8	3.8	3.8	4	118	4.3	4.4	8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 25%	5 62.5%	1 12.5%	8	3.9	3.9	4	118	4.3	4.4	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 37.5%	4 50%	1 12.5%	8	3.8	3.8	4	117	4.3	4.4	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9	3.8	4	118	4.2	4.2	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	2 25%	4 50%	1 12.5%	8	3.6	3.8	4	118	4.1	4.3	19

					GEO	OG - 1710	- 33	1				- Survey Cor	nparisons	
Labs	and Online Learning Questions			Respon	ıses (%)			C	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	4 50%	3 37.5%	1 12.5%	8	3.6	3.5	3.5	383	4.4	4.7	8
Q16	The course topics are organized in a coherent fashion.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1	4.1	4	555	4.6	4.8	13

Course: HSML - 3850 040 - Behavioral Addictions	Department:	SEHSD
Responsible Faculty: Shelia Lumar	Responses / Expected:	4 / 13 (30.77%)

					Shelia	Lur	mar				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Respo	onses ((%)		Indi	ividual			SE	HSD	
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	2 50%	2 50%	4	4.5	4.5	4.5	39	4.3	4.7	33
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	44
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	44
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.9	33
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	39
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.4	4.8	44
Q7	My instructor establishes a climate of respect for students.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.7	4.9	28
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.9	28
Q9	My instructor encourages me to do my best work.	0	0 0	0	4 100%	4	5.0	5.0	5	39	4.6	4.9	83
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.3	4.8	44
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	0	4 100%	4	5.0	5.0	5	38	4.5	4.8	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	56
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	38	4.4	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	39	4.5	4.8	33

						HSML -	385	0 - 040				Survey Cor	nparisons	
Labs	and Online Learning Questions		Re	espoi	nses (%)		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	555	4.6	4.8	56

Course:HSML - 4301 040 - Theories of Peer Recovery and AdvocacyDepartment:SEHSDResponsible Faculty:Shelia LumarResponses / Expected:6 / 7 (85.71%)

Cour	se Evaluation Questions	Shelia Lumar Responses (%) Individual										Survey Comparisons SEHSD				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	39	4.3	4.7	72		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.5	4.8	61		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.5	4.8	72		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.5	4.9	50		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.5	4.8	61		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.4	4.8	72		
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.7	4.9	50		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.5	4.9	50		
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.6	4.9	50		
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	39	4.3	4.8	72		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	38	4.5	4.8	50		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.5	4.8	72		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	38	4.4	4.7	72		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	39	4.5	4.8	61		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					HS	SML - 430	1 - 0	40				- Survey Con	nparisons	
Labs	s and Online Learning Questions			Respons	ses (%)			C	ourse			Al	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	383	4.4	4.7	62
Q16	The course topics are organized in a coherent fashion.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	555	4.6	4.8	69

Course:	HSML - 4400 040 - Leadership in the Nonprofit Sector	Department:	SEHSD
Responsible Faculty:	Joy Patton	Responses / Expected:	5 / 11 (45.45%)

					Joy I	Patt	on				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Resp	onses	(%)		Indi	vidual			SE	HSD	
		SD	D N	А	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	2 40%	3 60%	5	4.6	4.7	5	39	4.3	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	0	5 100%	5	5.0	5.0	5	39	4.5	4.8	83
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	39	4.5	4.8	61
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	0	5 100%	5	5.0	5.0	5	39	4.5	4.9	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	39	4.5	4.8	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	39	4.4	4.8	61
Q7	My instructor establishes a climate of respect for students.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	39	4.7	4.9	39
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	39	4.5	4.9	39
Q9	My instructor encourages me to do my best work.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	39	4.6	4.9	39
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	39	4.3	4.8	61
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	2 50%	2 50%	4	4.5	4.5	4.5	38	4.5	4.8	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	2 40%	3 60%	5	4.6	4.7	5	39	4.5	4.8	28
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	38	4.4	4.7	61
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	1 20%	4 80%	5	4.8	4.9	5	39	4.5	4.8	50

						HSML - 4	1400	- 040				- Survey Co	nparisons	
Labs	s and Online Learning Questions		R	espo	onses (%	5)		Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	555	4.6	4.8	37

Course:	HSML - 4525 040 - Problems of Youth: Prevention and Intervention	Department:	SEHSD
Responsible Faculty:	Amanda Coleman-Mason	Responses / Expected:	1 / 9 (11.11%)

					Amanda C	oler	nan-Mas	son			Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	por	nses (%)		Ind	ividual			SE	HSD	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.3	4.7	89
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.5	4.8	83
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.5	4.8	89
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.5	4.9	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.5	4.8	89
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.4	4.8	89
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.7	4.9	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.5	4.9	83
Q9	My instructor encourages me to do my best work.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.6	4.9	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.3	4.8	89
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 1 100%	1	5.0	5.0	5	38	4.5	4.8	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.5	4.8	89
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 1 100%	1	5.0	5.0	5	38	4.4	4.7	89
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 1 100%	1	5.0	5.0	5	39	4.5	4.8	89

						HSML -	- 452	25 - 040				Survey Con	nparisons	
Labs	and Online Learning Questions	Responses (%) Course					All							
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	383	4.4	4.7	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	555	4.6	4.8	89

Course:	LING - 2050 020 - The Language of Now : Pop Culture, Technology, and Society	Department:	SEHSTE
Responsible Faculty:	Marco Shappeck	Responses / Expected:	9 / 12 (75%)

				ı	Marco Sh	арр	eck				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	ponses ((%)		Indi	vidual			SEI	ISTE	
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.6	4.8	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.6	4.8	88
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.7	4.9	63
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.6	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.5	4.8	88
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.5	4.8	88
Q7	My instructor establishes a climate of respect for students.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.7	4.9	88
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.6	4.9	88
Q9	My instructor encourages me to do my best work.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.7	4.9	88
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.5	4.8	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	1 12.5%	7 87.5%	8	4.9	4.9	5	61	4.6	4.8	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.6	4.8	88
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	61	4.6	4.8	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	1 11.1%	8 88.9%	9	4.9	4.9	5	62	4.7	4.9	88

					LING -	205	0 - 020				Survey Con	nparisons	
Labs and Online Learning Questions		Res	pons	es (%)		Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	383	4.4	4.7	85
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	7 100%	7	5.0	5.0	5	555	4.6	4.8	89

Course:	LSCM - 3960 010 - Logistics and Supply Chain Management	Department:	BUSI
Responsible Faculty:	Jeffrey Wendt	Responses / Expected:	8 / 28 (28.57%)

Carr	se Evaluation Questions	Jeffrey Wendt Responses (%) Individual								S	urvey Co	•	ns	
Cou	se Evaluation Questions		R	esponse	es (%)			Indi				BU		
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1	4.5	4.5	203	4.4	4.6	32
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	202	4.5	4.7	23
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	203	4.6	4.8	84
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	202	4.5	4.7	64
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	203	4.4	4.6	48
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	203	4.5	4.7	61
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	203	4.7	4.8	57
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	203	4.6	4.8	36
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	202	4.6	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	201	4.5	4.8	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	203	4.6	4.8	70
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	203	4.5	4.7	61
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	203	4.5	4.7	84
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	202	4.5	4.7	66

					L	SCM - 39	60 -	010				- Survey Con	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%))		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	555	4.6	4.8	73

Course:	MATH - 1100 030 - Algebra	Department:	MATHIS
Responsible Faculty:	Noureen Khan	Responses / Expected:	2 / 12 (16.67%)

_														
					N	loureen	Kh	an				- Survey C	ompariso	ns
Cou	se Evaluation Questions		F	Respo	nses (%)		Indi	ividual			MA	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	2	4.0	4.0	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	2	3.5	3.5	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50

						MATH - 1	1100	- 030				Survey Co	nparisons	
Labs	and Online Learning Questions		R	espo	onses (%	6)		Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	555	4.6	4.8	28

Course:	MGMT - 3330 010 - Communicating in Business	Department:	BUSI
Responsible Faculty:	Shannon Strain	Responses / Expected:	8 / 30 (26.67%)

Cour	se Evaluation Questions		Do	ponses	Shanno	n Strair	1	Indi	ividual		S	urvey Coi BU	•	ns
Coui	se Evaluation Questions		Kes	sponses	(%)			inai		1		В	_	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 12.5%	2 25%	0	1 12.5%	4 50%	8	3.6	4.5	4.5	203	4.4	4.6	32
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 14.3%	2 28.6%	0	1 14.3%	3 42.9%	7	3.4	4.0	4	202	4.5	4.7	2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 25%	0	1 12.5%	5 62.5%	8	4.1	4.7	5	203	4.6	4.8	34
Q4	My instructor provides material that helps me do well on assignments.	0	2 25%	1 12.5%	0	5 62.5%	8	4.0	4.7	5	202	4.5	4.7	36
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	2 25%	0	1 12.5%	4 50%	8	3.6	4.5	4.5	203	4.4	4.6	30
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	1 12.5%	1 12.5%	0	5 62.5%	8	3.9	4.7	5	203	4.5	4.7	43
Q7	My instructor establishes a climate of respect for students.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4	4.7	5	203	4.7	4.8	30
Q8	My instructor is available to me on matters pertaining to the course.	0	0	3 37.5%	0	5 62.5%	8	4.3	4.7	5	203	4.6	4.8	36
Q9	My instructor encourages me to do my best work.	0	1 12.5%	3 37.5%	0	4 50%	8	3.9	4.0	4	202	4.6	4.7	11
Q10	My instructor provides timely feedback to guide my progress.	3 37.5%	0	0	3 37.5%	2 25%	8	3.1	3.8	4	201	4.5	4.8	7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	2 25%	1 12.5%	1 12.5%	4 50%	8	3.9	4.5	4.5	203	4.6	4.8	23
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	1 12.5%	1 12.5%	1 12.5%	4 50%	8	3.8	4.5	4.5	203	4.5	4.7	30
Q13	My instructor encourages me to develop new viewpoints.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1	4.5	4.5	203	4.5	4.7	27
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	2 25%	2 25%	1 12.5%	2 25%	8	3.1	3.0	3	202	4.5	4.7	5

					М	SMT - 333	0 - 0	10				- Survey Cor	nparisons	
Labs	s and Online Learning Questions			Resp	onses (%)			C	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	383	4.4	4.7	14
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	555	4.6	4.8	16

Course:	MGMT - 3330 011 - Communicating in Business	Department:	BUSI
Responsible Faculty:	Shannon Strain	Responses / Expected:	3 / 23 (13.04%)

					Shanno	n Strair	1				s	urvey Cor	npariso	ns
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	203	4.4	4.6	52
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	202	4.5	4.7	52
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	203	4.6	4.8	39
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	202	4.5	4.7	43
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	203	4.4	4.6	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	203	4.5	4.7	48
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	203	4.7	4.8	36
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	203	4.6	4.8	50
Q9	My instructor encourages me to do my best work.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	202	4.6	4.7	2
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	201	4.5	4.8	2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	203	4.6	4.8	45
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	203	4.5	4.7	45
Q13	My instructor encourages me to develop new viewpoints.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	203	4.5	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	202	4.5	4.7	5

						MGMT -	- 333		Survey Comparisons					
Labs and Online Learning Questions			Res	pons	ses (%)		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85
Q16	The course topics are organized in a coherent fashion.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	555	4.6	4.8	2

Course:	MGMT - 3830 010 - Operations Management	Department:	BUSI
Responsible Faculty:	Jeffrey Wendt	Responses / Expected:	12 / 35 (34.29%)

					Je	effrey W	end			8	urvey Co	npariso	ns	
Cour	se Evaluation Questions	Responses (%) Individual										BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	203	4.4	4.6	52
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	202	4.5	4.7	73
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	203	4.6	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 41.7%	7 58.3%	12	4.6	4.6	5	202	4.5	4.7	30
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	203	4.4	4.6	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	203	4.5	4.7	86
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	203	4.7	4.8	36
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	203	4.6	4.8	50
Q9	My instructor encourages me to do my best work.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	202	4.6	4.7	57
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	201	4.5	4.8	68
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	203	4.6	4.8	59
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 41.7%	7 58.3%	12	4.6	4.6	5	203	4.5	4.7	34
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	6 50%	6 50%	12	4.5	4.5	4.5	203	4.5	4.7	27
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6	4.8	5	202	4.5	4.7	43

					M	1GMT - 38	330 -	010			Survey Comparisons						
Labs	Labs and Online Learning Questions			Res	ponses (%))		C	ourse			Al	I				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	383	4.4	4.7	67			
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	555	4.6	4.8	75			

Course:	MGMT - 3850 011 - Foundations of Entrepreneurship	Department:	BUSI
Responsible Faculty:	Matthew Houston	Responses / Expected:	4 / 25 (16%)

					Ма	tthew H	ous				8	Survey Co	mpariso	ns
Cour	se Evaluation Questions	Responses (%) Individual SD D N A SA N Mean Grp Med.										BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	203	4.4	4.6	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	202	4.5	4.7	61
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	203	4.6	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	202	4.5	4.7	64
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	203	4.4	4.6	80
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	203	4.5	4.7	61
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	203	4.7	4.8	57
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	203	4.6	4.8	66
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	202	4.6	4.7	93
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0	5.0	5	201	4.5	4.8	93
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	203	4.6	4.8	93
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	203	4.5	4.7	93
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	203	4.5	4.7	73
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	202	4.5	4.7	43

						MGMT	- 38	50 - 011			Survey Comparisons					
Labs and Online Learning Questions			Res	spor	ises	(%)		Co	ourse			Al	I			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	383	4.4	4.7	85		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	555	4.6	4.8	89		

Course: MGMT - 4470 010 - Leadership	Department:	BUSI
Responsible Faculty: Matthew Houston	Responses / Expected:	5 / 31 (16.13%)

Cou	se Evaluation Questions		Res	ponse		new Ho	ous		vidual		Survey Comparisons BUSI				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	203	4.4	4.6	84	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 20%	1 20%	0	3 60%	5	4.0	4.7	5	202	4.5	4.7	43	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	203	4.6	4.8	66	
Q4	My instructor provides material that helps me do well on assignments.	0	1 20%	0	0	4 80%	5	4.4	4.9	5	202	4.5	4.7	73	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 20%	0	2 40%	2 40%	5	4.0	4.3	4	203	4.4	4.6	11	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	203	4.5	4.7	39	
Q7	My instructor establishes a climate of respect for students.	0	1 20%	0	0	4 80%	5	4.4	4.9	5	203	4.7	4.8	66	
Q8	My instructor is available to me on matters pertaining to the course.	1 20%	0	1 20%	0	3 60%	5	3.8	4.7	5	203	4.6	4.8	30	
Q9	My instructor encourages me to do my best work.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	202	4.6	4.7	43	
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	1 20%	0	3 60%	5	4.0	4.7	5	201	4.5	4.8	41	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	203	4.6	4.8	34	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 20%	0	0	4 80%	5	4.4	4.9	5	203	4.5	4.7	68	
Q13	My instructor encourages me to develop new viewpoints.	0	1 20%	0	1 20%	3 60%	5	4.2	4.7	5	203	4.5	4.7	43	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	202	4.5	4.7	77	

				М	3MT - 4	- 010		Survey Comparisons						
Labs and Online Learning Questions		F	Respons	es (%)			C	ourse			Al	11		
	SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	383	4.4	4.7	35	
Q16 The course topics are organized in a coherent fashion.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	555	4.6	4.8	37	

Course:	MGMT - 4800 002 - Internship	Department:	BUSI
Responsible Faculty:	Cathy Scott	Responses / Expected:	1 / 1 (100%)

					Cat	hy S	Scott			;	Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	por	ıses (%)		Ind	ividual			BU	JSI	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.4	4.6	95
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 1 100%	1	5.0	5.0	5	202	4.5	4.7	95
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.6	4.8	95
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 1 100%	1	5.0	5.0	5	202	4.5	4.7	95
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.4	4.6	95
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.5	4.7	95
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.7	4.8	95
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.6	4.8	95
Q9	My instructor encourages me to do my best work.	0	0	0	0 1 100%	1	5.0	5.0	5	202	4.6	4.7	93
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 1 100%	1	5.0	5.0	5	201	4.5	4.8	93
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.6	4.8	93
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.5	4.7	93
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 1 100%	1	5.0	5.0	5	203	4.5	4.7	95
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 1 100%	1	5.0	5.0	5	202	4.5	4.7	95

					MGMT	- 48	00 - 002				Survey Con	nparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	383	4.4	4.7	-
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	555	4.6	4.8	89

Course:	MKTG - 3650 010 - Foundations of Marketing Practice	Department:	BUSI
Responsible Faculty:	Gary Holmes	Responses / Expected:	7 / 30 (23.33%)

					Gary	Holme	s				S	urvey Coi	npariso	ns
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	203	4.4	4.6	66
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4	4.8	5	202	4.5	4.7	57
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	203	4.6	4.8	43
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	202	4.5	4.7	57
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4	4.8	5	203	4.4	4.6	70
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4	4.8	5	203	4.5	4.7	52
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	203	4.7	4.8	43
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	203	4.6	4.8	57
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	202	4.6	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	201	4.5	4.8	52
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	203	4.6	4.8	52
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	203	4.5	4.7	57
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	203	4.5	4.7	61
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4	4.8	5	202	4.5	4.7	52

					r	икт G - 36	50 -	010				- Survey Con	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	383	4.4	4.7	54
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	555	4.6	4.8	43

Course:	MKTG - 3650 011 - Foundations of Marketing Practice	Department:	BUSI
Responsible Faculty:	Gary Holmes	Responses / Expected:	7 / 28 (25%)

					Gary	Holme	s				S	urvey Co	mpariso	ns
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	203	4.4	4.6	39
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	202	4.5	4.7	36
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	203	4.6	4.8	27
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	202	4.5	4.7	16
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	203	4.4	4.6	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	203	4.5	4.7	11
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	203	4.7	4.8	23
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	203	4.6	4.8	23
Q9	My instructor encourages me to do my best work.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	202	4.6	4.7	25
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	201	4.5	4.8	16
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	203	4.6	4.8	7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	203	4.5	4.7	23
Q13	My instructor encourages me to develop new viewpoints.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	203	4.5	4.7	18
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	202	4.5	4.7	34

					N	икт G - 36	550 -	011				- Survey Con	nparisons	
Labs	and Online Learning Questions			Res	ponses (%))		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	383	4.4	4.7	48
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	555	4.6	4.8	50

Course: PACS - 4000 001 - Mediation	Department:	SEHSD
Responsible Faculty: Amanda Coleman-Mason	Responses / Expected:	7 / 11 (63.64%)

					nda Col	eman-N	lasc					Survey Co	•	ons
Cour	se Evaluation Questions		Res	sponses	(%)			Indi	vidual			SE	HSD	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	39	4.3	4.7	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	39	4.5	4.8	28
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	39	4.5	4.8	28
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.5	4.9	61
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.5	4.8	72
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	39	4.4	4.8	28
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.7	4.9	61
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.5	4.9	61
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.6	4.9	61
Q10	My instructor provides timely feedback to guide my progress.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	39	4.3	4.8	28
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	38	4.5	4.8	61
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	39	4.5	4.8	39
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	38	4.4	4.7	39
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.5	4.8	72

					ı	PACS - 40	00 -	001				- Survey Con	nparisons	
Labs	and Online Learning Questions			Res	ponses (%))		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	383	4.4	4.7	54
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	5.0	5	555	4.6	4.8	89

Course:	PBHL - 3310 030 - Principles of Human Nutrition	Department:	LIFESCI
Responsible Faculty:	William Garner	Responses / Expected:	1 / 8 (12.50%)

					Willia		Survey Comparisons						
Cou	se Evaluation Questions		Res	por	ıses (%)		Indi	ividual			LIFE	SCI	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.2	4.3	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.3	4.4	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 1 100%	1	5.0	5.0	5	117	4.3	4.4	92
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.3	4.4	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.2	4.3	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.1	4.2	94
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.4	4.5	92
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.3	4.4	92
Q9	My instructor encourages me to do my best work.	0	0	0	0 1 100%	1	5.0	5.0	5	117	4.2	4.4	92
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.3	4.4	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.3	4.4	92
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 1 100%	1	5.0	5.0	5	117	4.3	4.4	92
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.2	4.2	92
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 1 100%	1	5.0	5.0	5	118	4.1	4.3	92

Course: PLDR - 5354 030 - Public Private Partnerships	Department:	PUBLDR
Responsible Faculty: Jesseca Lightbourne	Responses / Expected:	6 / 8 (75%)

Jesseca Lightbourne								Survey Comparisons						
Cour	se Evaluation Questions		R	esponse	es (%)			Indi	ividual			PU	BLDR	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	6	4.2	4.2	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0	4.2	4	6	4.0	4.2	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	5 83.3%	0	6	3.8	3.9	4	6	3.8	3.9	50
Q4	My instructor provides material that helps me do well on assignments.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0	4.2	4	6	4.0	4.2	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	6	4.2	4.2	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	6	4.0	4.0	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	6	4.7	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	5	4.2	4.3	50
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	6	4.7	4.9	50
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8	4.0	4	6	3.8	4.0	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	6	4.7	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	6	4.7	4.9	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	6	4.5	4.8	50

	Labs and Online Learning Questions				F	PLDR - 5	Survey Comparisons							
Labs			R	Respo	onses (%)			Co	ourse		All			
		SD D N A SA N Mean Grp Med Med.		Mean Grp Med.		N	Mean Grp Med		Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	4.0	4	383	4.4	4.7	14
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	555	4.6	4.8	19

Course:	PSCI - 1040 030 - American Government: Laws and Institutions	Department:	SocSci
Responsible Faculty:	Curtis McDowell	Responses / Expected:	9 / 30 (30%)

						Survey Comparisons								
Cou	se Evaluation Questions		Re	sponses	(%)			Indi	vidual			So	cSci	
		SD	D	N	A	SA	N M	ean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 22.2%	0	1 11.1%	5 55.6%	1 11.1%	9 3	.3	3.8	4	9	3.3	3.8	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 77.8%	2 22.2%	9 4	.2	4.1	4	9	4.2	4.1	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	5 55.6%	3 33.3%	9 4	.2	4.2	4	9	4.2	4.2	50
Q4	My instructor provides material that helps me do well on assignments.	0	1 11.1%	0	5 55.6%	3 33.3%	9 4	.1	4.2	4	9	4.1	4.2	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	6 66.7%	2 22.2%	9 4	.1	4.1	4	9	4.1	4.1	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	0	4 44.4%	4 44.4%	9 4	.1	4.4	4	9	4.1	4.4	50
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	4 44.4%	4 44.4%	9 4	.3	4.4	4	9	4.3	4.4	50
Q8	My instructor is available to me on matters pertaining to the course.	1 11.1%	0	0	5 55.6%	3 33.3%	9 4	.0	4.2	4	9	4.0	4.2	50
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	4 44.4%	4 44.4%	9 4	.3	4.4	4	9	4.3	4.4	50
Q10	My instructor provides timely feedback to guide my progress.	1 11.1%	0	0	4 44.4%	4 44.4%	9 4	.1	4.4	4	9	4.1	4.4	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 44.4%	5 55.6%	9 4	.6	4.6	5	9	4.6	4.6	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	5 55.6%	3 33.3%	9 4	.2	4.2	4	9	4.2	4.2	50
Q13	My instructor encourages me to develop new viewpoints.	1 11.1%	0	1 11.1%	4 44.4%	3 33.3%	9 3	3.9	4.1	4	9	3.9	4.1	50
Q14	My instructor made the subject interesting and motivated me to learn.	1 11.1%	0	0	5 55.6%	3 33.3%	9 4	.0	4.2	4	9	4.0	4.2	50

						PSCI - 104		Survey Comparisons									
Labs	Labs and Online Learning Questions			Res	ponses (%))		C	ourse		All						
		SD	D	N	A	SA	N	N Mean Grp Med.		N Mean Grp Med.		N Mean Grp Med		N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	383	4.4	4.7	35			
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	555	4.6	4.8	22			

Course: PSYC - 3000 030 - Positive Psychology	Department:	SOCPSY
Responsible Faculty: Elizabeth Casa de Calvo	Responses / Expected:	12 / 30 (40%)

Cour	se Evaluation Ouestions		-		Elizabet	h Casa	de (vidual		S	urvey Cor	•	ns
Cour	or Evaluation (deconorio	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	116	4.4	4.7	34
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	116	4.5	4.8	41
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5	4.8	5	116	4.5	4.8	66
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4	4.8	5	117	4.4	4.8	47
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	116	4.4	4.7	47
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	115	4.3	4.7	66
Q7	My instructor establishes a climate of respect for students.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5	4.8	5	117	4.5	4.8	53
Q8	My instructor is available to me on matters pertaining to the course.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5	4.8	5	117	4.5	4.8	47
Q9	My instructor encourages me to do my best work.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5	4.8	5	117	4.5	4.8	59
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	0	1 8.3%	2 16.7%	8 66.7%	12	4.3	4.8	5	117	4.3	4.6	66
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	117	4.5	4.8	47
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	116	4.4	4.7	47
Q13	My instructor encourages me to develop new viewpoints.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	117	4.4	4.7	47
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5	4.8	5	117	4.5	4.8	56

	Labs and Online Learning Questions				PS	Survey Comparisons								
Labs			Re	espo	nses (%)			Co	urse			Al	I	
			D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3	4.8	5	383	4.4	4.7	59
Q16	The course topics are organized in a coherent fashion.	1 10%	0	0	2 20%	7 70%	10	4.4	4.8	5	555	4.6	4.8	48

Course: PSYC - 3200 030 - Research Methods	Department:	SOCPSY
Responsible Faculty: Priya lyer Eimerbrink	Responses / Expected:	10 / 28 (35.71%)

		Priya lye Responses (%)					ime	rbrink			8	Survey Cor	nparisor	15
Cou	se Evaluation Questions	R	esp	onse	s (%)			Indi	vidual			SOC	PSY	
		SD [)	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 10%)	0	4 40%	5 50%	10	4.2	4.5	4.5	116	4.4	4.7	22
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%		1 0%	3 30%	5 50%	10	4.1	4.5	4.5	116	4.5	4.8	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	ו	0	4 40%	5 50%	10	4.2	4.5	4.5	116	4.5	4.8	28
Q4	My instructor provides material that helps me do well on assignments.	1 10%	ו	0	4 40%	5 50%	10	4.2	4.5	4.5	117	4.4	4.8	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%		2 0%	3 30%	4 40%	10	3.9	4.2	4	116	4.4	4.7	9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	2	2 0%	3 30%	4 40%	10	3.9	4.2	4	115	4.3	4.7	19
Q7	My instructor establishes a climate of respect for students.	1 10%		2 0%	2 20%	5 50%	10	4.0	4.5	4.5	117	4.5	4.8	22
Q8	My instructor is available to me on matters pertaining to the course.	1 10%		2 0%	2 20%	5 50%	10	4.0	4.5	4.5	117	4.5	4.8	22
Q9	My instructor encourages me to do my best work.	1 10%		2 0%	2 20%	5 50%	10	4.0	4.5	4.5	117	4.5	4.8	22
Q10	My instructor provides timely feedback to guide my progress.	1 10%	4	4 0%	2 20%	3 30%	10	3.6	3.5	3.5	117	4.3	4.6	3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 10%		2 0%	2 20%	5 50%	10	4.0	4.5	4.5	117	4.5	4.8	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%		1 0%	3 30%	5 50%	10	4.1	4.5	4.5	116	4.4	4.7	28
Q13	My instructor encourages me to develop new viewpoints.	1 10%	1	1 0%	3 30%	5 50%	10	4.1	4.5	4.5	117	4.4	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	1	1 0%	3 30%	5 50%	10	4.1	4.5	4.5	117	4.5	4.8	28

	PSYC - 3200 - 030													Survey Comparisons					
Labs	s and Online Learning Questions		Responses (%) Course								All								
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7	4.0	4	383	4.4	4.7	14					
Q16	The course topics are organized in a coherent fashion.	1 12.5%	0	1 12.5%	2 25%	4 50%	8	4.0	4.5	4.5	555	4.6	4.8	28					

Course: PSYC - 3620 030 - Developmental Psychology	Department:	SOCPSY
Responsible Faculty: Priya lyer Eimerbrink	Responses / Expected:	8 / 22 (36.36%)

				ı	Priya Iye	er Eimer	brir	ık			S	urvey Co	mpariso	ns
Cou	se Evaluation Questions	Priya lyer Eimerbrink Responses (%) Individual										soc	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	116	4.4	4.7	84
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	0	7 87.5%	8	4.8	4.9	5	116	4.5	4.8	78
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	8 100%	8	5.0	5.0	5	116	4.5	4.8	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	8 100%	8	5.0	5.0	5	117	4.4	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	0	7 87.5%	8	4.8	4.9	5	116	4.4	4.7	84
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4	4.7	5	115	4.3	4.7	53
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	117	4.5	4.8	78
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	117	4.5	4.8	78
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	117	4.5	4.8	78
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4	4.7	5	117	4.3	4.6	59
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	117	4.5	4.8	53
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 12.5%	1 12.5%	0	6 75%	8	4.4	4.8	5	116	4.4	4.7	59
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	117	4.4	4.7	78
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	0	1 12.5%	6 75%	8	4.5	4.8	5	117	4.5	4.8	56

	PSYC - 3620 - 030												Survey Comparisons						
Labs	s and Online Learning Questions	Responses (%)						Co	ourse		All								
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	383	4.4	4.7	85					
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	5.0	5	555	4.6	4.8	89					

Course: PSYC - 3640 030 - Marital Adjustment	Department:	SOCPSY
Responsible Faculty: Jessica Cintron	Responses / Expected:	18 / 28 (64.29%)

		Jessica Cintron Responses (%) Individual									S	urvey Co	mpariso	ns
Cou	se Evaluation Questions		Re	sponse	es (%)			Indi	vidual			soc	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 5.6%	0	1 5.6%	4 22.2%	12 66.7%	18	4.4	4.8	5	116	4.4	4.7	59
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.6%	0	0	4 22.2%	13 72.2%	18	4.6	4.8	5	116	4.5	4.8	66
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 5.6%	0	0	4 22.2%	13 72.2%	18	4.6	4.8	5	116	4.5	4.8	59
Q4	My instructor provides material that helps me do well on assignments.	1 5.6%	1 5.6%	1 5.6%	2 11.1%	13 72.2%	18	4.4	4.8	5	117	4.4	4.8	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.6%	1 5.6%	1 5.6%	2 11.1%	13 72.2%	18	4.4	4.8	5	116	4.4	4.7	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5.6%	1 5.6%	1 5.6%	3 16.7%	12 66.7%	18	4.3	4.8	5	115	4.3	4.7	59
Q7	My instructor establishes a climate of respect for students.	1 5.6%	0	0	4 22.2%	13 72.2%	18	4.6	4.8	5	117	4.5	4.8	47
Q8	My instructor is available to me on matters pertaining to the course.	1 5.6%	0	0	2 11.1%	15 83.3%	18	4.7	4.9	5	117	4.5	4.8	66
Q9	My instructor encourages me to do my best work.	1 5.6%	0	2 11.1%	2 11.1%	13 72.2%	18	4.4	4.8	5	117	4.5	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	1 5.6%	0	1 5.6%	5 27.8%	11 61.1%	18	4.4	4.7	5	117	4.3	4.6	53
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5.6%	0	0	1 5.6%	16 88.9%	18	4.7	4.9	5	117	4.5	4.8	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5.6%	0	0	2 11.1%	15 83.3%	18	4.7	4.9	5	116	4.4	4.7	75
Q13	My instructor encourages me to develop new viewpoints.	1 5.6%	0	1 5.6%	4 22.2%	12 66.7%	18	4.4	4.8	5	117	4.4	4.7	66
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.6%	0	0	1 5.6%	16 88.9%	18	4.7	4.9	5	117	4.5	4.8	84

				PS	YC - 36	40 -	030				Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spor	nses (%)			Co	urse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	383	4.4	4.7	67
Q16 The course topics are organized in a coherent fashion.	1 6.7%	0	0	2 13.3%	12 80%	15	4.6	4.9	5	555	4.6	4.8	65

Course:	PSYC - 4040 030 - Advanced Seminar in Psychology (Capstone)	Department:	SOCPSY
Responsible Faculty:	Elizabeth Casa de Calvo	Responses / Expected:	6 / 21 (28.57%)

							de (Calvo			Survey Comparisons					
Cour	se Evaluation Questions			Respon	ises (%)			Indi	vidual			soc	PSY			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.4	4.7	78		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0	5.0	5	116	4.5	4.8	94		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	116	4.5	4.8	75		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	6 100%	6	5.0	5.0	5	117	4.4	4.8	88		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	116	4.4	4.7	31		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	115	4.3	4.7	88		
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	117	4.5	4.8	69		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	117	4.5	4.8	66		
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	117	4.5	4.8	72		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	117	4.3	4.6	78		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	117	4.5	4.8	66		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.4	4.7	75		
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	117	4.4	4.7	25		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	117	4.5	4.8	75		

		PSYC - 4040 - 030												Survey Comparisons					
Labs	and Online Learning Questions			Res	ponses (%))		C	ourse			Al	I						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	383	4.4	4.7	85					
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	555	4.6	4.8	69					

Course: PSYC - 4470 030 - Sexual Behavior	Department:	SOCPSY
Responsible Faculty: Jessica Cintron	Responses / Expected:	18 / 28 (64.29%)

					Jessic	a Cintr	on				s	urvey Cor	npariso	ns
Cour	se Evaluation Questions		Re	sponse	s (%)			Indi	vidual			SOC	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 5.6%	0	0	5 27.8%	12 66.7%	18	4.5	4.8	5	116	4.4	4.7	59
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.6%	0	0	1 5.6%	16 88.9%	18	4.7	4.9	5	116	4.5	4.8	84
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 5.6%	0	0	2 11.1%	15 83.3%	18	4.7	4.9	5	116	4.5	4.8	84
Q4	My instructor provides material that helps me do well on assignments.	1 5.6%	2 11.1%	1 5.6%	1 5.6%	13 72.2%	18	4.3	4.8	5	117	4.4	4.8	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.6%	1 5.6%	0	3 16.7%	13 72.2%	18	4.4	4.8	5	116	4.4	4.7	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5.6%	0	2 11.1%	5 27.8%	10 55.6%	18	4.3	4.6	5	115	4.3	4.7	41
Q7	My instructor establishes a climate of respect for students.	1 5.6%	0	0	2 11.1%	15 83.3%	18	4.7	4.9	5	117	4.5	4.8	69
Q8	My instructor is available to me on matters pertaining to the course.	1 5.6%	0	0	2 11.1%	15 83.3%	18	4.7	4.9	5	117	4.5	4.8	66
Q9	My instructor encourages me to do my best work.	1 5.6%	0	0	4 22.2%	13 72.2%	18	4.6	4.8	5	117	4.5	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	1 5.6%	0	2 11.1%	8 44.4%	7 38.9%	18	4.1	4.3	4	117	4.3	4.6	22
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5.6%	0	0	1 5.6%	16 88.9%	18	4.7	4.9	5	117	4.5	4.8	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5.6%	0	0	4 22.2%	13 72.2%	18	4.6	4.8	5	116	4.4	4.7	53
Q13	My instructor encourages me to develop new viewpoints.	1 5.6%	0	0	4 22.2%	13 72.2%	18	4.6	4.8	5	117	4.4	4.7	72
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.6%	0	0	2 11.1%	15 83.3%	18	4.7	4.9	5	117	4.5	4.8	75

		PSYC - 4470 - 030										Survey Comparisons					
Labs	and Online Learning Questions		Responses (%) Course								Al	II					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	1 11.1%	0	0	1 11.1%	7 77.8%	9	4.4	4.9	5	383	4.4	4.7	65			
Q16	The course topics are organized in a coherent fashion.	1 6.3%	0	0	1 6.3%	14 87.5%	16	4.7	4.9	5	555	4.6	4.8	73			

Course: PSYC - 4520 030 - Personality	Department:	SOCPSY
Responsible Faculty: Jason Wright	Responses / Expected:	3 / 25 (12%)

Cour	se Evaluation Questions			Respon	Janses (%)	son Wri	ght		vidual		8	Survey Co	-	ns
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	116	4.4	4.7	59
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	116	4.5	4.8	53
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	116	4.5	4.8	47
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	117	4.4	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	116	4.4	4.7	59
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	115	4.3	4.7	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	117	4.5	4.8	91
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	117	4.5	4.8	91
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	117	4.5	4.8	91
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	117	4.3	4.6	91
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	117	4.5	4.8	91
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	116	4.4	4.7	91
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	117	4.4	4.7	91
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	117	4.5	4.8	41

	PSYC - 4520 - 030											Survey Comparisons						
Labs	and Online Learning Questions		Res	pon	ses	(%)	Course					Al	I					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk				
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	383	4.4	4.7	85				
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	555	4.6	4.8	89				

Course: SOCI - 1510 030 - Introduction	to Sociology Department:	SOCPSY
Responsible Faculty: Krisler Bailey	Responses / Expected:	8 / 33 (24.24%)

					Kr	isler Ba	iley	,			5	urvey Co	npariso	ns
Cou	se Evaluation Questions			Respor	nses (%)			Indi	vidual			SOC	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1	4.1	4	116	4.4	4.7	9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 71.4%	2 28.6%	7	4.3	4.2	4	116	4.5	4.8	9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	116	4.5	4.8	9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	117	4.4	4.8	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	116	4.4	4.7	16
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	115	4.3	4.7	19
Q 7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	117	4.5	4.8	22
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	117	4.5	4.8	22
Q9	My instructor encourages me to do my best work.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	117	4.5	4.8	41
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	117	4.3	4.6	34
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	117	4.5	4.8	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	116	4.4	4.7	16
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	117	4.4	4.7	59
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	117	4.5	4.8	16

		SOCI - 1510 - 030												Survey Comparisons					
Labs	s and Online Learning Questions		R	Respo	onses (%	6)		Co	ourse			Α	II						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	383	4.4	4.7	85					
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	555	4.6	4.8	56					

Course:	SOCI - 2010 001 - Race, Class, Gender and Ethnicity	Department:	SOCPSY
Responsible Faculty:	Michael Bare	Responses / Expected:	2 / 9 (22.22%)

					Mich	nael	Bare			\$	Survey Co	mparisor	15
Cour	se Evaluation Questions	F	Res	pon	ses (%)		Indi	ividual			soc	PSY	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 2 100%	2	5.0	5.0	5	116	4.4	4.7	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 2 100%	2	5.0	5.0	5	116	4.5	4.8	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	116	4.5	4.8	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.4	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 2 100%	2	5.0	5.0	5	116	4.4	4.7	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	115	4.3	4.7	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.5	4.8	91
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.5	4.8	91
Q9	My instructor encourages me to do my best work.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.5	4.8	91
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.3	4.6	91
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.5	4.8	91
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	116	4.4	4.7	91
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.4	4.7	91
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	117	4.5	4.8	94

	SOCI - 2010 - 001												Survey Comparisons					
Labs	and Online Learning Questions		Responses (%) Course							Al	I							
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk				
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85				
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	555	4.6	4.8	89				

Course: SOCI - 2050 030 - Sociology of Sp	ort Department:	SOCPSY
Responsible Faculty: Adrian Tan	Responses / Expected:	2 / 3 (66.67%)

						Adri	an T				8	Survey Co	mparisor	ıs
Cour	se Evaluation Questions		Res	por	ıses (%)		Ind	ividual			soc	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.4	4.7	22
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.5	4.8	25
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.5	4.8	28
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.4	4.8	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.4	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	115	4.3	4.7	34
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.5	4.8	22
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.5	4.8	22
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.5	4.8	22
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.3	4.6	34
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.5	4.8	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.4	4.7	28
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.4	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.5	4.8	28

						SOCI - :	2050	- 030				- Survey Con	nparisons	
Labs and Online Learning Questions		Responses (%) Course							Al	All				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated int	to the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35
Q16 The course topics are organized in a co	pherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	555	4.6	4.8	28

Course:	SOCI - 3110 030 - Sociology of Mental Health, Mental Illness and Mental Health	Department:	SOCPSY
Responsible Faculty:	Syeda Jesmin	Responses / Expected:	4 / 17 (23.53%)

					Sy	eda Jes	min	1			5	Survey Co	nparisor	ns
Cour	se Evaluation Questions	Syeda Jesmin Responses (%) Individual										soc	PSY	
		SD	D	N	A	SA I	1 N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	116	4.4	4.7	3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	116	4.5	4.8	3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	116	4.5	4.8	3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	117	4.4	4.8	3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	116	4.4	4.7	3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	115	4.3	4.7	6
Q 7	My instructor establishes a climate of respect for students.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	117	4.5	4.8	3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	117	4.5	4.8	3
Q9	My instructor encourages me to do my best work.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	117	4.5	4.8	3
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	0	2 50%	1 25%	4	3.8	4.0	4	117	4.3	4.6	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	117	4.5	4.8	3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	116	4.4	4.7	6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	117	4.4	4.7	3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	117	4.5	4.8	6

	SOCI - 3110 - 030												Survey Comparisons						
Labs and Online Learning Questions	Responses (%) Course							All											
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk						
Q15 The section or lab is well integrated into the course structure.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	383	4.4	4.7	14						
Q16 The course topics are organized in a coherent fashion.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	555	4.6	4.8	7						

Course:	SOCI - 3120 030 - Sociology of Health and Illness	Department:	SOCPSY
Responsible Faculty:	Syeda Jesmin	Responses / Expected:	4 / 16 (25%)

Cour	se Evaluation Questions					yeda	Jes		vidual		8	Survey Co	•	ns
Cour	se Evaluation Questions	SD	Т	spons N	es (% A	SA	N	Mean	Grp Med	Med.	N	SOC Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.4	4.7	22
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.5	4.8	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.5	4.8	28
Q4	My instructor provides material that helps me do well on assignments.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	117	4.4	4.8	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.4	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 2	1 25%	2 50%	1 25%	4	4.0	4.0	4	115	4.3	4.7	6
Q7	My instructor establishes a climate of respect for students.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	117	4.5	4.8	22
Q8	My instructor is available to me on matters pertaining to the course.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	117	4.5	4.8	22
Q9	My instructor encourages me to do my best work.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	117	4.5	4.8	22
Q10	My instructor provides timely feedback to guide my progress.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	117	4.3	4.6	34
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	117	4.5	4.8	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.4	4.7	28
Q13	My instructor encourages me to develop new viewpoints.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	117	4.4	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 2	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	117	4.5	4.8	28

					:	SOCI - 3	120	- 030				- Survey Co	mparisons	
Labs	s and Online Learning Questions		R	Respo	onses (%)		Course					Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	383	4.4	4.7	14
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	555	4.6	4.8	28

Course: SOCI - 3220 030 - Quantitative Data Collection	Department:	SOCPSY
Responsible Faculty: Alexandra Veselka-Bush	Responses / Expected:	8 / 31 (25.81%)

				Alex	andra V	eselka-	Bus	h			S	urvey Cor	npariso	ns
Cour	se Evaluation Questions		Res	sponses	(%)			Indi	ividual			soc	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	2 25%	0	1 12.5%	5 62.5%	8	4.1	4.7	5	116	4.4	4.7	47
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	4.7	5	116	4.5	4.8	47
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	116	4.5	4.8	28
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	1 12.5%	2 25%	4 50%	8	4.0	4.5	4.5	117	4.4	4.8	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	1 12.5%	2 25%	4 50%	8	4.0	4.5	4.5	116	4.4	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	1 14.3%	0	2 28.6%	3 42.9%	7	3.7	4.3	4	115	4.3	4.7	28
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	117	4.5	4.8	22
Q8	My instructor is available to me on matters pertaining to the course.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	4.5	4.5	117	4.5	4.8	22
Q9	My instructor encourages me to do my best work.	1 12.5%	0	1 12.5%	3 37.5%	3 37.5%	8	3.9	4.2	4	117	4.5	4.8	9
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	0	2 25%	2 25%	3 37.5%	8	3.8	4.0	4	117	4.3	4.6	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	117	4.5	4.8	9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 37.5%	2 25%	3 37.5%	8	4.0	4.0	4	116	4.4	4.7	6
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	117	4.4	4.7	9
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	1 12.5%	1 12.5%	2 25%	3 37.5%	8	3.6	4.0	4	117	4.5	4.8	6

		SOCI - 3220 - 030										Survey Comparisons					
Labs	and Online Learning Questions	Responses (%) Course					All										
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	383	4.4	4.7	48			
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	555	4.6	4.8	28			

Course: SOCI - 3300 030 - Urban Sociology	Department:	SOCPSY
Responsible Faculty: Shikha Batra	Responses / Expected:	7 / 21 (33.33%)

					Sł	nikha Ba	tra				8	urvey Co	npariso	ns
Cou	se Evaluation Questions			Respons	ses (%)			Indi	vidual			SOC	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	116	4.4	4.7	72
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	116	4.5	4.8	59
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	116	4.5	4.8	53
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	117	4.4	4.8	53
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	116	4.4	4.7	66
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	115	4.3	4.7	47
Q7	My instructor establishes a climate of respect for students.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	117	4.5	4.8	41
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	117	4.5	4.8	41
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	117	4.5	4.8	34
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	117	4.3	4.6	47
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	117	4.5	4.8	41
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	116	4.4	4.7	41
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	117	4.4	4.7	41
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	117	4.5	4.8	47

		SOCI - 3300 - 030										Survey Comparisons						
Labs and Online Learning Qu	estions		Responses (%) Course								A	II						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk				
Q15 The section or lab is we	Il integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	383	4.4	4.7	35				
Q16 The course topics are o	rganized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	555	4.6	4.8	65				

Course: SOCI - 4260 001 - Topics in Sociology	Department:	SOCPSY
Responsible Faculty: Aaron Bartula	Responses / Expected:	2 / 10 (20%)

					Aaron	Bar	tula			\$	Survey Co	mpariso	1s
Cour	se Evaluation Questions		Respo	onses	(%)		Indi	ividual			soc	PSY	
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	0	2 100%	2	5.0	5.0	5	116	4.4	4.7	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.5	4.8	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.5	4.8	28
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	1 50%	1 50%	2	4.5	4.5	4.5	117	4.4	4.8	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0	0	2 100%	2	5.0	5.0	5	116	4.4	4.7	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	0	2 100%	2	5.0	5.0	5	115	4.3	4.7	88
Q7	My instructor establishes a climate of respect for students.	0	0 0	0	2 100%	2	5.0	5.0	5	117	4.5	4.8	91
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	0	2 100%	2	5.0	5.0	5	117	4.5	4.8	91
Q9	My instructor encourages me to do my best work.	0	0 0	0	2 100%	2	5.0	5.0	5	117	4.5	4.8	91
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	0	2 100%	2	5.0	5.0	5	117	4.3	4.6	91
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	0	2 100%	2	5.0	5.0	5	117	4.5	4.8	91
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	0	2 100%	2	5.0	5.0	5	116	4.4	4.7	91
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	0	2 100%	2	5.0	5.0	5	117	4.4	4.7	91
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	0	2 100%	2	5.0	5.0	5	117	4.5	4.8	94

		SOCI - 4260 - 001												Survey Comparisons					
Labs	s and Online Learning Questions	Responses (%) Course							Course				Ш						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	383	4.4	4.7	85					
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	555	4.6	4.8	28					

Course:	SOCI - 4600 030 - Sociology of Mass Communication	Department:	SOCPSY
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	5 / 20 (25%)

					Ifte	khar A	mi	n			5	Survey Co	mpariso	ns
Cou	se Evaluation Questions	Responses (%) Individual										soc	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 20%	0	1 20%	3 60%	5	4.2	4.7	5	116	4.4	4.7	41
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	116	4.5	4.8	72
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	116	4.5	4.8	75
Q4	My instructor provides material that helps me do well on assignments.	0	1 20%	0	0	4 80%	5	4.4	4.9	5	117	4.4	4.8	72
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	116	4.4	4.7	53
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	0	4 80%	5	4.4	4.9	5	115	4.3	4.7	72
Q 7	My instructor establishes a climate of respect for students.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	117	4.5	4.8	59
Q8	My instructor is available to me on matters pertaining to the course.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	117	4.5	4.8	53
Q9	My instructor encourages me to do my best work.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	117	4.5	4.8	66
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	117	4.3	4.6	72
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	117	4.5	4.8	59
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	116	4.4	4.7	66
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	117	4.4	4.7	53
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	117	4.5	4.8	66

		SOCI - 4600 - 030												Survey Comparisons					
Labs	s and Online Learning Questions		R	Respo	onses (%	6)		Co	ourse			A	II						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	383	4.4	4.7	85					
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	555	4.6	4.8	56					

Course: SPAN - 1010 001 - Elementary Spanish I	Department:	LangCom
Responsible Faculty: Cristina Gonzalez	Responses / Expected:	8 / 13 (61.54%)

					Crist	ina Gon	zal	lez				Survey Co	ompariso	ns
Cou	se Evaluation Questions			Respon	ses (%)			Indi	vidual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 25%	2 25%	4 50%	8	4.3	4.5	4.5	47	4.3	4.6	44
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	47	4.4	4.6	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	47	4.6	4.8	19
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	47	4.5	4.7	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 37.5%	2 25%	3 37.5%	8	4.0	4.0	4	46	4.2	4.6	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	4 50%	2 25%	8	4.0	4.0	4	47	4.4	4.7	13
Q7	My instructor establishes a climate of respect for students.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	47	4.5	4.7	6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 25%	2 25%	4 50%	8	4.3	4.5	4.5	47	4.6	4.8	31
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	47	4.5	4.7	31
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	47	4.6	4.7	44
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 25%	4 50%	2 25%	8	4.0	4.0	4	47	4.4	4.6	6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 25%	4 50%	2 25%	8	4.0	4.0	4	47	4.4	4.6	13
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9	3.8	4	47	4.4	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9	3.8	4	47	4.3	4.6	6

		SPAN - 1010 - 001												Survey Comparisons					
Labs	and Online Learning Questions		Responses (%) Course								All								
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	383	4.4	4.7	35					
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	555	4.6	4.8	50					

Course: SPAN - 4900 030 - Special Problems	Department:	LangCom
Responsible Faculty: Luis Diaz Cheverez	Responses / Expected:	13 / 15 (86.67%)

Cour	se Evaluation Questions		Re	sponse	Luis Dia	z Cheve	rez	Indi	vidual			Survey Co	ompariso	ons
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4	4.7	5	47	4.3	4.6	56
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 15.4%	0	3 23.1%	8 61.5%	13	4.3	4.7	5	47	4.4	4.6	56
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 7.7%	1 7.7%	3 23.1%	8 61.5%	13	4.4	4.7	5	47	4.6	4.8	6
Q4	My instructor provides material that helps me do well on assignments.	0	1 7.7%	1 7.7%	2 15.4%	9 69.2%	13	4.5	4.8	5	47	4.5	4.7	44
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 7.7%	1 7.7%	4 30.8%	7 53.8%	13	4.3	4.6	5	46	4.2	4.6	44
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5	4.8	5	47	4.4	4.7	44
Q7	My instructor establishes a climate of respect for students.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7	4.9	5	47	4.5	4.7	81
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 15.4%	11 84.6%	13	4.8	4.9	5	47	4.6	4.8	56
Q9	My instructor encourages me to do my best work.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7	4.9	5	47	4.5	4.7	81
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	47	4.6	4.7	69
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 15.4%	1 7.7%	10 76.9%	13	4.6	4.9	5	47	4.4	4.6	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6	4.8	5	47	4.4	4.6	56
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 15.4%	2 15.4%	9 69.2%	13	4.5	4.8	5	47	4.4	4.7	69
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.7%	0	1 7.7%	2 15.4%	9 69.2%	13	4.4	4.8	5	47	4.3	4.6	56

	SPAN - 4900 - 030											Survey Comparisons					
Labs	and Online Learning Questions		Responses (%) Course							All							
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	383	4.4	4.7	70			
Q16	The course topics are organized in a coherent fashion.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	555	4.6	4.8	43			

Course: TECM - 2300 030 - New Media Writing	Department:	LangCom
Responsible Faculty: Roberto Tinajero	Responses / Expected:	2 / 10 (20%)

					Robert	to T	inajero				Survey Co	mpariso	ns
Cour	se Evaluation Questions	F	Res	pon	ses (%)		Indi	ividual			Lang	gCom	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.3	4.6	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.4	4.6	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.6	4.8	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.5	4.7	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 2 100%	2	5.0	5.0	5	46	4.2	4.6	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.4	4.7	94
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.5	4.7	94
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.6	4.8	88
Q9	My instructor encourages me to do my best work.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.5	4.7	94
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.6	4.7	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.4	4.6	94
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.4	4.6	94
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.4	4.7	94
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	47	4.3	4.6	94

	TECM - 2300 - 030											Survey Comparisons					
Labs	and Online Learning Questions	e Learning Questions Responses (%) Course						All									
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	383	4.4	4.7	85			
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	555	4.6	4.8	89			

Course:	ACCT - 2020 010 - Accounting Principles II (Managerial Accounting)	Department:	BUSI
Responsible Faculty:	Patricia Wynn	Responses / Expected:	18 / 27 (66.67%)

					Pa	atricia W	/ynn	1			S	urvey Co	mpariso	ns
Cour	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			BU	ISI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 11.1%	16 88.9%	18	4.9	4.9	5	116	4.5	4.7	90
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 5.6%	17 94.4%	18	4.9	5.0	5	116	4.6	4.8	90
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 5.6%	17 94.4%	18	4.9	5.0	5	116	4.6	4.8	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	18 100%	18	5.0	5.0	5	115	4.6	4.8	93
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8	4.9	5	116	4.6	4.8	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 16.7%	15 83.3%	18	4.8	4.9	5	116	4.6	4.8	70
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 5.6%	17 94.4%	18	4.9	5.0	5	116	4.7	4.9	90
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	18 100%	18	5.0	5.0	5	116	4.7	4.8	93
Q9	My instructor encourages me to do my best work.	0	0	0	2 11.1%	16 88.9%	18	4.9	4.9	5	115	4.7	4.8	80
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 5.6%	0	17 94.4%	18	4.9	5.0	5	116	4.7	4.8	90
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 5.6%	17 94.4%	18	4.9	5.0	5	116	4.6	4.8	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 11.1%	1 5.6%	15 83.3%	18	4.7	4.9	5	116	4.6	4.8	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 22.2%	14 77.8%	18	4.8	4.9	5	116	4.5	4.7	67
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 5.6%	0	17 94.4%	18	4.9	5.0	5	116	4.6	4.8	83

ACCT - 2020 - 010											Survey Comparisons						
and Online Learning Questions			Responses (%) Course								Al	1					
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk				
Q15 The section or lab is well integrated into the course structure.	0	0	1 7.7%	0	12 92.3%	13	4.8	5.0	5	270	4.5	4.8	74				
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	16 100%	16	5.0	5.0	5	386	4.5	4.8	91				

Course:	ACCT - 2020 011 - Accounting Principles II (Managerial Accounting)	Department:	BUSI
Responsible Faculty:	Patricia Wynn	Responses / Expected:	8 / 9 (88.89%)

						Patricia	Wy	/nn			8	Survey Co	npariso	ns
Cou	se Evaluation Questions		R	esp	onses ('	%)		Indi	ividual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	116	4.5	4.7	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	116	4.6	4.8	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	116	4.6	4.8	63
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	115	4.6	4.8	77
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	116	4.6	4.8	90
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	116	4.6	4.8	87
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	116	4.7	4.9	73
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	116	4.7	4.8	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0	5.0	5	115	4.7	4.8	93
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	116	4.7	4.8	80
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0	5.0	5	116	4.6	4.8	93
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	116	4.6	4.8	57
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	116	4.5	4.7	57
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	116	4.6	4.8	63

					ACCT - 20	20 -	011				Survey Con	nparisons	
Labs and Online Learning Questions		Responses (%) Course					All			II			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	270	4.5	4.8	69
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	386	4.5	4.8	76

Course:	AGER - 2250 040 - Images of Aging in Film and Literature	Department:	SEHSD
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	3 / 8 (37.50%)

						lftekhar	An	nin				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esp	onses (S	%)		Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	3.9	4.3	92
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	31	3.9	4.5	92
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	31	4.0	4.5	92
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	4.1	4.5	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	3.9	4.2	92
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	3.7	4.3	92
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	4.4	4.7	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	3.9	4.4	92
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	4.2	4.6	67
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	3.7	4.3	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	4.2	4.6	92
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	4.1	4.6	92
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	31	4.2	4.6	92
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	4.0	4.5	83

						AGER - 2	250	- 040				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		R	espo	nses (9	6)		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	386	4.5	4.8	26

Course:	AGRI - 3306 030 - Soil Science	Department:	LIFESCI
Responsible Faculty:	Jerrod Tynes	Responses / Expected:	4 / 5 (80%)

					Je	rrod T	ynes				Survey Co	mpariso	ns
Cour	se Evaluation Questions	R	esp	onse	s (%)		Ir	dividua	I		LIF	ESCI	
		SD I) N	A		A N	Mea	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	0		4 0% 4	5.0	5.0	5	93	4.2	4.6	89
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	0		4 0% 4	5.0	5.0	5	94	4.4	4.7	89
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	0		4 0% 4	5.0	5.0	5	94	4.4	4.7	89
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	0		4 0% 4	5.0	5.0	5	94	4.4	4.7	89
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0	0		4 0% 4	5.0	5.0	5	94	4.2	4.7	89
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	0		4 0% 4	5.0	5.0	5	94	4.2	4.7	89
Q7	My instructor establishes a climate of respect for students.	0	0 0	0		4 0% 4	5.0	5.0	5	93	4.4	4.8	89
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	1 25		3 5% 4	4.8	4.8	5	94	4.4	4.8	68
Q9	My instructor encourages me to do my best work.	0	0 0	0		4 0% 4	5.0	5.0	5	94	4.4	4.8	89
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	0		4 0% 4	5.0	5.0	5	94	4.3	4.7	89
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	0		4 0% 4	5.0	5.0	5	93	4.4	4.8	89
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	0		4 0%	5.0	5.0	5	94	4.3	4.7	89
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	1 25		3 5% 4	4.8	4.8	5	94	4.3	4.7	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	0		4 0% 4	5.0	5.0	5	94	4.2	4.7	89

						AGRI -	330	6 - 030				- Survey Cor	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	386	4.5	4.8	91

Course:	BIOL - 1082 002 - Biology for Educators	Department:	LIFESCI
Responsible Faculty:	Keriman Livingston	Responses / Expected:	11 / 23 (47.83%)

				К	eriman	Livings	ton				8	Survey Co	mpariso	ons
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	3 27.3%	2 18.2%	6 54.5%	11	4.3	4.6	5	93	4.2	4.6	54
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 18.2%	3 27.3%	6 54.5%	11	4.4	4.6	5	94	4.4	4.7	29
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 18.2%	1 9.1%	2 18.2%	6 54.5%	11	4.1	4.6	5	94	4.4	4.7	25
Q4	My instructor provides material that helps me do well on assignments.	0	2 18.2%	0	3 27.3%	6 54.5%	11	4.2	4.6	5	94	4.4	4.7	32
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	1 9.1%	1 9.1%	2 18.2%	6 54.5%	11	4.0	4.6	5	94	4.2	4.7	39
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 18.2%	2 18.2%	1 9.1%	6 54.5%	11	4.0	4.6	5	94	4.2	4.7	39
Q7	My instructor establishes a climate of respect for students.	1 9.1%	0	2 18.2%	1 9.1%	7 63.6%	11	4.2	4.7	5	93	4.4	4.8	46
Q8	My instructor is available to me on matters pertaining to the course.	0	1 9.1%	1 9.1%	3 27.3%	6 54.5%	11	4.3	4.6	5	94	4.4	4.8	18
Q9	My instructor encourages me to do my best work.	0	1 9.1%	2 18.2%	1 9.1%	7 63.6%	11	4.3	4.7	5	94	4.4	4.8	39
Q10	My instructor provides timely feedback to guide my progress.	1 9.1%	0	3 27.3%	1 9.1%	6 54.5%	11	4.0	4.6	5	94	4.3	4.7	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 9.1%	1 9.1%	3 27.3%	6 54.5%	11	4.3	4.6	5	93	4.4	4.8	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 9.1%	3 27.3%	1 9.1%	6 54.5%	11	4.1	4.6	5	94	4.3	4.7	25
Q13	My instructor encourages me to develop new viewpoints.	0	2 18.2%	2 18.2%	0	7 63.6%	11	4.1	4.7	5	94	4.3	4.7	61
Q14	My instructor made the subject interesting and motivated me to learn.	2 18.2%	0	3 27.3%	0	6 54.5%	11	3.7	4.6	5	94	4.2	4.7	32

				BIO	L - 1082 ·	- 00	2				Survey Cor	nparisons	;
Labs and Online Learning Questions	Responses (%)						ourse		All				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	270	4.5	4.8	39
Q16 The course topics are organized in a coherent fashion.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2	4.3	4	386	4.5	4.8	18

Course:	BIOL - 1082 302 - Biology for Educators	Department:	LIFESCI
Responsible Faculty:	Scott Grimes	Responses / Expected:	11 / 23 (47.83%)

					Sc	ott Grin	ıes					Survey Co	ompariso	ons
Cour	se Evaluation Questions		espon	ses (%)			Indi	vidual			LIF	ESCI		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 9.1%	0	0	1 9.1%	9 81.8%	11	4.5	4.9	5	93	4.2	4.6	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	94	4.4	4.7	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	94	4.4	4.7	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	94	4.4	4.7	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	94	4.2	4.7	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	94	4.2	4.7	71
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	0	10 90.9%	11	4.8	5.0	5	93	4.4	4.8	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 9.1%	0	10 90.9%	11	4.8	5.0	5	94	4.4	4.8	82
Q9	My instructor encourages me to do my best work.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7	4.9	5	94	4.4	4.8	71
Q10	My instructor provides timely feedback to guide my progress.	0	0 .	2 18.2%	0	9 81.8%	11	4.6	4.9	5	94	4.3	4.7	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7	4.9	5	93	4.4	4.8	71
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 .	2 18.2%	0	9 81.8%	11	4.6	4.9	5	94	4.3	4.7	75
Q13	My instructor encourages me to develop new viewpoints.	0	0 .	2 18.2%	0	9 81.8%	11	4.6	4.9	5	94	4.3	4.7	82
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7	4.9	5	94	4.2	4.7	75

				В	IOL - 1082	2 - 30	2				Survey Co	nparisons	;
Labs and Online Learning Questions			Respo	nses (%)			Co	urse			Α	II	
	SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6	4.8	5	270	4.5	4.8	58
Q16 The course topics are organized in a coherent fashion.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	386	4.5	4.8	51

Course:	BIOL - 1132 031 - Environmental Science	Department:	LIFESCI
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	6 / 21 (28.57%)

				lre	ne Ro	driguez	Vir	gen				Survey Co	ompariso	ons
Cour	se Evaluation Questions		Re	sponse	s (%)			Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 20%	1 20%	1 20%	2 40%	5	3.8	4.0	4	93	4.2	4.6	18
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 50%	0	3 50%	6	4.0	4.0	4	94	4.4	4.7	4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.4	4.7	46
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.4	4.7	61
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	2 33.3%	0	3 50%	6	3.8	4.0	4	94	4.2	4.7	21
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.2	4.7	61
Q7	My instructor establishes a climate of respect for students.	0	0	2 40%	0	3 60%	5	4.2	4.7	5	93	4.4	4.8	29
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.4	4.8	46
Q9	My instructor encourages me to do my best work.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.4	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.3	4.7	57
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 40%	0	3 60%	5	4.2	4.7	5	93	4.4	4.8	43
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.3	4.7	57
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.3	4.7	68
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	94	4.2	4.7	64

					BIC)L - 1132 ·	- 03	1				Survey Con	nparisons	;
Labs	and Online Learning Questions		Res	ponses (%)			C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	2 33.3%	0	0	4 66.7%	6	4.0	4.8	5	270	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	386	4.5	4.8	55

Course:	BIOL - 1132 331 - Environmental Science	Department:	LIFESCI
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	7 / 21 (33.33%)

				Irer	e Rodri	guez Vi	rge	n			3	Survey Co	mpariso	ons
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			LIF	ESCI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 14.3%	0	2 28.6%	0	4 57.1%	7	3.9	4.6	5	93	4.2	4.6	61
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 14.3%	1 14.3%	0	0	5 71.4%	7	4.0	4.8	5	94	4.4	4.7	61
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	1 14.3%	0	5 71.4%	7	4.1	4.8	5	94	4.4	4.7	61
Q4	My instructor provides material that helps me do well on assignments.	1 14.3%	0	1 14.3%	0	5 71.4%	7	4.1	4.8	5	94	4.4	4.7	68
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	1 14.3%	0	5 71.4%	7	4.1	4.8	5	94	4.2	4.7	68
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	94	4.2	4.7	46
Q7	My instructor establishes a climate of respect for students.	1 14.3%	0	2 28.6%	0	4 57.1%	7	3.9	4.6	5	93	4.4	4.8	18
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	94	4.4	4.8	25
Q9	My instructor encourages me to do my best work.	1 14.3%	0	2 28.6%	0	4 57.1%	7	3.9	4.6	5	94	4.4	4.8	32
Q10	My instructor provides timely feedback to guide my progress.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	94	4.3	4.7	32
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	2 28.6%	0	4 57.1%	7	3.9	4.6	5	93	4.4	4.8	32
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 14.3%	1 14.3%	0	1 14.3%	4 57.1%	7	3.9	4.6	5	94	4.3	4.7	32
Q13	My instructor encourages me to develop new viewpoints.	1 14.3%	0	2 28.6%	0	4 57.1%	7	3.9	4.6	5	94	4.3	4.7	46
Q14	My instructor made the subject interesting and motivated me to learn.	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	94	4.2	4.7	39

					BIOL - 1	132 - 331						Survey Cor	nparison	s
Labs	and Online Learning Questions		Re	sponses	(%)			C	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 14.3%	1 14.3%	1 14.3%	1 14.3%	3 42.9%	7	3.6	4.0	4	270	4.5	4.8	19
Q16	The course topics are organized in a coherent fashion.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	386	4.5	4.8	38

Course:	BIOL - 1720 001 - Biology for Science Majors II	Department:	LIFESCI
Responsible Faculty:	Sarvjeet Singh	Responses / Expected:	1 / 7 (14.29%)

						Sarv	jeet	Singh				Survey Co	mpariso	ns
Cour	se Evaluation Questions	ı	Res	ро	nse	es (%)		Indi	ividual			LIF	ESCI	
		SD	D	N	1	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	(1 100%	1	5.0	5.0	5	93	4.2	4.6	89
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.4	4.7	89
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.4	4.7	89
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.4	4.7	89
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.2	4.7	89
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.2	4.7	89
Q7	My instructor establishes a climate of respect for students.	0	0	0	(1 100%	1	5.0	5.0	5	93	4.4	4.8	89
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.4	4.8	93
Q9	My instructor encourages me to do my best work.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.4	4.8	89
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.3	4.7	89
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	(1 100%	1	5.0	5.0	5	93	4.4	4.8	89
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.3	4.7	89
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.3	4.7	93
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	(1 100%	1	5.0	5.0	5	94	4.2	4.7	89

						BIOL -	1720	0 - 001				- Survey Cor	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	1	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	386	4.5	4.8	91

Course:	BIOL - 1740 001 - Biology for Science Majors II Laboratory	Department:	LIFESCI
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	4 / 11 (36.36%)

					М	uhamme	ed Y	ousufud	din			Survey Co	mpariso	ns
Cour	se Evaluation Questions	F	Res	por	ıse	es (%)		Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	C	100%	4	5.0	5.0	5	93	4.2	4.6	89
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	C	100%	4	5.0	5.0	5	94	4.4	4.7	89
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	C	100%	4	5.0	5.0	5	94	4.4	4.7	89
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	C	100%	4	5.0	5.0	5	94	4.4	4.7	89
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	C	100%	4	5.0	5.0	5	94	4.2	4.7	89
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	C	100%	4	5.0	5.0	5	94	4.2	4.7	89
Q7	My instructor establishes a climate of respect for students.	0	0	0	C	100%	4	5.0	5.0	5	93	4.4	4.8	89
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	C	100%	4	5.0	5.0	5	94	4.4	4.8	93
Q9	My instructor encourages me to do my best work.	0	0	0	C	100%	4	5.0	5.0	5	94	4.4	4.8	89
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	C	100%	4	5.0	5.0	5	94	4.3	4.7	89
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	C	100%	4	5.0	5.0	5	93	4.4	4.8	89
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	C	100%	4	5.0	5.0	5	94	4.3	4.7	89
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	C	100%	4	5.0	5.0	5	94	4.3	4.7	93
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	C	100%	4	5.0	5.0	5	94	4.2	4.7	89

					BIOL -	1740	0 - 001			Survey Comparisons						
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Α	1				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	270	4.5	4.8	87			
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	386	4.5	4.8	91			

Course:	BIOL - 2302 030 - Human Anatomy and Physiology II	Department:	LIFESCI
Responsible Faculty:	Jessica Guerrero	Responses / Expected:	3 / 7 (42.86%)

					Jessica	Guerre	ro				;	Survey Co	mparisc	ns
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	93	4.2	4.6	29
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	94	4.4	4.7	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	94	4.4	4.7	46
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	94	4.4	4.7	11
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	94	4.2	4.7	57
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	94	4.2	4.7	14
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	93	4.4	4.8	57
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	94	4.4	4.8	46
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	94	4.4	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	94	4.3	4.7	4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	93	4.4	4.8	11
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	94	4.3	4.7	4
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	94	4.3	4.7	14
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	94	4.2	4.7	7

					В	OL - 2302	2 - 03	30				Survey Cor	nparisons	
Labs	and Online Learning Questions		Res	pons	es (%)			C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	270	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	386	4.5	4.8	26

Course:	BIOL - 2312 001 - Human Anatomy and Physiology II Laboratory	Department:	LIFESCI
Responsible Faculty:	Jessica Guerrero	Responses / Expected:	3 / 7 (42.86%)

					Jess	sica Gue	erre	ro				Survey Co	mpariso	ons
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	93	4.2	4.6	29
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	94	4.4	4.7	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	94	4.4	4.7	46
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	94	4.4	4.7	4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	94	4.2	4.7	57
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	94	4.2	4.7	14
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	93	4.4	4.8	4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	94	4.4	4.8	4
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	94	4.4	4.8	11
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 66.7%	0	1 33.3%	3	3.7	3.3	3	94	4.3	4.7	11
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	93	4.4	4.8	61
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	94	4.3	4.7	57
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	94	4.3	4.7	14
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	94	4.2	4.7	64

				BIO	L - 2312 -	001	1				Survey Cor	nparisons	;
Labs and Online Learning Questions		Res	spon	ses (%)			Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	270	4.5	4.8	50
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	386	4.5	4.8	55

Course:	BIOL - 3306 030 - Soil Science	Department:	LIFESCI
Responsible Faculty:	Jerrod Tynes	Responses / Expected:	11 / 24 (45.83%)

					Je	rrod Tyı	nes					Survey Co	ompariso	ons
Cou	se Evaluation Questions		Re	espon	ses (%)			Indiv	vidual			LIF	ESCI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	93	4.2	4.6	68
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 9.1%	0	4 36.4%	6 54.5%	11	4.4	4.6	5	94	4.4	4.7	29
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	94	4.4	4.7	32
Q4	My instructor provides material that helps me do well on assignments.	0	1 9.1%	0	3 27.3%	7 63.6%	11	4.5	4.7	5	94	4.4	4.7	54
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 9.1%	0	3 27.3%	7 63.6%	11	4.5	4.7	5	94	4.2	4.7	46
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	94	4.2	4.7	71
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	93	4.4	4.8	68
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	94	4.4	4.8	75
Q9	My instructor encourages me to do my best work.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	94	4.4	4.8	71
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	94	4.3	4.7	68
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	93	4.4	4.8	71
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	94	4.3	4.7	68
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	94	4.3	4.7	32
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	94	4.2	4.7	54

					BIOL - 330)6 -	030				Survey Cor	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			A	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	270	4.5	4.8	71
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	386	4.5	4.8	67

Course:	BIOL - 3510 001 - Cell Biology	Department:	LIFESCI
Responsible Faculty:	Mohammadmehdi Eslamieh	Responses / Expected:	6 / 24 (25%)

				Mol	namma	dmehdi	Esl	lamieh				Survey Co	ompariso	ons
Cour	se Evaluation Questions		Re	espons	es (%)			Indi	ividual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 33.3%	0	0	1 16.7%	3 50%	6	3.5	4.5	4.5	93	4.2	4.6	43
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 33.3%	0	0	1 16.7%	3 50%	6	3.5	4.5	4.5	94	4.4	4.7	14
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	94	4.4	4.7	14
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	94	4.4	4.7	21
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 33.3%	0	1 16.7%	0	3 50%	6	3.3	4.0	4	94	4.2	4.7	21
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 33.3%	0	1 16.7%	0	3 50%	6	3.3	4.0	4	94	4.2	4.7	14
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	93	4.4	4.8	11
Q8	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2	4.8	5	94	4.4	4.8	46
Q9	My instructor encourages me to do my best work.	1 16.7%	0	2 33.3%	0	3 50%	6	3.7	4.0	4	94	4.4	4.8	11
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	0	2 33.3%	0	3 50%	6	3.7	4.0	4	94	4.3	4.7	18
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	2 33.3%	0	3 50%	6	3.7	4.0	4	93	4.4	4.8	4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 33.3%	0	0	1 16.7%	3 50%	6	3.5	4.5	4.5	94	4.3	4.7	14
Q13	My instructor encourages me to develop new viewpoints.	2 33.3%	0	1 16.7%	0	3 50%	6	3.3	4.0	4	94	4.3	4.7	4
Q14	My instructor made the subject interesting and motivated me to learn.	2 33.3%	0	1 16.7%	0	3 50%	6	3.3	4.0	4	94	4.2	4.7	7

					BIOL - 3	510	- 001				- Survey Cor	nparisons	
Labs and Online Learning Questions		R	espo	nses (%	6)		Co	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	270	4.5	4.8	87
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	386	4.5	4.8	45

Course:	BIOL - 4310 001 - Animal Physiology	Department:	LIFESCI
Responsible Faculty:	Saima Khursheed	Responses / Expected:	16 / 16 (100%)

				,	Saima k	Churshe	ed				8	Survey Co	mparis	ons
Cour	se Evaluation Questions		Res	ponses	(%)			Indiv	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 6.3%	0	1 6.3%	6 37.5%	8 50%	16	4.3	4.5	4.5	93	4.2	4.6	43
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 12.5%	0	1 6.3%	4 25%	9 56.3%	16	4.1	4.6	5	94	4.4	4.7	39
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 12.5%	0	0	6 37.5%	8 50%	16	4.1	4.5	4.5	94	4.4	4.7	14
Q4	My instructor provides material that helps me do well on assignments.	2 12.5%	1 6.3%	0	4 25%	9 56.3%	16	4.1	4.6	5	94	4.4	4.7	39
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 18.8%	0	2 12.5%	3 18.8%	8 50%	16	3.8	4.5	4.5	94	4.2	4.7	32
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 18.8%	1 6.3%	0	2 12.5%	10 62.5%	16	3.9	4.7	5	94	4.2	4.7	54
Q7	My instructor establishes a climate of respect for students.	2 12.5%	0	2 12.5%	2 12.5%	10 62.5%	16	4.1	4.7	5	93	4.4	4.8	39
Q8	My instructor is available to me on matters pertaining to the course.	2 12.5%	0	0	3 18.8%	11 68.8%	16	4.3	4.8	5	94	4.4	4.8	61
Q9	My instructor encourages me to do my best work.	2 12.5%	0	0	3 18.8%	11 68.8%	16	4.3	4.8	5	94	4.4	4.8	61
Q10	My instructor provides timely feedback to guide my progress.	3 18.8%	0	0	3 18.8%	10 62.5%	16	4.1	4.7	5	94	4.3	4.7	46
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 12.5%	0	2 12.5%	2 12.5%	10 62.5%	16	4.1	4.7	5	93	4.4	4.8	54
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 12.5%	0	1 6.3%	3 18.8%	10 62.5%	16	4.2	4.7	5	94	4.3	4.7	46
Q13	My instructor encourages me to develop new viewpoints.	2 12.5%	0	2 12.5%	3 18.8%	9 56.3%	16	4.1	4.6	5	94	4.3	4.7	39
Q14	My instructor made the subject interesting and motivated me to learn.	2 12.5%	2 12.5%	1 6.3%	1 6.3%	10 62.5%	16	3.9	4.7	5	94	4.2	4.7	46

					ВІ	OL - 4310	00 - 0	1			Survey Comparisons						
Lab	s and Online Learning Questions		Re	espo	nses (%)			Co	urse			Α	I				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	1 10%	0	0	0	9 90%	10	4.6	4.9	5	270	4.5	4.8	72			
Q16	The course topics are organized in a coherent fashion.	2 14.3%	0	0	2 14.3%	10 71.4%	14	4.3	4.8	5	386	4.5	4.8	59			

Course:	BLAW - 2300 001 - Legal and Ethical Environment of Business	Department:	BUSI
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	9 / 24 (37.50%)

				Sha	ron Fjor	dba	ık			S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		Res	ponses (%)			Indi	vidual			BU	ISI	
		SD	D	N A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0 2 22.2%	7 77.8%	9	4.8	4.9	5	116	4.5	4.7	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0 2 22.2%	7 77.8%	9	4.8	4.9	5	116	4.6	4.8	57
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0 2 22.2%	7 77.8%	9	4.8	4.9	5	116	4.6	4.8	70
Q4	My instructor provides material that helps me do well on assignments.	0	0	0 1 11.1%	8 88.9%	9	4.9	4.9	5	115	4.6	4.8	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0 3 33.3%	6 66.7%	9	4.7	4.8	5	116	4.6	4.8	47
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0 2 22.2%	7 77.8%	9	4.8	4.9	5	116	4.6	4.8	57
Q7	My instructor establishes a climate of respect for students.	0	0	0 1 11.1%	8 88.9%	9	4.9	4.9	5	116	4.7	4.9	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0 1 11.1%	8 88.9%	9	4.9	4.9	5	116	4.7	4.8	83
Q9	My instructor encourages me to do my best work.	0	0	0 1 11.1%	8 88.9%	9	4.9	4.9	5	115	4.7	4.8	80
Q10	My instructor provides timely feedback to guide my progress.	0	1 11.1%	0 1 11.1%	7 77.8%	9	4.6	4.9	5	116	4.7	4.8	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0 2 22.2%	7 77.8%	9	4.8	4.9	5	116	4.6	4.8	63
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0 2 22.2%	7 77.8%	9	4.8	4.9	5	116	4.6	4.8	70
Q13	My instructor encourages me to develop new viewpoints.	0	0	0 2 22.2%	7 77.8%	9	4.8	4.9	5	116	4.5	4.7	67
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0 3 33.3%	6 66.7%	9	4.7	4.8	5	116	4.6	4.8	53

						BLAW - 23	00 -	001				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	270	4.5	4.8	67
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	386	4.5	4.8	74

Course:	BLAW - 2300 002 - Legal and Ethical Environment of Business	Department:	BUSI
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	5 / 25 (20%)

					Sh	aron Fjo	rdbak			8	Survey Co	mparisoı	ns
Cour	se Evaluation Questions		Re	spons	es (%)	ln	dividual			BU	ISI	
		SD	D	N	A	SA N	Mea	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	4.6	4.7	5	116	4.5	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	4.8	4.9	5	116	4.6	4.8	63
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 60%	2 40%	4.4	4.3	4	116	4.6	4.8	10
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 60%	2 40%	4.4	4.3	4	115	4.6	4.8	10
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	4.8	4.9	5	116	4.6	4.8	57
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	2 40%	2 40%	4.2	4.3	4	116	4.6	4.8	17
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	2 40%	2 40%	4.2	4.3	4	116	4.7	4.9	10
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	1 20%	3 60%	4.4	4.7	5	116	4.7	4.8	37
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	4.6	4.7	5	115	4.7	4.8	37
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	2 40%	2 40%	4.2	4.3	4	116	4.7	4.8	10
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 60%	2 40%	4.4	4.3	4	116	4.6	4.8	10
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	4.6	4.7	5	116	4.6	4.8	43
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	4.6	4.7	5	116	4.5	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 60%	2 40%	4.4	4.3	4	116	4.6	4.8	20

				ı	BLAW - 23	00 -	002			Survey Comparisons				
Labs and Online Learning Questions			Res	ponses (%)		Co	ourse			Α	II		
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	270	4.5	4.8	29	
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	386	4.5	4.8	55	

Course:	BUSI - 4940 010 - Business Policy	Department:	BUSI
Responsible Faculty:	Isaura Flores	Responses / Expected:	17 / 37 (45.95%)

					Isaı	ıra Flore	es				S	urvey Co	npariso	ns
Cour	se Evaluation Questions											BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 5.9%	0	0	4 23.5%	12 70.6%	17	4.5	4.8	5	116	4.5	4.7	70
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.9%	0	0	1 5.9%	15 88.2%	17	4.7	4.9	5	116	4.6	4.8	83
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 5.9%	0	0	2 11.8%	14 82.4%	17	4.6	4.9	5	116	4.6	4.8	77
Q4	My instructor provides material that helps me do well on assignments.	1 5.9%	0	0	4 23.5%	12 70.6%	17	4.5	4.8	5	115	4.6	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.9%	0	0	2 11.8%	14 82.4%	17	4.6	4.9	5	116	4.6	4.8	63
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5.9%	0	0	1 5.9%	15 88.2%	17	4.7	4.9	5	116	4.6	4.8	87
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 11.8%	15 88.2%	17	4.9	4.9	5	116	4.7	4.9	73
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8	4.9	5	116	4.7	4.8	57
Q9	My instructor encourages me to do my best work.	0	0	0	3 17.6%	14 82.4%	17	4.8	4.9	5	115	4.7	4.8	63
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 11.8%	15 88.2%	17	4.9	4.9	5	116	4.7	4.8	80
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 5.9%	1 5.9%	4 23.5%	11 64.7%	17	4.5	4.7	5	116	4.6	4.8	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 23.5%	13 76.5%	17	4.8	4.8	5	116	4.6	4.8	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 17.6%	14 82.4%	17	4.8	4.9	5	116	4.5	4.7	77
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.9%	0	0	3 17.6%	13 76.5%	17	4.6	4.8	5	116	4.6	4.8	70

				BU	ISI - 4940	- 010)			Survey Comparisons						
s and Online Learning Questions			Respor	ıses (%)			Co	urse			Al	I				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	270	4.5	4.8	61			
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 7.7%	12 92.3%	13	4.9	5.0	5	386	4.5	4.8	81			

Course:	CJUS - 2301 030 - Correctional Systems and Practices	Department:	Criminal J
Responsible Faculty:	Michael Noyes	Responses / Expected:	5 / 11 (45.45%)

					M	lichael	No	yes				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Re	spon	ses (%	5)		Indi	vidual			Crir	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	23	4.5	4.8	60
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0	5.0	5	23	4.7	4.9	80
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	23	4.7	4.9	80
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	23	4.6	4.8	70
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	23	4.5	4.7	80
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	23	4.6	4.8	60
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	23	4.3	4.6	80
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	5.0	5	23	4.5	4.7	90
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0	5.0	5	23	4.4	4.7	90
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0	5.0	5	23	4.4	4.7	90
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	23	4.4	4.7	70
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	23	4.5	4.7	70
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	23	4.5	4.7	70
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	23	4.6	4.9	60

					CJUS -	230	1 - 030			Survey Comparisons						
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Α	II				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	270	4.5	4.8	87			
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	5.0	5	386	4.5	4.8	91			

Course:	CJUS - 3600 030 - Criminology	Department:	Criminal J
Responsible Faculty:	Nahid Siddique	Responses / Expected:	5 / 26 (19.23%)

					Na	hid Sid	diq	ļue				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	pons	es (%)			Indi	vidual			Crir	ninal	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 20%	0	0	4 80%	5	4.4	4.9	5	23	4.5	4.8	60
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	23	4.7	4.9	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	23	4.7	4.9	30
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	23	4.6	4.8	30
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	23	4.5	4.7	30
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	23	4.6	4.8	60
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	23	4.3	4.6	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	23	4.5	4.7	60
Q9	My instructor encourages me to do my best work.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	23	4.4	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	23	4.4	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	23	4.4	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	23	4.5	4.7	70
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	23	4.5	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	23	4.6	4.9	60

						CJUS - 36	00 -	030				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	270	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	386	4.5	4.8	91

Course:	CJUS - 3610 030 - Juvenile Justice	Department:	Criminal J
Responsible Faculty:	Paul Reynolds	Responses / Expected:	4 / 23 (17.39%)

					Paul F	leyn	olds				Survey Co	mpariso	ns
Cour	se Evaluation Questions	F	Respo	nses	(%)		Ind	ividual			Crir	ninal	
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 25%	0 0	2 50%	1 25%	4	3.5	4.0	4	23	4.5	4.8	10
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	0 0	0	3 75%	4	4.0	4.8	5	23	4.7	4.9	20
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0 0	1 25%	2 50%	4	3.8	4.5	4.5	23	4.7	4.9	10
Q4	My instructor provides material that helps me do well on assignments.	1 25%	0 0	1 25%	2 50%	4	3.8	4.5	4.5	23	4.6	4.8	10
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0 0	2 50%	1 25%	4	3.5	4.0	4	23	4.5	4.7	10
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0 0	2 50%	1 25%	4	3.5	4.0	4	23	4.6	4.8	10
Q7	My instructor establishes a climate of respect for students.	1 25%	0 0	3 75%	0	4	3.3	3.8	4	23	4.3	4.6	10
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	0 0	3 75%	0	4	3.3	3.8	4	23	4.5	4.7	10
Q9	My instructor encourages me to do my best work.	1 25%	0 0	2 50%	1 25%	4	3.5	4.0	4	23	4.4	4.7	20
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0 0	3 75%	0	4	3.3	3.8	4	23	4.4	4.7	10
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0 0	2 50%	1 25%	4	3.5	4.0	4	23	4.4	4.7	10
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	0 0	2 50%	1 25%	4	3.5	4.0	4	23	4.5	4.7	10
Q13	My instructor encourages me to develop new viewpoints.	1 25%	0 0	2 50%	1 25%	4	3.5	4.0	4	23	4.5	4.7	10
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0 0	1 25%	2 50%	4	3.8	4.5	4.5	23	4.6	4.9	10

				C	JUS - 3	610	- 030			Survey Comparisons						
Labs and Online Learning Questions		Res	pon	ses (%)			Co	ourse			A	I				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	270	4.5	4.8	34			
Q16 The course topics are organized in a coherent fashion.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	386	4.5	4.8	26			

Course:	CJUS - 4500 030 - Administration of Criminal Justice Agencies	Department:	Criminal J
Responsible Faculty:	Richard Holden	Responses / Expected:	4 / 27 (14.81%)

					Ri	chard Ho	lden				Survey Co	mpariso	ns
Cou	se Evaluation Questions	Responses (%) Individual SD D N A SA N Mean Grp Med Med									Crir	ninal	
		SD	D	N	A	SA N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75% 4	4.8	4.8	5	23	4.5	4.8	30
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75% 4	4.8	4.8	5	23	4.7	4.9	20
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75% 4	4.8	4.8	5	23	4.7	4.9	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75% 4	4.8	4.8	5	23	4.6	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75% 4	4.8	4.8	5	23	4.5	4.7	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50% 4	4.5	4.5	4.5	23	4.6	4.8	30
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50% 4	4.3	4.5	4.5	23	4.3	4.6	30
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	1 25%	2 50% 4	4.3	4.5	4.5	23	4.5	4.7	30
Q9	My instructor encourages me to do my best work.	0	0	1 25%	2 50%	1 25% 4	4.0	4.0	4	23	4.4	4.7	20
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50% 4	4.5	4.5	4.5	23	4.4	4.7	30
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50% 4	4.5	4.5	4.5	23	4.4	4.7	30
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 75%	1 25% 4	4.3	4.2	4	23	4.5	4.7	30
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50% 4	4.5	4.5	4.5	23	4.5	4.7	30
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75% 4	4.8	4.8	5	23	4.6	4.9	30

				С	JUS - 4	500	- 030			Survey Comparisons						
Labs and Online Learning Questions		R	espo	nses (%)			Co	ourse			А	JI .				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	270	4.5	4.8	19			
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	386	4.5	4.8	63			

Course: CJUS - 4901 030 - Senior Seminar: Criminal Justice and Public Policy

Responsible Faculty: Richard Holden

Responses / Expected: 5 / 18 (27.78%)

					Richar	d Ho	olden				Survey Co	mpariso	ns
Cour	se Evaluation Questions	Responses (%)					Ind	ividual			Crir	ninal	
		SD E	N	Δ	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 (0	0	5 100%	5	5.0	5.0	5	23	4.5	4.8	90
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	0	0	5 100%	5	5.0	5.0	5	23	4.7	4.9	80
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 (0	0	5 100%	5	5.0	5.0	5	23	4.7	4.9	80
Q4	My instructor provides material that helps me do well on assignments.	0 0	0	0	5 100%	5	5.0	5.0	5	23	4.6	4.8	90
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	0	1 20	4 80%	5	4.8	4.9	5	23	4.5	4.7	80
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	0	0	5 100%	5	5.0	5.0	5	23	4.6	4.8	90
Q7	My instructor establishes a climate of respect for students.	0 0	0	1 20	4 80%	5	4.8	4.9	5	23	4.3	4.6	80
Q8	My instructor is available to me on matters pertaining to the course.	0 (0	1 20	4 % 80%	5	4.8	4.9	5	23	4.5	4.7	60
Q9	My instructor encourages me to do my best work.	0 0	0	1 20	4 80%	5	4.8	4.9	5	23	4.4	4.7	70
Q10	My instructor provides timely feedback to guide my progress.	0 0	0	1 20	4 80%	5	4.8	4.9	5	23	4.4	4.7	70
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	0	0	5 100%	5	5.0	5.0	5	23	4.4	4.7	90
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	0	1 20	4 % 80%	5	4.8	4.9	5	23	4.5	4.7	70
Q13	My instructor encourages me to develop new viewpoints.	0 0	0	0	5 100%	5	5.0	5.0	5	23	4.5	4.7	90
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	0	0	5 100%	5	5.0	5.0	5	23	4.6	4.9	90

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					CJUS -	490	1 - 030				- Survey Cor	nparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	270	4.5	4.8	87
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	386	4.5	4.8	91

Course:	COMM - 1010 031 - Introduction to Communication	Department:	COMMTECH
Responsible Faculty:	Dr. Glenda Balas	Responses / Expected:	2 / 17 (11.76%)

					G	lenda	Bal	as				Survey C	ompariso	ns
Cour	se Evaluation Questions		Re	spon	ses (%)			Indi	vidual			сом	МТЕСН	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0	4.0	4	9	4.3	4.6	33
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.8	4.9	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	9	4.6	4.6	33
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.7	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0	4.0	4	9	4.3	4.6	33
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	9	4.1	4.3	17
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.8	4.9	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	9	4.4	4.6	33
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.4	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.3	4.8	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.8	4.9	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.6	4.6	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.4	4.6	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.4	4.8	50

				CC	мм -	101	0 - 031				- Survey Con	nparisons	
Labs and Online Learning Questions		Re	espo	nses (%)			Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	270	4.5	4.8	19
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	4.0	4	386	4.5	4.8	11

Course:	COMM - 3352 030 - Intercultural Communication	Department:	COMMTECH
Responsible Faculty:	Sara Holmes	Responses / Expected:	6 / 27 (22.22%)

					Sara H	lolmes						Survey Co	omparis	ons
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			сом	МТЕСН	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	9	4.3	4.6	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0	5.0	5	9	4.8	4.9	83
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	9	4.6	4.6	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	9	4.7	4.8	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	9	4.3	4.6	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	9	4.1	4.3	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0	5.0	5	9	4.8	4.9	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	9	4.4	4.6	83
Q9	My instructor encourages me to do my best work.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	9	4.4	4.8	83
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	0	0	0	5 83.3%	6	4.3	4.9	5	9	4.3	4.8	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	5.0	5	9	4.8	4.9	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	9	4.6	4.6	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	9	4.4	4.6	83
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	9	4.4	4.8	83

						сомм	- 335	52 - 030				- Survey Cor	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	5.0	5	386	4.5	4.8	91

Course:	COUN - 5490 001 - Crisis Intervention Counseling	Department:	SEHSD
Responsible Faculty:	Deborah Cain	Responses / Expected:	7 / 15 (46.67%)

					Debora	ah Cain					;	Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 14.3%	1 14.3%	1 14.3%	4 57.1%	7	4.1	4.6	5	31	3.9	4.3	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	1 14.3%	1 14.3%	4 57.1%	7	4.1	4.6	5	31	3.9	4.5	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	1 14.3%	0	1 14.3%	4 57.1%	7	3.9	4.6	5	31	4.0	4.5	58
Q4	My instructor provides material that helps me do well on assignments.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1	4.6	5	31	4.1	4.5	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	31	3.9	4.2	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	31	3.7	4.3	75
Q7	My instructor establishes a climate of respect for students.	0	2 28.6%	0	1 14.3%	4 57.1%	7	4.0	4.6	5	31	4.4	4.7	25
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	1 14.3%	1 14.3%	0	4 57.1%	7	3.7	4.6	5	31	3.9	4.4	75
Q9	My instructor encourages me to do my best work.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3	4.6	5	31	4.2	4.6	42
Q10	My instructor provides timely feedback to guide my progress.	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	31	3.7	4.3	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	31	4.2	4.6	58
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1	4.6	5	31	4.1	4.6	58
Q13	My instructor encourages me to develop new viewpoints.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	31	4.2	4.6	58
Q14	My instructor made the subject interesting and motivated me to learn.	2 28.6%	0	0	1 14.3%	4 57.1%	7	3.7	4.6	5	31	4.0	4.5	58

					CC	UN - 54	190 -	001				Survey Co	nparisons	
Lab	s and Online Learning Questions		Res	pons	es (%)			C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	270	4.5	4.8	34
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	386	4.5	4.8	45

Course:	COUN - 5490 042 - Crisis Intervention Counseling	Department:	SEHSD
Responsible Faculty:	Yu-fen Lin	Responses / Expected:	11 / 14 (78.57%)

					Yu	-fen Lin						Survey Co	ompariso	ons
Cour	se Evaluation Questions		Re	esponse	s (%)			Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 9.1%	1 9.1%	4 36.4%	5 45.5%	11	4.2	4.4	4	31	3.9	4.3	58
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 9.1%	1 9.1%	2 18.2%	2 18.2%	5 45.5%	11	3.8	4.3	4	31	3.9	4.5	42
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1	4.4	4	31	4.0	4.5	42
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 18.2%	3 27.3%	6 54.5%	11	4.4	4.6	5	31	4.1	4.5	58
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 9.1%	3 27.3%	2 18.2%	5 45.5%	11	4.0	4.3	4	31	3.9	4.2	58
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	1 9.1%	1 9.1%	3 27.3%	5 45.5%	11	3.9	4.3	4	31	3.7	4.3	58
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6	4.8	5	31	4.4	4.7	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4	4.4	4	31	3.9	4.4	58
Q9	My instructor encourages me to do my best work.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	31	4.2	4.6	25
Q10	My instructor provides timely feedback to guide my progress.	1 9.1%	0	2 18.2%	3 27.3%	5 45.5%	11	4.0	4.3	4	31	3.7	4.3	58
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	31	4.2	4.6	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 18.2%	2 18.2%	7 63.6%	11	4.5	4.7	5	31	4.1	4.6	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 18.2%	2 18.2%	7 63.6%	11	4.5	4.7	5	31	4.2	4.6	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 18.2%	3 27.3%	6 54.5%	11	4.4	4.6	5	31	4.0	4.5	42

				(COUN - 54	90 -	042				Survey Con	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	270	4.5	4.8	67
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	386	4.5	4.8	67

Course:	ECON - 1110 001 - Principles of Macroeconomics	Department:	BUSI
Responsible Faculty:	Michael Lansing	Responses / Expected:	2 / 10 (20%)

					N	/lichae	el La	nsing			8	Survey Cor	nparisor	ıs
Cou	se Evaluation Questions		Res	poi	nses (%)		Indi	ividual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.5	4.7	23
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.6	4.8	20
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.6	4.8	23
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	115	4.6	4.8	23
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.6	4.8	27
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.6	4.8	33
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.7	4.9	23
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.7	4.8	17
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	115	4.7	4.8	20
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.7	4.8	23
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.6	4.8	23
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.6	4.8	20
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.5	4.7	27
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	116	4.6	4.8	33

						ECON -	1110	0 - 001				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		Re	spor	ıses (%)		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	270	4.5	4.8	34
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	386	4.5	4.8	26

Course:	EDBE - 3480 001 - Bilingualism and Multiculturism for English Language Learnin	Department:	SEHSTE
Responsible Faculty:	Patricia Sosa-Sanchez	Responses / Expected:	9 / 19 (47.37%)

					Patrici	a Sosa-	San	chez				Survey Co	mpariso	ns
Cour	se Evaluation Questions		F	espor	ıses (%))		Indi	ividual			SEH	ISTE	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	69	4.5	4.7	61
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.5	4.8	61
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.6	4.8	78
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	69	4.5	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	69	4.4	4.7	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.5	4.8	67
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.7	4.8	78
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.5	4.8	72
Q9	My instructor encourages me to do my best work.	0	0 .	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	69	4.5	4.7	72
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	69	4.4	4.7	39
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.7	4.8	78
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.6	4.8	78
Q13	My instructor encourages me to develop new viewpoints.	0	0 .	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	69	4.5	4.7	78
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.6	4.8	61

					ED	BE - 3480	- 00	01				Survey Con	nparisons	
L	Labs and Online Learning Questions			Respo	onses (%)			Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
c	Q15 The section or lab is well integrated into the course structure.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	270	4.5	4.8	41
C	Q16 The course topics are organized in a coherent fashion.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	386	4.5	4.8	38

Course:	EDRE - 4450 020 - Reading and Writing, Birth through Grade 6	Department:	SEHSTE
Responsible Faculty:	Alyssa McDowell	Responses / Expected:	9 / 9 (100%)

					Alys	sa McD	ow	ell				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Respor	ıses (%)			Indi	ividual			SEI	ISTE		
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.5	4.7	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	0	8 88.9%	9	4.8	4.9	5	69	4.5	4.8	72
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.6	4.8	78
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	9 100%	9	5.0	5.0	5	69	4.5	4.8	89
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.4	4.7	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.5	4.8	67
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.7	4.8	78
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	9 100%	9	5.0	5.0	5	69	4.5	4.8	89
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.5	4.7	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.4	4.7	72
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.7	4.8	78
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	69	4.6	4.8	78
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	69	4.5	4.7	78
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	9 100%	9	5.0	5.0	5	69	4.6	4.8	89

						EDRE - 44	50 -	020				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	386	4.5	4.8	76

Course:	EDRE - 4840 020 - Linguistically Diverse Learners	Department:	SEHSTE
Responsible Faculty:	Paula Mason	Responses / Expected:	3 / 14 (21.43%)

						Paul	la M	lason				Survey Co	mpariso	ns
Cour	se Evaluation Questions	F	Res	por	ıse	es (%)		Indi	vidual			SEI	ISTE	
		SD	D	N	Δ	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.5	4.7	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.5	4.8	89
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.6	4.8	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.5	4.8	89
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.4	4.7	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.5	4.8	94
Q7	My instructor establishes a climate of respect for students.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.7	4.8	94
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.5	4.8	89
Q9	My instructor encourages me to do my best work.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.5	4.7	94
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.4	4.7	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.7	4.8	94
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.6	4.8	94
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.5	4.7	94
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	C	3 100%	3	5.0	5.0	5	69	4.6	4.8	89

						EDRE -	4840	0 - 020				- Survey Cor	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	386	4.5	4.8	91

Course:	EDRE - 4850 020 - Assessment and Evaluation of Reading	Department:	SEHSTE
Responsible Faculty:	Cynthia Rodriguez	Responses / Expected:	13 / 30 (43.33%)

					Cy	nthia R	odri	guez				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	spoi	nses ('	%)		Indi	vidual			SEI	ISTE	
		SD	D I	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 (0 3	5 38.5%	8 61.5%	13	4.6	4.7	5	69	4.5	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 (0 3	4 30.8%	9 69.2%	13	4.7	4.8	5	69	4.5	4.8	39
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0 (0 2	3 23.1%	10 76.9%	13	4.8	4.9	5	69	4.6	4.8	61
Q4	My instructor provides material that helps me do well on assignments.	0	0 (0 2	3 23.1%	10 76.9%	13	4.8	4.9	5	69	4.5	4.8	61
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 (0 2	3 23.1%	10 76.9%	13	4.8	4.9	5	69	4.4	4.7	72
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 (0 2	3 23.1%	10 76.9%	13	4.8	4.9	5	69	4.5	4.8	50
Q7	My instructor establishes a climate of respect for students.	0	0 (0 3	4 30.8%	9 69.2%	13	4.7	4.8	5	69	4.7	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0 (0 3	4 30.8%	9 69.2%	13	4.7	4.8	5	69	4.5	4.8	50
Q9	My instructor encourages me to do my best work.	0	0 (0 3	4 30.8%	9 69.2%	13	4.7	4.8	5	69	4.5	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0 (0 3	5 38.5%	8 61.5%	13	4.6	4.7	5	69	4.4	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 (0 2	3 23.1%	10 76.9%	13	4.8	4.9	5	69	4.7	4.8	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 (0 3	4 30.8%	9 69.2%	13	4.7	4.8	5	69	4.6	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	0	0 (0 3	4 30.8%	9 69.2%	13	4.7	4.8	5	69	4.5	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 (0 2	3 23.1%	10 76.9%	13	4.8	4.9	5	69	4.6	4.8	50

					EDRE - 48	350 - 0)20				Survey Cor	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		Co	urse			Α	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	9 100%	9	5.0	5.0	5	270	4.5	4.8	87
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 15.4%	11 84.6%	13	4.8	4.9	5	386	4.5	4.8	72

Course:	EDRE - 4850 021 - Assessment and Evaluation of Reading	Department:	SEHSTE
Responsible Faculty:	Cynthia Rodriguez	Responses / Expected:	6 / 26 (23.08%)

					Cynthia	a Rodrig	uez	Z			;	Survey Co	mpariso	ons
Cour	se Evaluation Questions	Cynthia Rodrigu Responses (%)						Indi	ividual			SEI	ISTE	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	69	4.5	4.7	39
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	69	4.5	4.8	28
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	69	4.6	4.8	33
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	69	4.5	4.8	39
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	69	4.4	4.7	39
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	69	4.5	4.8	28
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	69	4.7	4.8	17
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	69	4.5	4.8	17
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	69	4.5	4.7	39
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	69	4.4	4.7	28
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	69	4.7	4.8	28
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	69	4.6	4.8	39
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	69	4.5	4.7	39
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	69	4.6	4.8	39

					EDRE	- 4850 - 0)21					Survey Cor	nparisons	;
Labs	and Online Learning Questions		Re	espons	es (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	270	4.5	4.8	19
Q16	The course topics are organized in a coherent fashion.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	386	4.5	4.8	45

Course:	EDRE - 5070 020 - Literacy Development for English Language Learners	Department:	SEHSTE
Responsible Faculty:	Cynthia Rodriguez	Responses / Expected:	2 / 9 (22.22%)

				(Cynthi	a Rod	rigu	iez				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	onses	(%)			Indi	ividual			SEH	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 50%	0	1 50%	0	0	2	2.0	2.0	2	69	4.5	4.7	6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 100%	0	0	0	0	2	1.0	1.0	1	69	4.5	4.8	6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	69	4.6	4.8	6
Q4	My instructor provides material that helps me do well on assignments.	0	1 50%	1 50%	0	0	2	2.5	2.5	2.5	69	4.5	4.8	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 100%	0	0	0	0	2	1.0	1.0	1	69	4.4	4.7	6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 100%	0	0	0	0	2	1.0	1.0	1	69	4.5	4.8	6
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	69	4.7	4.8	6
Q8	My instructor is available to me on matters pertaining to the course.	2 100%	0	0	0	0	2	1.0	1.0	1	69	4.5	4.8	6
Q9	My instructor encourages me to do my best work.	1 50%	0	1 50%	0	0	2	2.0	2.0	2	69	4.5	4.7	6
Q10	My instructor provides timely feedback to guide my progress.	2 100%	0	0	0	0	2	1.0	1.0	1	69	4.4	4.7	6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	69	4.7	4.8	6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	69	4.6	4.8	28
Q13	My instructor encourages me to develop new viewpoints.	0	1 50%	1 50%	0	0	2	2.5	2.5	2.5	69	4.5	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	1 50%	0	1 50%	0	0	2	2.0	2.0	2	69	4.6	4.8	6

				E	RE -	5070	0 - 020				- Survey Con	nparisons	
Labs and Online Learning Questions		Respons	ses ((%)			Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	270	4.5	4.8	-
Q16 The course topics are organized in a coherent fashion.	0	1 100%	0	0	0	1	2.0	2.0	2	386	4.5	4.8	2

Course:	FINA - 3770 010 - Finance	Department:	BUSI
Responsible Faculty:	Mujtaba Zia	Responses / Expected:	12 / 13 (92.31%)

		Responses		N	lujtaba	Zia				S	urvey Coi	mpariso	ns	
Cour	se Evaluation Questions	Responses (%)						Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5	4.6	5	116	4.5	4.7	43
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5	4.6	5	116	4.6	4.8	30
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	116	4.6	4.8	47
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	115	4.6	4.8	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	116	4.6	4.8	47
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	116	4.6	4.8	50
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	116	4.7	4.9	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	116	4.7	4.8	43
Q9	My instructor encourages me to do my best work.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	115	4.7	4.8	70
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	4.9	5	116	4.7	4.8	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	116	4.6	4.8	57
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5	4.6	5	116	4.6	4.8	37
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 16.7%	3 25%	7 58.3%	12	4.4	4.6	5	116	4.5	4.7	43
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6	4.8	5	116	4.6	4.8	53

					FI	NA - 37	70 - C	10				Survey Cor	nparisons	
Labs	and Online Learning Questions		Resp	onse	es (%)			Co	urse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	270	4.5	4.8	34
Q16	The course topics are organized in a coherent fashion.	1 10%	1 10%	0	2 20%	6 60%	10	4.1	4.7	5	386	4.5	4.8	45

Course:	FINA - 4200 010 - Investments	Department:	BUSI
Responsible Faculty:	Mujtaba Zia	Responses / Expected:	7 / 7 (100%)

					N	lujtaba :	Zia				S	urvey Co	mpariso	ns
Cou	se Evaluation Questions	Responses (%)						Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	116	4.5	4.7	37
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	116	4.6	4.8	77
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	116	4.6	4.8	37
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	115	4.6	4.8	37
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	116	4.6	4.8	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	116	4.6	4.8	23
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	116	4.7	4.9	40
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	116	4.7	4.8	30
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	115	4.7	4.8	30
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	116	4.7	4.8	37
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	116	4.6	4.8	37
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	116	4.6	4.8	30
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1	4.3	4	116	4.5	4.7	17
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	116	4.6	4.8	20

						FINA - 42	00 -	010				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	270	4.5	4.8	61
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	386	4.5	4.8	38

Course:	GEOG - 1710 030 - Earth Science	Department:	LIFESCI
Responsible Faculty:	Donna Hamilton	Responses / Expected:	6 / 23 (26.09%)

					Donna H	lamilto	n				;	Survey Co	mparisc	ons
Cour	se Evaluation Questions		Responses (%)					Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	3 50%	2 33.3%	1 16.7%	6	3.7	3.5	3.5	93	4.2	4.6	4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	94	4.4	4.7	14
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	94	4.4	4.7	4
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	94	4.4	4.7	21
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 50%	1 16.7%	2 33.3%	6	3.8	3.5	3.5	94	4.2	4.7	4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7	4.0	4	94	4.2	4.7	14
Q7	My instructor establishes a climate of respect for students.	0	1 16.7%	1 16.7%	0	4 66.7%	6	4.2	4.8	5	93	4.4	4.8	57
Q8	My instructor is available to me on matters pertaining to the course.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	94	4.4	4.8	11
Q9	My instructor encourages me to do my best work.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7	4.0	4	94	4.4	4.8	11
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	1 16.7%	0	4 66.7%	6	4.2	4.8	5	94	4.3	4.7	57
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	93	4.4	4.8	18
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	94	4.3	4.7	14
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	94	4.3	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	94	4.2	4.7	25

					GEOG -	1710 - (030					Survey Cor	nparisons	;
Labs	and Online Learning Questions		R	esponses	(%)			Course				Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	270	4.5	4.8	34
Q16	The course topics are organized in a coherent fashion.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	386	4.5	4.8	26

Course:	GEOG - 1710 330 - Earth Science	Department:	LIFESCI
Responsible Faculty:	Donna Hamilton	Responses / Expected:	5 / 23 (21.74%)

					Do	nna Hai	nilto	on				Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	espon	ses (%)		Indiv	idual			LIF	ESCI	
		SD	D	N	A	SA N	ı		Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 40%	2 40%	1 20%	5	3.8	3.8	4	93	4.2	4.6	11
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	94	4.4	4.7	68
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	0	4 80%	;	4.6	4.9	5	94	4.4	4.7	68
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	94	4.4	4.7	46
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 40%	2 40%	1 20%	;	3.8	3.8	4	94	4.2	4.7	11
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	94	4.2	4.7	32
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	93	4.4	4.8	29
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	1 20%	3 60%	;	4.4	4.7	5	94	4.4	4.8	32
Q9	My instructor encourages me to do my best work.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	94	4.4	4.8	25
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	94	4.3	4.7	39
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	93	4.4	4.8	43
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	94	4.3	4.7	39
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	94	4.3	4.7	54
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	94	4.2	4.7	18

				GE	OG - 17	10 -	330				Survey Con	nparisons	
Labs and Online Learning Questions		Re	espons	es (%)			C	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	270	4.5	4.8	41
Q16 The course topics are organized in a coherent fashion.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	386	4.5	4.8	45

Course:	HMGT - 4120 010 - Special Events and Meeting Planning	Department:	BUSI
Responsible Faculty:	Michael Lansing	Responses / Expected:	6 / 28 (21.43%)

					N	1ichael I	an	sing			S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			BU	ISI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	116	4.5	4.7	23
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	116	4.6	4.8	37
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	116	4.6	4.8	47
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	115	4.6	4.8	43
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.6	4.8	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.6	4.8	70
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.7	4.9	60
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.7	4.8	67
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	115	4.7	4.8	57
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.7	4.8	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.6	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.6	4.8	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.5	4.7	87
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.6	4.8	77

					ŀ	HMGT - 41	120 -	010				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	270	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	386	4.5	4.8	69

Summer 2020 5wk II Survey 6203 - Summer 2020 - 5W2

University of North Texas at Dallas UNT-Dallas

Course:	HMGT - 4399 001 - Hospitality Internship	Department:	BUSI
Responsible Faculty:	William Ingram	Responses / Expected:	1 / 3 (33.33%)

						Willia	ım I	ngram			5	Survey Co	mpariso	ns
Cour	se Evaluation Questions	F	Res	por	ıse	es (%)		Indi	vidual			BL	ISI	
		SD	D	N	Δ	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.5	4.7	97
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.6	4.8	97
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.6	4.8	93
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	C	1 100%	1	5.0	5.0	5	115	4.6	4.8	93
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.6	4.8	97
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.6	4.8	97
Q7	My instructor establishes a climate of respect for students.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.7	4.9	97
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.7	4.8	93
Q9	My instructor encourages me to do my best work.	0	0	0	C	1 100%	1	5.0	5.0	5	115	4.7	4.8	93
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.7	4.8	97
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.6	4.8	93
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.6	4.8	97
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	C	1 100%	1	5.0	5.0	5	116	4.5	4.7	97
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	С	1 100%	1	5.0	5.0	5	116	4.6	4.8	93

Course:	HSML - 4500 040 - Diversity and Social Justice in Human Services	Department:	SEHSD
Responsible Faculty:	Keilah Jacques	Responses / Expected:	4 / 14 (28.57%)

					Ke	eilah Ja	acq	ues				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Re	spons	es (%)		Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 25%	0	1 25%	1 25%	1 25%	4	3.3	3.5	3.5	31	3.9	4.3	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	31	3.9	4.5	58
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	2 50%	1 25%	4	3.5	4.0	4	31	4.0	4.5	17
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	31	4.1	4.5	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 50%	1 25%	1 25%	4	3.8	3.5	3.5	31	3.9	4.2	42
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 50%	0	1 25%	0	1 25%	4	2.5	2.0	2	31	3.7	4.3	8
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	31	4.4	4.7	92
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	31	3.9	4.4	33
Q9	My instructor encourages me to do my best work.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	31	4.2	4.6	92
Q10	My instructor provides timely feedback to guide my progress.	2 50%	0	0	1 25%	1 25%	4	2.8	2.5	2.5	31	3.7	4.3	8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	31	4.2	4.6	42
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	31	4.1	4.6	42
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	31	4.2	4.6	42
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	2 50%	1 25%	4	3.5	4.0	4	31	4.0	4.5	25

				HSML	- 4500	- 04	10				Survey Cor	nparisons	;
Labs and Online Learning Questions		Resp	onse	s (%)			C	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	1 33.3%	0	2 66.7%	0	3	3.3	3.8	4	270	4.5	4.8	11
Q16 The course topics are organized in a coherent fashion.	1 25%	1 25%	0	1 25%	1 25%	4	3.0	3.0	3	386	4.5	4.8	5

Course:	KINE - 3551 021 - Physical and Health Literacy	Department:	SEHSTE
Responsible Faculty:	Deborah Harris	Responses / Expected:	13 / 29 (44.83%)

					Debor	ah Harr	is				;	Survey Co	mpariso	ons
Cour	se Evaluation Questions		Re	sponses	s (%)			Indi	vidual			SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 7.7%	0	3 23.1%	4 30.8%	5 38.5%	13	3.9	4.1	4	69	4.5	4.7	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.7%	0	4 30.8%	3 23.1%	5 38.5%	13	3.8	4.0	4	69	4.5	4.8	17
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 7.7%	2 15.4%	4 30.8%	6 46.2%	13	4.2	4.4	4	69	4.6	4.8	17
Q4	My instructor provides material that helps me do well on assignments.	1 7.7%	0	2 15.4%	5 38.5%	5 38.5%	13	4.0	4.2	4	69	4.5	4.8	28
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.7%	1 7.7%	2 15.4%	4 30.8%	5 38.5%	13	3.8	4.1	4	69	4.4	4.7	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.7%	0	2 15.4%	4 30.8%	6 46.2%	13	4.1	4.4	4	69	4.5	4.8	17
Q7	My instructor establishes a climate of respect for students.	0	0	2 15.4%	4 30.8%	7 53.8%	13	4.4	4.6	5	69	4.7	4.8	28
Q8	My instructor is available to me on matters pertaining to the course.	0	1 7.7%	2 15.4%	3 23.1%	7 53.8%	13	4.2	4.6	5	69	4.5	4.8	28
Q9	My instructor encourages me to do my best work.	1 7.7%	0	1 7.7%	5 38.5%	6 46.2%	13	4.2	4.4	4	69	4.5	4.7	28
Q10	My instructor provides timely feedback to guide my progress.	1 7.7%	2 15.4%	1 7.7%	3 23.1%	6 46.2%	13	3.8	4.3	4	69	4.4	4.7	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 23.1%	4 30.8%	6 46.2%	13	4.2	4.4	4	69	4.7	4.8	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 7.7%	2 15.4%	4 30.8%	6 46.2%	13	4.2	4.4	4	69	4.6	4.8	17
Q13	My instructor encourages me to develop new viewpoints.	0	1 7.7%	2 15.4%	4 30.8%	6 46.2%	13	4.2	4.4	4	69	4.5	4.7	28
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.7%	1 7.7%	2 15.4%	3 23.1%	6 46.2%	13	3.9	4.3	4	69	4.6	4.8	28

					KINE -	3551 -	021					Survey Cor	nparisons	;
Lab	and Online Learning Questions		F	Responses	s (%)			Co	urse			Α	II	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 20%	0	2 40%	1 20%	1 20%	5	3.2	3.3	3	270	4.5	4.8	8
Q16	The course topics are organized in a coherent fashion.	2 16.7%	0	2 16.7%	2 16.7%	6 50%	12	3.8	4.5	4.5	386	4.5	4.8	26

Course:	KINE - 3551 022 - Physical and Health Literacy	Department:	SEHSTE
Responsible Faculty:	Mychelle Smith	Responses / Expected:	11 / 24 (45.83%)

					M	chelle :	Smi	th				Survey Co	mpariso	ns
Cou	se Evaluation Questions			Respo	nses (%)		Indi	vidual			SEH	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	69	4.5	4.7	72
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	69	4.5	4.8	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	69	4.6	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	69	4.5	4.8	72
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	69	4.4	4.7	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	69	4.5	4.8	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	69	4.7	4.8	61
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	69	4.5	4.8	61
Q9	My instructor encourages me to do my best work.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	69	4.5	4.7	61
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	69	4.4	4.7	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7	4.9	5	69	4.7	4.8	61
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	69	4.6	4.8	61
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	69	4.5	4.7	61
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	69	4.6	4.8	72

		KINE - 3551 - 022 Surve															
Labs	Labs and Online Learning Questions		Responses (%) Course									All					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	270	4.5	4.8	87			
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	386	4.5	4.8	79			

Course:	LING - 2050 021 - The Language of Now : Pop Culture, Technology, and Society	Department:	SEHSTE
Responsible Faculty:	Marylynn Patton	Responses / Expected:	3 / 7 (42.86%)

					Mary	lynn Pa	ttor	1				Survey Co	mpariso	risons							
Cour	se Evaluation Questions		R	espons	es (%)			Indi	ividual			SE	ISTE								
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk							
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	69	4.5	4.7	28							
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	69	4.5	4.8	89							
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	69	4.6	4.8	33							
Q4	My instructor provides material that helps me do well on assignments.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	69	4.5	4.8	17							
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	69	4.4	4.7	28							
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	69	4.5	4.8	39							
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	69	4.7	4.8	39							
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	69	4.5	4.8	39							
Q9	My instructor encourages me to do my best work.	1 33.3%	0	0	2 66.7%	0	3	3.0	3.8	4	69	4.5	4.7	17							
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	69	4.4	4.7	61							
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	69	4.7	4.8	39							
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	69	4.6	4.8	6							
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 100%	0	3	4.0	4.0	4	69	4.5	4.7	17							
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	69	4.6	4.8	17							

Labs and Online Learning Questions				L	ING - 2	050		Survey Comparisons					
		R	espo	nses (%)			C	ourse					
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	270	4.5	4.8	19
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	386	4.5	4.8	26

Course:	MATH - 1353 001 - Geometry and Measurements for Teachers	Department:	MATHIS
Responsible Faculty:	Gwendolyn Johnson	Responses / Expected:	17 / 32 (53.13%)

					G	wendoly	n Jo	hnson				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Re	espo	nses	(%)		Indi	vidual			MA	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	17 100%	17	5.0	5.0	5	20	4.9	5.0	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q9	My instructor encourages me to do my best work.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 5.9%	16 94.1%	17	4.9	5.0	5	20	5.0	5.0	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	17 100%	17	5.0	5.0	5	20	5.0	5.0	50

Labs and Online Learning Questions					MATH	- 135	3 - 001		Survey Comparisons					
		Res	pon	ses	(%)		Co	urse		All				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	10 100%	10	5.0	5.0	5	270	4.5	4.8	87	
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	15 100%	15	5.0	5.0	5	386	4.5	4.8	91	

Course:	MATH - 1680 031 - Elementary Probability and Statistics	Department:	MATHIS
Responsible Faculty:	Byungik Kahng	Responses / Expected:	3 / 7 (42.86%)

					ı	Byungik	Kal	hng				Survey Co	vey Comparisons										
Cour	se Evaluation Questions		Re	sponse	es (%)		Indi	vidual		MATHIS												
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk									
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	20	4.9	5.0	25									
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	75									
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	20	5.0	5.0	50									

Labs and Online Learning Questions		MATH - 1680 - 031 Survey Comparisons											
		Res	pon	ses	(%)		Course All						
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	270	4.5	4.8	87
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	386	4.5	4.8	91

Course:	MGMT - 3720 010 - Organizational Behavior	Department:	BUSI
Responsible Faculty:	William Ingram	Responses / Expected:	1 / 21 (4.76%)

					Will	iam I	ngr	am			S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		Re	espons	es (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.5	4.7	7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.6	4.8	3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.6	4.8	3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0	4.0	4	115	4.6	4.8	3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.6	4.8	3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.6	4.8	7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.7	4.9	3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 100%	0	0	1	3.0	3.0	3	116	4.7	4.8	3
Q9	My instructor encourages me to do my best work.	0	0	1 100%	0	0	1	3.0	3.0	3	115	4.7	4.8	3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.7	4.8	3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 100%	0	0	1	3.0	3.0	3	116	4.6	4.8	3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.6	4.8	3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.5	4.7	10
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	116	4.6	4.8	10

					N	1GMT - 3	720	- 010				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		F	Resp	onses (%))		Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	4.0	4	386	4.5	4.8	11

Course:	MGMT - 3720 011 - Organizational Behavior	Department:	BUSI
Responsible Faculty:	William Ingram	Responses / Expected:	6 / 26 (23.08%)

					Wil	liam Ing	gran	n			S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		ı	Respon	ses (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	116	4.5	4.7	63
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	116	4.6	4.8	70
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	116	4.6	4.8	93
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	115	4.6	4.8	70
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.6	4.8	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.6	4.8	70
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	116	4.7	4.9	60
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.7	4.8	67
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	115	4.7	4.8	43
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.7	4.8	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	116	4.6	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	116	4.6	4.8	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	116	4.5	4.7	87
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	116	4.6	4.8	93

					N	исмт -	372	0 - 011				- Survey Cor	nparisons	
Labs	and Online Learning Questions		Re	spor	ıses (%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	270	4.5	4.8	61
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	386	4.5	4.8	45

Course:	MGMT - 3850 010 - Foundations of Entrepreneurship	Department:	BUSI
Responsible Faculty:	Isaura Flores	Responses / Expected:	14 / 30 (46.67%)

					Isa	ura Flo	res				s	urvey Co	npariso	ns
Cour	se Evaluation Questions		R	espon	ses (%)			Indi	vidual			BU	SI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4	4.7	5	116	4.5	4.7	57
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	4.8	5	116	4.6	4.8	43
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	4.8	5	116	4.6	4.8	57
Q4	My instructor provides material that helps me do well on assignments.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	4.8	5	115	4.6	4.8	57
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4	4.7	5	116	4.6	4.8	37
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	4.8	5	116	4.6	4.8	43
Q7	My instructor establishes a climate of respect for students.	1 7.1%	0	1 7.1%	2 14.3%	10 71.4%	14	4.4	4.8	5	116	4.7	4.9	40
Q8	My instructor is available to me on matters pertaining to the course.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	4.8	5	116	4.7	4.8	50
Q9	My instructor encourages me to do my best work.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6	4.9	5	115	4.7	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	116	4.7	4.8	43
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	116	4.6	4.8	43
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	116	4.6	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	1 7.1%	0	2 14.3%	3 21.4%	8 57.1%	14	4.2	4.6	5	116	4.5	4.7	37
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	116	4.6	4.8	43

					М	3MT - 385	50 - 0	10				Survey Cor	nparisons	;
Lab	and Online Learning Questions		Re	espo	nses (%)			Co	urse			Α	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3	4.7	5	270	4.5	4.8	44
Q16	The course topics are organized in a coherent fashion.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3	4.6	5	386	4.5	4.8	34

Course:	MGMT - 3860 001 - Human Resource Management	Department:	BUSI
Responsible Faculty:	John Hubbard	Responses / Expected:	6 / 20 (30%)

					John F	lubbard					s	urvey Coi	npariso	ns
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 16.7%	1 16.7%	0	2 33.3%	2 33.3%	6	3.5	4.0	4	116	4.5	4.7	7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8	4.2	4	116	4.6	4.8	10
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	116	4.6	4.8	23
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	115	4.6	4.8	23
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8	4.2	4	116	4.6	4.8	10
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	0	4 66.7%	1 16.7%	6	3.7	4.0	4	116	4.6	4.8	7
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	116	4.7	4.9	23
Q8	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	116	4.7	4.8	17
Q9	My instructor encourages me to do my best work.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8	4.2	4	115	4.7	4.8	10
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	116	4.7	4.8	23
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	116	4.6	4.8	23
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8	4.2	4	116	4.6	4.8	10
Q13	My instructor encourages me to develop new viewpoints.	1 16.7%	0	1 16.7%	3 50%	1 16.7%	6	3.5	3.8	4	116	4.5	4.7	3
Q14	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	1 16.7%	3 50%	1 16.7%	6	3.5	3.8	4	116	4.6	4.8	3

					N	исмт - 3	860	- 001				Survey Co	nparisons	
Labs	and Online Learning Questions		Re	spor	ıses (%)		C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	386	4.5	4.8	45

Course:	MGMT - 3860 012 - Human Resource Management	Department:	BUSI
Responsible Faculty:	John Hubbard	Responses / Expected:	4 / 10 (40%)

					Joh	n Hub	bar	d			S	urvey Cor	npariso	ns
Cour	se Evaluation Questions		Res	ponse	s (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	116	4.5	4.7	23
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	116	4.6	4.8	20
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.6	4.8	23
Q4	My instructor provides material that helps me do well on assignments.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	115	4.6	4.8	23
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	116	4.6	4.8	27
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	116	4.6	4.8	33
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.7	4.9	23
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.7	4.8	17
Q9	My instructor encourages me to do my best work.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	115	4.7	4.8	20
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	116	4.7	4.8	23
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.6	4.8	23
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.6	4.8	20
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.5	4.7	27
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	116	4.6	4.8	33

					М	GMT - 3	3860	- 012				- Survey Cor	nparisons	
Lab	s and Online Learning Questions		Responses (%)					Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	270	4.5	4.8	19
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	386	4.5	4.8	26

Course:	PACS - 4050 001 - Negotiation and Dispute Resolution	Department:	SEHSD
Responsible Faculty:	Rhonda Wilkinson-Jaynes	Responses / Expected:	3 / 10 (30%)

				Rhon	ıda Wilk	inson-J	ayn	ies			;	Survey Co	mpariso	ons
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 33.3%	1 33.3%	0	0	1 33.3%	3	2.7	2.0	2	31	3.9	4.3	8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	31	3.9	4.5	17
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	31	4.0	4.5	17
Q4	My instructor provides material that helps me do well on assignments.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	31	4.1	4.5	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	31	3.9	4.2	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	31	3.7	4.3	33
Q7	My instructor establishes a climate of respect for students.	0	0	2 66.7%	0	1 33.3%	3	3.7	3.3	3	31	4.4	4.7	8
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	31	3.9	4.4	8
Q9	My instructor encourages me to do my best work.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	31	4.2	4.6	8
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	31	3.7	4.3	33
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	31	4.2	4.6	8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	31	4.1	4.6	17
Q13	My instructor encourages me to develop new viewpoints.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	31	4.2	4.6	8
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0	3.0	3	31	4.0	4.5	8

				PA	CS - 4050	- 0	01				Survey Cor	nparisons	;
Labs and Online Learning Questions		Re	spoi	nses (%)			С	ourse			Al	I	
	SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 100%	0	0	0	0	1	1.0	1.0	1	270	4.5	4.8	4
Q16 The course topics are organized in a coherent fashion.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	386	4.5	4.8	11

Course:	PACS - 4060 001 - Practicum in Mediation and Dispute Resolution	Department:	SEHSD
Responsible Faculty:	Victor Buchanon	Responses / Expected:	3 / 8 (37.50%)

					Victor	Buchar	non					Survey Co	mpariso	ons
Cour	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			SE	HSD	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	31	3.9	4.3	42
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	31	3.9	4.5	17
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	31	4.0	4.5	75
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	31	4.1	4.5	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	31	3.9	4.2	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	31	3.7	4.3	33
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	31	4.4	4.7	50
Q8	My instructor is available to me on matters pertaining to the course.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	31	3.9	4.4	33
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	31	4.2	4.6	67
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	31	3.7	4.3	33
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	31	4.2	4.6	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	31	4.1	4.6	17
Q13	My instructor encourages me to develop new viewpoints.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	31	4.2	4.6	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	31	4.0	4.5	83

					PAC	CS - 4060	- 00	1				Survey Cor	nparisons	:
Labs	and Online Learning Questions		Res	spon	ses (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 100%	0	0	0	1	2.0	2.0	2	270	4.5	4.8	5
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	386	4.5	4.8	11

Course:	PLDR - 5325 030 - PLDR Fundraising Principles & Grant Writing	Department:	PUBLDR
Responsible Faculty:	Janiece Upshaw	Responses / Expected:	5 / 13 (38.46%)

					Jar	niece Up	psh	aw				Survey C	ompariso	ons
Cour	se Evaluation Questions		Re	spons	ses (%))		Indi	ividual			PU	BLDR	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	8	4.4	4.3	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	8	4.6	4.7	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	8	4.4	4.3	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	8	4.4	4.3	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	8	4.4	4.3	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	8	4.1	4.1	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	8	4.6	4.7	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	5.0	5	8	4.9	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	8	4.8	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	2 40%	0	2 40%	1 20%	5	3.4	3.8	4	8	3.1	3.5	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	8	4.5	4.5	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	8	4.5	4.5	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	8	4.5	4.5	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	8	4.4	4.3	75

					P	LDR - 5	325	- 030				- Survey Coi	nparisons	
Lab	s and Online Learning Questions		R	espo	nses (%)			Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	270	4.5	4.8	19
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	386	4.5	4.8	26

Course:	PLDR - 5335 030 - PLDR Nonprofit Management	Department:	PUBLDR
Responsible Faculty:	Janiece Upshaw	Responses / Expected:	3 / 6 (50%)

					Janie	ce Upsl	haw	,				Survey C	omparis	ons
Cour	se Evaluation Questions		Re	espons	es (%)			Indi	ividual			PU	BLDR	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 100%	0	3	4.0	4.0	4	8	4.4	4.3	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	8	4.6	4.7	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 100%	0	3	4.0	4.0	4	8	4.4	4.3	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 100%	0	3	4.0	4.0	4	8	4.4	4.3	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 100%	0	3	4.0	4.0	4	8	4.4	4.3	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 100%	0	3	4.0	4.0	4	8	4.1	4.1	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	8	4.6	4.7	25
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	8	4.9	4.9	25
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	8	4.8	4.8	25
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7	3.0	3	8	3.1	3.5	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 100%	0	3	4.0	4.0	4	8	4.5	4.5	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	8	4.5	4.5	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 100%	0	3	4.0	4.0	4	8	4.5	4.5	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 100%	0	3	4.0	4.0	4	8	4.4	4.3	25

				P	LDR -	533	5 - 030				- Survey Con	nparisons	
Labs and Online Learning Questions		Re	espo	nses (%)			Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	270	4.5	4.8	19
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	4.0	4	386	4.5	4.8	11

Course:	PSCI - 1050 030 - American Government: Process and Policies	Department:	SocSci
Responsible Faculty:	Priscyla Bento	Responses / Expected:	4 / 29 (13.79%)

					Pri	scyla	Ber	nto				Survey C	ompariso	ns
Cour	se Evaluation Questions		Res	pons	es (%)			Indi	ividual			Sc	cSci	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	4	4.3	4.5	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	4	4.3	4.5	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	4	4.5	4.5	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	4	4.3	4.5	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	4	4.3	4.5	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	4	4.0	4.5	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	0	0	3 75%	4	4.3	4.8	5	4	4.3	4.8	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 25%	0	0	3 75%	4	4.3	4.8	5	4	4.3	4.8	50

				P	SCI - 10	50 -	030				- Survey Cor	nparisons	
Labs and Online Learning Questions		Resp	onses	(%)			C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	270	4.5	4.8	19
Q16 The course topics are organized in a coherent fashion.	0	1 25%	0	0	3 75%	4	4.3	4.8	5	386	4.5	4.8	63

Course:	PSYC - 1100 030 - Introduction to Psychology	Department:	SOCPSY
Responsible Faculty:	Candice Kowalski-Dulaney	Responses / Expected:	9 / 27 (33.33%)

				Ca	ndice K	owalski	-Du	laney				Survey Co	ompariso	ons
Cour	se Evaluation Questions		R	espons	es (%)			Indi	vidual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 22.2%	0	1 11.1%	0	6 66.7%	9	3.9	4.8	5	84	4.3	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.4	4.7	42
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.5	4.8	35
Q4	My instructor provides material that helps me do well on assignments.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	83	4.5	4.8	35
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.4	4.7	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.5	4.8	46
Q7	My instructor establishes a climate of respect for students.	2 22.2%	0	0	0	7 77.8%	9	4.1	4.9	5	84	4.6	4.8	58
Q8	My instructor is available to me on matters pertaining to the course.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.5	4.8	27
Q9	My instructor encourages me to do my best work.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.5	4.8	35
Q10	My instructor provides timely feedback to guide my progress.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.5	4.7	31
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 22.2%	0	0	0	7 77.8%	9	4.1	4.9	5	84	4.6	4.8	65
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 22.2%	0	0	0	7 77.8%	9	4.1	4.9	5	84	4.5	4.7	65
Q13	My instructor encourages me to develop new viewpoints.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.4	4.7	42
Q14	My instructor made the subject interesting and motivated me to learn.	2 22.2%	0	0	1 11.1%	6 66.7%	9	4.0	4.8	5	84	4.4	4.7	42

					PS	YC - 1100	- 03	30				Survey Con	nparisons	
Labs	and Online Learning Questions		Re	spoi	nses (%)			C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3	4.8	5	270	4.5	4.8	56
Q16	The course topics are organized in a coherent fashion.	2 22.2%	0	0	2 22.2%	5 55.6%	9	3.9	4.6	5	386	4.5	4.8	35

Course:	PSYC - 2310 030 - Careers and Writing in Psychology	Department:	SOCPSY
Responsible Faculty:	Eronia King	Responses / Expected:	2 / 11 (18.18%)

						Eror	nia K	(ing				Survey Co	ompariso	ns
Cour	se Evaluation Questions	R	esp	on	ses	(%)		Indi	vidual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	84	4.3	4.7	4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	84	4.4	4.7	4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.5	4.8	92
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	83	4.5	4.8	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.4	4.7	92
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.5	4.8	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.6	4.8	88
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.5	4.8	92
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.5	4.8	92
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.5	4.7	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.6	4.8	92
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.5	4.7	92
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.4	4.7	92
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	84	4.4	4.7	92

						PSYC -	231	0 - 030				- Survey Cor	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	1	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	270	4.5	4.8	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	386	4.5	4.8	91

Course:	PSYC - 2320 030 - Social Psychological Theory in Close Relationships	Department:	SOCPSY
Responsible Faculty:	Amy Dojahn	Responses / Expected:	5 / 21 (23.81%)

					Α	my Do	jah	n				Survey Co	ompariso	ns
Cour	se Evaluation Questions		Res	pons	es (%)			Indi	ividual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	84	4.3	4.7	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	84	4.4	4.7	19
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	84	4.5	4.8	19
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	83	4.5	4.8	19
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 20%	0	2 40%	2 40%	5	4.0	4.3	4	84	4.4	4.7	12
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	84	4.5	4.8	31
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	84	4.6	4.8	27
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	84	4.5	4.8	12
Q9	My instructor encourages me to do my best work.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	84	4.5	4.8	19
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	84	4.5	4.7	19
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	84	4.6	4.8	15
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	84	4.5	4.7	12
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	84	4.4	4.7	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	84	4.4	4.7	12

				ı	PSYC - 23	20 -	030				Survey Con	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		Co	ourse			Al	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	270	4.5	4.8	50
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	386	4.5	4.8	63

Course:	PSYC - 3100 030 - Social Psychology	Department:	SOCPSY
Responsible Faculty:	Lauren Coursey	Responses / Expected:	8 / 24 (33.33%)

					Lau	ıren Cou	ırse	y				Survey Co	mpariso	ns
Cour	se Evaluation Questions			Respor	ses (%)			Indi	vidual			soc	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	84	4.3	4.7	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	84	4.4	4.7	88
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	84	4.5	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	83	4.5	4.8	81
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	0	7 87.5%	8	4.8	4.9	5	84	4.4	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	8 100%	8	5.0	5.0	5	84	4.5	4.8	88
Q 7	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0	5.0	5	84	4.6	4.8	88
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	84	4.5	4.8	81
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	84	4.5	4.8	73
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	84	4.5	4.7	81
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	84	4.6	4.8	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	84	4.5	4.7	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	0	7 87.5%	8	4.8	4.9	5	84	4.4	4.7	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	84	4.4	4.7	81

					ı	PSYC - 31	00 -	030				Survey Cor	nparisons	
Lab	s and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	270	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	386	4.5	4.8	71

Course:	PSYC - 3200 031 - Research Methods	Department:	SOCPSY
Responsible Faculty:	Suzanne Manning	Responses / Expected:	1 / 7 (14.29%)

						Suzanı	ne N	/lanning				Survey Co	mpariso	ns
Cour	se Evaluation Questions	F	Res	por	ıse	es (%)		Indi	vidual			so	CPSY	
		SD	D	N	Δ	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.3	4.7	96
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.4	4.7	96
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.5	4.8	92
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	C	1 100%	1	5.0	5.0	5	83	4.5	4.8	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.4	4.7	92
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.5	4.8	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.6	4.8	88
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.5	4.8	92
Q9	My instructor encourages me to do my best work.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.5	4.8	92
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.5	4.7	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.6	4.8	92
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.5	4.7	92
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	C	1 100%	1	5.0	5.0	5	84	4.4	4.7	92
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	С	1 100%	1	5.0	5.0	5	84	4.4	4.7	92

					PSYC -	320	0 - 031				Survey Cor	nparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Α	1	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	270	4.5	4.8	87
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	386	4.5	4.8	91

Course:	PSYC - 3210 030 - Statistics in Psychology	Department:	SOCPSY
Responsible Faculty:	Lauren Coursey	Responses / Expected:	15 / 29 (51.72%)

					Laure	en Cours	еу				;	Survey Co	mpariso	ons
Cour	se Evaluation Questions		R	espons	es (%)			Indi	vidual			SO	CPSY	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	2 13.3%	0	2 13.3%	11 73.3%	15	4.5	4.8	5	84	4.3	4.7	65
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	84	4.4	4.7	58
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	84	4.5	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	1 6.7%	0	2 13.3%	12 80%	15	4.7	4.9	5	83	4.5	4.8	69
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 6.7%	1 6.7%	4 26.7%	9 60%	15	4.4	4.7	5	84	4.4	4.7	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 6.7%	1 6.7%	4 26.7%	9 60%	15	4.4	4.7	5	84	4.5	4.8	31
Q 7	My instructor establishes a climate of respect for students.	0	0	0	6 40%	9 60%	15	4.6	4.7	5	84	4.6	4.8	27
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	84	4.5	4.8	42
Q9	My instructor encourages me to do my best work.	0	0	1 6.7%	2 13.3%	12 80%	15	4.7	4.9	5	84	4.5	4.8	58
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	84	4.5	4.7	42
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	84	4.6	4.8	42
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5	4.7	5	84	4.5	4.7	19
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 13.3%	6 40%	7 46.7%	15	4.3	4.4	4	84	4.4	4.7	27
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 6.7%	2 13.3%	4 26.7%	8 53.3%	15	4.3	4.6	5	84	4.4	4.7	27

					PSYC -	3210	- 030				- Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spoi	ıses (%)		Co	urse			A	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	270	4.5	4.8	34
Q16 The course topics are organized in a coherent fashion.	0	0	0	5 50%	5 50%	10	4.5	4.5	4.5	386	4.5	4.8	26

Course:	PSYC - 3490 030 - Psychology of Women	Department:	SOCPSY
Responsible Faculty:	Candice Kowalski-Dulaney	Responses / Expected:	4 / 30 (13.33%)

				С	andice	Kowals	ki-Dı	ılaney				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Re	spon	ses (%)		Individ	ual			so	CPSY	
		SD	D	N	A	SA N	и		rp ed	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.3	4.7	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.4	4.7	69
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.5	4.8	58
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	1 4	.8 4	.8	5	83	4.5	4.8	54
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.4	4.7	62
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.5	4.8	58
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.6	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.5	4.8	58
Q9	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	1 4	.5 4	.8	5	84	4.5	4.8	46
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.5	4.7	58
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.6	4.8	54
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.5	4.7	54
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.4	4.7	58
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	.8 4	.8	5	84	4.4	4.7	58

					PS	SYC - 3490) - 0	30				Survey Cor	nparisons	
Lab	and Online Learning Questions			Respo	onses (%)			C	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	270	4.5	4.8	19
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	386	4.5	4.8	55

Course:	PSYC - 3530 030 - Psychology of the Offender	Department:	SOCPSY
Responsible Faculty:	Suzanne Manning	Responses / Expected:	10 / 30 (33.33%)

					Suza	nne M	ann	ing				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	onse	s (%)			Indi	vidual			soc	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 10%	3 30%	4 40%	2 20%	10	3.7	3.8	4	84	4.3	4.7	12
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 20%	2 20%	4 40%	2 20%	10	3.6	3.8	4	84	4.4	4.7	12
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 10%	1 10%	5 50%	3 30%	10	4.0	4.1	4	84	4.5	4.8	4
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	2 20%	4 40%	3 30%	10	3.9	4.0	4	83	4.5	4.8	4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	3 30%	4 40%	2 20%	10	3.6	3.8	4	84	4.4	4.7	4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 20%	1 10%	4 40%	3 30%	10	3.8	4.0	4	84	4.5	4.8	8
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	84	4.6	4.8	8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	84	4.5	4.8	4
Q9	My instructor encourages me to do my best work.	0	1 10%	2 20%	3 30%	4 40%	10	4.0	4.2	4	84	4.5	4.8	12
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 20%	5 50%	3 30%	10	4.1	4.1	4	84	4.5	4.7	12
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 20%	3 30%	5 50%	10	4.3	4.5	4.5	84	4.6	4.8	4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 10%	2 20%	5 50%	2 20%	10	3.8	3.9	4	84	4.5	4.7	4
Q13	My instructor encourages me to develop new viewpoints.	0	1 10%	2 20%	5 50%	2 20%	10	3.8	3.9	4	84	4.4	4.7	4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 30%	4 40%	3 30%	10	4.0	4.0	4	84	4.4	4.7	4

				PSYC	- 3530	- 03	80				Survey Cor	nparisons	;
Labs and Online Learning Questions		Re	sponses	(%)			C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	270	4.5	4.8	9
Q16 The course topics are organized in a coherent fashion.	1 12.5%	0	1 12.5%	4 50%	2 25%	8	3.8	4.0	4	386	4.5	4.8	11

Course:	PSYC - 4020 030 - Psychology of Death and Dying	Department:	SOCPSY
Responsible Faculty:	Jason Wright	Responses / Expected:	12 / 30 (40%)

					Ja	son Wr	ght					Survey Co	mparisc	ns
Cour	se Evaluation Questions		R	espon	ses (%)			Indi	vidual			soc	PSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 8.3%	0	1 8.3%	0	10 83.3%	12	4.5	4.9	5	84	4.3	4.7	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	84	4.4	4.7	69
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	84	4.5	4.8	73
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	83	4.5	4.8	54
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	84	4.4	4.7	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	84	4.5	4.8	73
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	4.9	5	84	4.6	4.8	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	84	4.5	4.8	58
Q9	My instructor encourages me to do my best work.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	84	4.5	4.8	81
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	84	4.5	4.7	58
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	84	4.6	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	84	4.5	4.7	35
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	84	4.4	4.7	73
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	84	4.4	4.7	73

					P	SYC - 4	020 -	030				Survey Cor	nparisons	
Lab	and Online Learning Questions		F	Respons	es (%)			Co	urse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	270	4.5	4.8	65
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	386	4.5	4.8	79

Course:	PSYC - 4690 030 - Introduction to Learning and Memory	Department:	SOCPSY
Responsible Faculty:	Amy Dojahn	Responses / Expected:	3 / 21 (14.29%)

					Amy Doj	ahn	1				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Resp	onses (%)		Indi	ividual			soc	PSY	
		SD	D N	I A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.3	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.4	4.7	42
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.5	4.8	35
Q4	My instructor provides material that helps me do well on assignments.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	83	4.5	4.8	35
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.4	4.7	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0 0	1 33.39	1 33.3%	3	3.3	4.0	4	84	4.5	4.8	8
Q7	My instructor establishes a climate of respect for students.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.6	4.8	42
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.5	4.8	27
Q9	My instructor encourages me to do my best work.	1 33.3%	0 0	1 33.39	1 33.3%	3	3.3	4.0	4	84	4.5	4.8	4
Q10	My instructor provides timely feedback to guide my progress.	2 66.7%	0 0	1 33.39	0	3	2.0	1.3	1	84	4.5	4.7	4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.6	4.8	31
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.5	4.7	35
Q13	My instructor encourages me to develop new viewpoints.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.4	4.7	42
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0 0	0	2 66.7%	3	3.7	4.8	5	84	4.4	4.7	42

				F	SYC - 4	690	- 030				- Survey Cor	nparisons	
Labs and Online Learning Questions		Responses (%)					Co	ourse		All			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	270	4.5	4.8	6
Q16 The course topics are organized in a coherent fashion.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	386	4.5	4.8	4

Course:	SOCI - 1510 001 - Introduction to Sociology	Department:	SOCPSY
Responsible Faculty:	Krisler Bailey	Responses / Expected:	4 / 16 (25%)

						Krisler I	Bail	ley				Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	esp	onses ('	%)		Indi	vidual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	84	4.3	4.7	27
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	84	4.4	4.7	27
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	84	4.5	4.8	12
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	83	4.5	4.8	12
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	84	4.4	4.7	62
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	84	4.5	4.8	19
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	84	4.6	4.8	8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	84	4.5	4.8	58
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	84	4.5	4.8	46
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	84	4.5	4.7	58
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	84	4.6	4.8	54
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	84	4.5	4.7	54
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	84	4.4	4.7	12
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	84	4.4	4.7	19

					SOCI - 15	10 -	001				Survey Cor	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	270	4.5	4.8	29
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	386	4.5	4.8	16

Course:	SOCI - 2070 030 - Introduction to Race and Ethnic Relations	Department:	SOCPSY
Responsible Faculty:	Steven Arxer	Responses / Expected:	5 / 22 (22.73%)

					S	teven	Arx	cer				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	spons	ses (%))		Indi	vidual			soc	CPSY	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	84	4.3	4.7	35
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.4	4.7	81
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.5	4.8	65
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	83	4.5	4.8	69
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.4	4.7	73
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.5	4.8	65
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	84	4.6	4.8	27
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.5	4.8	73
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	84	4.5	4.8	27
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.5	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	84	4.6	4.8	15
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.5	4.7	73
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.4	4.7	65
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	84	4.4	4.7	65

						SOCI - 20	70 -	030				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	270	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	386	4.5	4.8	63

Course:	SOCI - 3280 030 - Quantitative Data Analysis	Department:	SOCPSY
Responsible Faculty:	Aaron Bartula	Responses / Expected:	6 / 23 (26.09%)

					Aaro	n Bartul	а				;	Survey Co	mpariso	ons
Cour	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			SO	CPSY	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	84	4.3	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	84	4.4	4.7	42
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	84	4.5	4.8	35
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	83	4.5	4.8	35
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	84	4.4	4.7	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	84	4.5	4.8	46
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	84	4.6	4.8	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	84	4.5	4.8	27
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	84	4.5	4.8	65
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	84	4.5	4.7	31
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	84	4.6	4.8	31
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	84	4.5	4.7	35
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	84	4.4	4.7	42
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	84	4.4	4.7	42

						SOCI - 32	80 -	030				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	270	4.5	4.8	61
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	386	4.5	4.8	55

Course:	SPAN - 1010 002 - Elementary Spanish I	Department:	СОММТЕСН
Responsible Faculty:	Cristina Gonzalez	Responses / Expected:	1 / 7 (14.29%)

					Cris	stina	Go	nzalez				- Survey C	ompariso	ns
Cour	se Evaluation Questions		Res	oon	nses (%)		Indi	vidual			сом	MTECH	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.3	4.6	33
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.8	4.9	17
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.6	4.6	33
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.7	4.8	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.3	4.6	33
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.1	4.3	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.8	4.9	17
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.4	4.6	33
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.4	4.8	17
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.3	4.8	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.8	4.9	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.6	4.6	17
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.4	4.6	17
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.4	4.8	17

					SI	PAN -	1010	0 - 002				- Survey Con	nparisons	
Labs	s and Online Learning Questions		Re	espoi	nses (%)			Co	ourse			Al	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	270	4.5	4.8	19
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	4.0	4	386	4.5	4.8	11

Course: ACCT - 5130 010 - Accounting for Management Department: BUSI

Responsible Faculty: Cathy Scott Responses / Expected: 9 / 12 (75%)

					С	athy Sc	ott					Survey Co	ompariso	ons
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	42	4.5	4.7	43
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	42	4.6	4.7	36
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 55.6%	4 44.4%	9	4.4	4.4	4	42	4.5	4.7	21
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	42	4.5	4.7	29
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	42	4.5	4.7	43
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	42	4.5	4.7	43
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	42	4.5	4.7	29
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	42	4.6	4.8	29
Q9	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	41	4.5	4.7	43
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	5 55.6%	4 44.4%	9	4.4	4.4	4	42	4.5	4.7	14
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 55.6%	4 44.4%	9	4.4	4.4	4	42	4.5	4.7	7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	41	4.4	4.7	43
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	42	4.4	4.7	43
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 55.6%	4 44.4%	9	4.4	4.4	4	42	4.5	4.7	21

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				-	ACCT - 51	30 -	010				Survey Cor	nparisons	
Labs and Online Learning Questions		Responses (%)				C	ourse			A	II		
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	103	4.6	4.7	29
Q16 The course topics are organized in a coherent fashion.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	167	4.5	4.7	33

Course:ACCT - 5345 010 - IT AuditingDepartment:BUSIResponsible Faculty:Cathy ScottResponses / Expected:4 / 11 (36.36%)

						O-Ab	٠.	-44				C 0		
Cour	se Evaluation Questions		D = -			Cathy	SC		ulali i c l			Survey Co		ns
Cou	oc Frangation Ancomolo		Kes	pons	es	(%)		Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.5	4.7	93
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.6	4.7	93
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.5	4.7	86
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.5	4.7	93
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.5	4.7	86
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.5	4.7	86
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.5	4.7	79
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.6	4.8	86
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	41	4.5	4.7	86
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.5	4.7	86
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	42	4.5	4.7	86
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	41	4.4	4.7	93
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.4	4.7	86
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	42	4.5	4.7	86

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					ACCT -	5345	- 010				Survey Cor	nparisons	
Labs and Online Learning Questions		Res	ons	es (%)		Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	103	4.6	4.7	82
Q16 The course topics are organized in a coherent fashion.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	167	4.5	4.7	53

Course: BUSI - 5190 010 - Administrative Strategy Department: BUSI

Responsible Faculty: Ayse Goktan Bilhan Responses / Expected: 2 / 12 (16.67%)

\equiv														
					Ays	se Gokt	tan	Bilhan				Survey Co	mpariso	ns
Co	rse Evaluation Questions		Re	esp	onses (%)		Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0	4.0	4	42	4.5	4.7	7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.6	4.7	21
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	42	4.5	4.7	7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.5	4.7	7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.5	4.7	7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.5	4.7	21
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	42	4.5	4.7	79
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.6	4.8	7
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	41	4.5	4.7	14
Q1	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.5	4.7	36
Q1	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.5	4.7	21
Q1	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	41	4.4	4.7	14
Q1	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.4	4.7	21
Q1	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	42	4.5	4.7	36

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

						BUSI -	519	0 - 010				- Survey Co	mparisons]
L	abs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
6	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	103	4.6	4.7	82
(The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	167	4.5	4.7	85

Course:	CJUS - 4200 030 - Criminal Procedure	Department:	Criminal J
Responsible Faculty:	Jan Cunningham	Responses / Expected:	2 / 11 (18.18%)

					Jan C	unni	ngham				Survey Co	mpariso	ns
Cour	se Evaluation Questions	R	es	pon	ses (%)		Indi	ividual			Crir	ninal	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 2 100%	2	5.0	5.0	5	15	4.6	4.7	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 2 100%	2	5.0	5.0	5	15	4.7	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.9	4.9	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.9	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.7	4.8	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.9	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.9	4.9	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.9	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.9	67
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.8	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 2 100%	2	5.0	5.0	5	16	4.8	4.9	75

						CJUS -	420	00 - 030				- Survey Cor	nparisons	
La	Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			А	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	103	4.6	4.7	82
Q1	6 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	167	4.5	4.7	85

Course:	CJUS - 5318 030 - Green Criminology & Environmental Policy	Department:	PUBLDR
Responsible Faculty:	Paul Reynolds	Responses / Expected:	5 / 12 (41.67%)

					ı	Paul Rey	/no	lds				Survey C	ompariso	ns
Cou	se Evaluation Questions		R	espon	ses (%)		Indi	ividual			PU	BLDR	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	5	4.6	4.9	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	5	4.8	4.9	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	5	4.4	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0	5.0	5	5	5.0	5.0	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	5	4.8	4.9	50

					CJUS - 5	318	- 030				Survey Con	nparisons	
Labs and Online Learning Questions	Re		espo	nses (9	6)		Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	103	4.6	4.7	82
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	167	4.5	4.7	61

Course: CJUS - 5398 030 - Topics in Criminal Justice Department: Criminal J

Responsible Faculty: John Coleman Responses / Expected: 5 / 11 (45.45%)

					John C	ole	man				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Resp	onses	(%)		Indi	vidual			Cri	minal	
		SD	D N	ı A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 (60%	2 40%	5	4.4	4.3	4	15	4.6	4.7	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0) 2 40%	3 60%	5	4.6	4.7	5	15	4.7	4.8	25
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0 (0	5 100%	5	5.0	5.0	5	16	4.9	4.9	67
Q4	My instructor provides material that helps me do well on assignments.	0	0 (20%	4 80%	5	4.8	4.9	5	16	4.8	4.9	42
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 () 2 40%	3 60%	5	4.6	4.7	5	16	4.7	4.8	42
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0) 1 20%	4 80%	5	4.8	4.9	5	16	4.8	4.9	42
Q7	My instructor establishes a climate of respect for students.	0	0 (0	5 100%	5	5.0	5.0	5	16	4.9	4.9	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	20%	4 80%	5	4.8	4.9	5	16	4.8	4.9	42
Q9	My instructor encourages me to do my best work.	0	0 0	20%	4 80%	5	4.8	4.9	5	16	4.8	4.8	42
Q10	My instructor provides timely feedback to guide my progress.	0	0 0) 1 20%	4 80%	5	4.8	4.9	5	16	4.8	4.9	42
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 (20%	4 80%	5	4.8	4.9	5	16	4.8	4.9	42
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	0	5 100%	5	5.0	5.0	5	16	4.8	4.9	67
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	20%	4 80%	5	4.8	4.9	5	16	4.8	4.8	42
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 (20%	4 80%	5	4.8	4.9	5	16	4.8	4.9	42

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

						CJUS - 5	398	- 030				Survey Cor	nparisons	
La	bs and Online Learning Questions		R	espo	onses (%	%)		Co	ourse			A	II	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	103	4.6	4.7	82
Q	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	167	4.5	4.7	61

Course:	EDAD - 5330 121 - The Principalship	Department:	SEHSTE
Responsible Faculty:	Jerry Burkett	Responses / Expected:	14 / 16 (87.50%)

					Jeri	y Burke	ett				;	Survey Co	mparisc	ons
Cou	se Evaluation Questions		R	espons	es (%)			Indiv	vidual			SEH	ISTE	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	4.8	5	80	4.2	4.4	65
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 7.1%	0	2 14.3%	11 78.6%	14	4.6	4.9	5	80	4.4	4.6	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 28.6%	10 71.4%	14	4.7	4.8	5	79	4.4	4.6	65
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	4.8	5	79	4.3	4.5	55
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	80	4.4	4.5	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 7.1%	1 7.1%	2 14.3%	10 71.4%	14	4.5	4.8	5	80	4.4	4.7	45
Q7	My instructor establishes a climate of respect for students.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	4.8	5	80	4.7	4.8	35
Q8	My instructor is available to me on matters pertaining to the course.	0	1 7.1%	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	80	4.6	4.7	35
Q9	My instructor encourages me to do my best work.	0	1 7.1%	2 14.3%	3 21.4%	8 57.1%	14	4.3	4.6	5	79	4.4	4.6	45
Q10	My instructor provides timely feedback to guide my progress.	0	1 7.1%	0	3 21.4%	10 71.4%	14	4.6	4.8	5	80	4.5	4.7	55
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	4.8	5	80	4.6	4.7	35
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	4.8	5	80	4.5	4.7	55
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 14.3%	5 35.7%	7 50%	14	4.4	4.5	4.5	80	4.5	4.6	30
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 14.3%	4 28.6%	8 57.1%	14	4.4	4.6	5	80	4.3	4.6	45

					EDAD	o - 5330 -	121					Survey Cor	nparison	s
L	abs and Online Learning Questions	Responses (%) Course						Course				A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
C	The section or lab is well integrated into the course structure.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	103	4.6	4.7	48
C	The course topics are organized in a coherent fashion.	0	1 7.1%	0	3 21.4%	10 71.4%	14	4.6	4.8	5	167	4.5	4.7	45

Course:	EDAD - 5370 221 - Leadership of Assessment, Accountability, and Evaluation	Department:	SEHSTE
Responsible Faculty:	James Drewery	Responses / Expected:	12 / 24 (50%)

					Jame	s Drew	ery				5	Survey Co	mparis	ons
Cou	se Evaluation Questions	Responses (%)						Indiv	vidual			SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	3 25%	4 33.3%	4 33.3%	1 8.3%	12	3.3	3.3	3	80	4.2	4.4	5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 8.3%	3 25%	7 58.3%	1 8.3%	12	3.7	3.8	4	80	4.4	4.6	15
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	4 33.3%	7 58.3%	1 8.3%	12	3.8	3.8	4	79	4.4	4.6	5
Q4	My instructor provides material that helps me do well on assignments.	0	2 16.7%	3 25%	6 50%	1 8.3%	12	3.5	3.7	4	79	4.3	4.5	5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	4 33.3%	6 50%	2 16.7%	12	3.8	3.8	4	80	4.4	4.5	5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 8.3%	1 8.3%	5 41.7%	5 41.7%	12	4.2	4.3	4	80	4.4	4.7	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 58.3%	5 41.7%	12	4.4	4.4	4	80	4.7	4.8	5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	3 25%	4 33.3%	5 41.7%	12	4.2	4.3	4	80	4.6	4.7	5
Q9	My instructor encourages me to do my best work.	0	1 8.3%	3 25%	4 33.3%	4 33.3%	12	3.9	4.0	4	79	4.4	4.6	10
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	7 58.3%	5 41.7%	12	4.4	4.4	4	80	4.5	4.7	15
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 16.7%	8 66.7%	2 16.7%	12	4.0	4.0	4	80	4.6	4.7	5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 16.7%	7 58.3%	3 25%	12	4.1	4.1	4	80	4.5	4.7	5
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 16.7%	8 66.7%	2 16.7%	12	4.0	4.0	4	80	4.5	4.6	5
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 16.7%	3 25%	5 41.7%	2 16.7%	12	3.6	3.7	4	80	4.3	4.6	15

				EDAD	- 5370 -	221					Survey Cor	nparisons	s
Labs and Online Learning Questions		Responses (%) Course						All					
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	4.0	4	103	4.6	4.7	12
Q16 The course topics are organized in a coherent fashion.	0	1 9.1%	0	7 63.6%	3 27.3%	11	4.1	4.1	4	167	4.5	4.7	8

Course:	EDAD - 5650 121 - Professional Development and Supervision	Department:	SEHSTE
Responsible Faculty:	Eric Creeger	Responses / Expected:	9 / 15 (60%)

		Eric Responses (%)		Creege	r				\$	Survey Co	mpariso	ons		
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			SEH	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 11.1%	2 22.2%	2 22.2%	4 44.4%	9	4.0	4.3	4	80	4.2	4.4	45
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	80	4.4	4.6	40
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	79	4.4	4.6	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	79	4.3	4.5	45
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3	4.6	5	80	4.4	4.5	45
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	80	4.4	4.7	35
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	80	4.7	4.8	25
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	80	4.6	4.7	25
Q9	My instructor encourages me to do my best work.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	79	4.4	4.6	35
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	5 55.6%	4 44.4%	9	4.4	4.4	4	80	4.5	4.7	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	80	4.6	4.7	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	80	4.5	4.7	40
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	80	4.5	4.6	65
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 22.2%	1 11.1%	6 66.7%	9	4.4	4.8	5	80	4.3	4.6	60

				ED	AD - 5650	0 - 1	21				Survey Cor	nparisons		
Labs and Online Learning Questions		Responses (%)					С	ourse		All				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	103	4.6	4.7	55	
Q16 The course topics are organized in a coherent fashion.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	167	4.5	4.7	33	

Course:	EDAD - 5680 121 - Administration of the K-12 Curriculum	Department:	SEHSTE
Responsible Faculty:	James Drewery	Responses / Expected:	13 / 23 (56.52%)

					Jame	s Drew	ery				8	Survey Co	mpariso	ons	
Cour	ourse Evaluation Questions				es (%)			Indi	vidual		SEHSTE				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	2 15.4%	4 30.8%	4 30.8%	3 23.1%	13	3.6	3.6	4	80	4.2	4.4	15	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 23.1%	8 61.5%	2 15.4%	13	3.9	3.9	4	80	4.4	4.6	25	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 15.4%	7 53.8%	4 30.8%	13	4.2	4.1	4	79	4.4	4.6	15	
Q4	My instructor provides material that helps me do well on assignments.	0	1 8.3%	4 33.3%	5 41.7%	2 16.7%	12	3.7	3.7	4	79	4.3	4.5	15	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	4 30.8%	7 53.8%	2 15.4%	13	3.8	3.9	4	80	4.4	4.5	15	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 7.7%	2 15.4%	6 46.2%	4 30.8%	13	4.0	4.1	4	80	4.4	4.7	15	
Q7	My instructor establishes a climate of respect for students.	0	0	2 15.4%	5 38.5%	6 46.2%	13	4.3	4.4	4	80	4.7	4.8	15	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 15.4%	5 38.5%	6 46.2%	13	4.3	4.4	4	80	4.6	4.7	15	
Q9	My instructor encourages me to do my best work.	0	1 7.7%	3 23.1%	5 38.5%	4 30.8%	13	3.9	4.0	4	79	4.4	4.6	10	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	7 53.8%	6 46.2%	13	4.5	4.4	4	80	4.5	4.7	35	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 15.4%	6 46.2%	5 38.5%	13	4.2	4.3	4	80	4.6	4.7	15	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.7%	9 69.2%	3 23.1%	13	4.2	4.1	4	80	4.5	4.7	15	
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 15.4%	7 53.8%	4 30.8%	13	4.2	4.1	4	80	4.5	4.6	15	
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 15.4%	4 30.8%	3 23.1%	4 30.8%	13	3.7	3.7	4	80	4.3	4.6	5	

				EDAD		Survey Comparisons								
Labs and Online Learning Questions			Response	es (%)			Co	urse		All				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	4.0	4	103	4.6	4.7	12	
Q16 The course topics are organized in a coherent fashion.	0	1 8.3%	1 8.3%	8 66.7%	2 16.7%	12	3.9	4.0	4	167	4.5	4.7	5	

Course:	EDAD - 5700 401 - Practicum in Educational Leadership	Department:	SEHSTE
Responsible Faculty:	Eric Creeger	Responses / Expected:	6 / 16 (37.50%)

\equiv															
	Course Evaluation Questions						eeg	er			Survey Comparisons				
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			SEI	ISTE		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	80	4.2	4.4	85	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.4	4.6	90	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	79	4.4	4.6	85	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	79	4.3	4.5	75	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.4	4.5	90	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.4	4.7	85	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.7	4.8	80	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.6	4.7	85	
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0	5.0	5	79	4.4	4.6	90	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.5	4.7	85	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.6	4.7	80	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.5	4.7	90	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0	5.0	5	80	4.5	4.6	90	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	80	4.3	4.6	85	

				ı	EDAD - 57		Survey Comparisons							
Labs and Online Learning Questions			Res	ponses (%	5)		Co	ourse		Ali				
		D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	103	4.6	4.7	55	
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	167	4.5	4.7	67	

Course:	EDAD - 5700 402 - Practicum in Educational Leadership	Department:	SEHSTE
Responsible Faculty:	Eric Creeger	Responses / Expected:	4 / 16 (25%)

	Course Evaluation Questions					Eric Cr	eeç				Survey Comparisons					
Cou						5)		Indi	vidual		SEHST					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	80	4.2	4.4	35		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	80	4.4	4.6	60		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	79	4.4	4.6	35		
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	79	4.3	4.5	35		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	80	4.4	4.5	30		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	80	4.4	4.7	55		
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	80	4.7	4.8	45		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	80	4.6	4.7	55		
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	79	4.4	4.6	65		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	80	4.5	4.7	45		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	80	4.6	4.7	45		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	80	4.5	4.7	25		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	80	4.5	4.6	30		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	80	4.3	4.6	30		

	abs and Online Learning Questions				ı	EDAD - 57		Survey Comparisons						
La				Res	ponses (%	b)		C	ourse		All			
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	103	4.6	4.7	41
Q	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	167	4.5	4.7	24

Course:	EDAD - 5900 401 - Special Problems	Department:	SEHSTE
Responsible Faculty:	Jerry Burkett	Responses / Expected:	12 / 31 (38.71%)

					J	erry Bui	ket	t				Survey Co	mpariso	ns
Cour	se Evaluation Questions		ı	Respo	nses (%)		Indiv	vidual			SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	80	4.2	4.4	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	80	4.4	4.6	60
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6	4.8	5	79	4.4	4.6	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	79	4.3	4.5	65
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	80	4.4	4.5	65
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	4.9	5	80	4.4	4.7	65
Q 7	My instructor establishes a climate of respect for students.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	80	4.7	4.8	55
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	80	4.6	4.7	65
Q9	My instructor encourages me to do my best work.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	79	4.4	4.6	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	80	4.5	4.7	65
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	80	4.6	4.7	55
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	80	4.5	4.7	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	4.9	5	80	4.5	4.6	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	80	4.3	4.6	75

					EDAD - 59	00 -	401				Survey Cor	nparisons	;
Labs and Online Learning Questions			Res	ponses (%)		Co	urse			Al	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	103	4.6	4.7	29
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	167	4.5	4.7	67

Course:	EDCI - 5014 021 - Instructional and Behavioral Management in Classrooms	Department:	SEHSTE
Responsible Faculty:	Mychelle Smith	Responses / Expected:	3 / 6 (50%)

					Му	chelle S	mi	th				Survey Co	mpariso	ns
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	ividual			SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	80	4.2	4.4	55
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	80	4.4	4.6	40
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	79	4.4	4.6	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	79	4.3	4.5	90
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	80	4.4	4.5	55
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.4	4.7	85
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.7	4.8	80
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	80	4.6	4.7	45
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	79	4.4	4.6	55
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.5	4.7	85
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.6	4.7	80
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	80	4.5	4.7	40
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	80	4.5	4.6	45
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	80	4.3	4.6	60

					EDCI - 50°	4 -	021				Survey Cor	nparisons	
Labs and Online Learning Questions		ı	Resp	onses (%)		Co	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	103	4.6	4.7	29
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	167	4.5	4.7	41

Course:	EDCI - 5015 001 - Action Research for Multicultural and Multilingual Education	Department:	SEHSTE
Responsible Faculty:	Patricia Sosa-Sanchez	Responses / Expected:	4 / 14 (28.57%)

				F	Patrici	a Sosa	-Sa	nchez				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Re	spons	es (%))		Indi	ividual			SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 25%	3 75%	0	4	3.8	3.8	4	80	4.2	4.4	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	1 25%	1 25%	1 25%	4	3.5	3.5	3.5	80	4.4	4.6	5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	79	4.4	4.6	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	3 75%	0	4	3.8	3.8	4	79	4.3	4.5	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	80	4.4	4.5	30
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	2 50%	1 25%	0	4	3.0	3.0	3	80	4.4	4.7	5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	80	4.7	4.8	80
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	80	4.6	4.7	85
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	79	4.4	4.6	25
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	1 25%	2 50%	0	4	3.3	3.5	3.5	80	4.5	4.7	5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	80	4.6	4.7	80
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	80	4.5	4.7	65
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	80	4.5	4.6	55
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	80	4.3	4.6	30

				E	DCI - 501	5 -	001				Survey Cor	nparisons	
abs and Online Learning Questions		ı	Resp	onses (%)			Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	3 100%	0	3	4.0	4.0	4	103	4.6	4.7	12
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	167	4.5	4.7	12

Course:	EDCI - 5017 021 - Human Development for Educators	Department:	SEHSTE
Responsible Faculty:	Mychelle Smith	Responses / Expected:	3 / 5 (60%)

						Mych	elle	Smith				Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	≀es	por	ıse	s (%)		Indi	ividual			SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.2	4.4	95
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.4	4.6	90
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	79	4.4	4.6	95
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	79	4.3	4.5	90
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.4	4.5	90
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.4	4.7	85
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.7	4.8	80
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.6	4.7	85
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	79	4.4	4.6	90
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.5	4.7	85
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.6	4.7	80
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.5	4.7	90
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.5	4.6	90
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	80	4.3	4.6	95

						EDCI -	501	7 - 021				- Survey Cor	nparisons	
La	os and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	103	4.6	4.7	82
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	167	4.5	4.7	85

Course:EMSA - 3320 030 - EMS EducationDepartment:Criminal JResponsible Faculty:Gregory WintersResponses / Expected:3 / 26 (11.54%)

											_			
					G	regory \	Win	ters				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esp	onses ('	%)		Indi	vidual			Crir	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	15	4.6	4.7	8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	15	4.7	4.8	42
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.9	4.9	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.8	4.9	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	16	4.7	4.8	8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.8	4.9	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.9	4.9	25
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.8	4.9	25
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	16	4.8	4.8	8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.8	4.9	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.8	4.9	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	16	4.8	4.9	8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	16	4.8	4.8	8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.8	4.9	25

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Е	MSA - 3	3320		Survey Comparisons					
Labs and Online Learning Questions		R	espo	nses (%)			Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	103	4.6	4.7	12
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	167	4.5	4.7	24

Course: EMSA - 3341 030 - EMS Risk Management and Safety Department: Criminal J

Responsible Faculty: Alexander Flores Responses / Expected: 2 / 8 (25%)

E						_								
							der	Flores				Survey Co		ns
Cor	se Evaluation Questions		Res	por	nses ((%)		Indi	vidual			Crir	minal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	15	4.6	4.7	42
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	15	4.7	4.8	8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.9	4.9	8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.9	8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.7	4.8	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.9	8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.9	4.9	8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.9	8
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.8	25
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.9	8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.9	8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.9	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.8	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.8	4.9	8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					MSA -	334	1 - 030				- Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spoi	nses (%)		Co	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	103	4.6	4.7	29
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	167	4.5	4.7	24

Course:	EMSA - 3342 030 - EMS Communications Management	Department:	Criminal J
Responsible Faculty:	Paul Rosenberger	Responses / Expected:	1 / 7 (14.29%)

						Paul Ro	ose	nberger				Survey Co	mpariso	ns
Cou	se Evaluation Questions	F	Res	por	ıse	s (%)		Indi	ividual			Crir	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	15	4.6	4.7	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	15	4.7	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.9	4.9	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.9	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.7	4.8	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.9	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.9	4.9	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.9	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.9	67
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.8	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	16	4.8	4.9	75

					EMSA -	334	12 - 030		Survey Comparisons					
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			А	II		
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	103	4.6	4.7	82	
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	167	4.5	4.7	85	

Course:	EMSA - 4312 030 - Applications of Fire Research	Department:	Criminal J
Responsible Faculty:	Marshall Noyes	Responses / Expected:	3 / 30 (10%)

						Marsh	nall	Noyes				Survey Co	mpariso	ns
Cou	se Evaluation Questions	F	les	por	nse	es (%)		Indi	ividual			Crir	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	C	2 100%	2	5.0	5.0	5	15	4.6	4.7	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	C	100%	2	5.0	5.0	5	15	4.7	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.9	4.9	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.8	4.9	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.7	4.8	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.8	4.9	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.9	4.9	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.8	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.8	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.8	4.9	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.8	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.8	4.9	67
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	C	3 100%	3	5.0	5.0	5	16	4.8	4.8	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	С	3	3	5.0	5.0	5	16	4.8	4.9	75

						EMSA -	431		Survey Comparisons					
Labs	Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	103	4.6	4.7	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	167	4.5	4.7	85

Course:	FINA - 5170 010 - Financial Management	Department:	BUSI
Responsible Faculty:	Ajamu Loving	Responses / Expected:	9 / 25 (36%)

				Aj	amu Lov	/inç)				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Respo	nses (%))		Indi	ividual			В	USI	
		SD D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	43
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	2 22.2%	3 33.3%	4 44.4%	9	4.2	4.3	4	42	4.6	4.7	7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	50
Q4	My instructor provides material that helps me do well on assignments.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	29
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	43
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	43
Q7	My instructor establishes a climate of respect for students.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	29
Q8	My instructor is available to me on matters pertaining to the course.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.6	4.8	29
Q9	My instructor encourages me to do my best work.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	41	4.5	4.7	43
Q10	My instructor provides timely feedback to guide my progress.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	36
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	41	4.4	4.7	43
Q13	My instructor encourages me to develop new viewpoints.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.4	4.7	43
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	2 22.2%	2 22.2%	5 55.6%	9	4.3	4.6	5	42	4.5	4.7	50

				FIN	A - 5170 -	010)				Survey Cor	mparisons	s
Labs and Online Learning Questions			Respon	ises (%)			Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	103	4.6	4.7	61
Q16 The course topics are organized in a coherent fashion.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	167	4.5	4.7	53

Course: HIST - 2610 030 - United States History to 1865 Department: SocSci

Responsible Faculty: Mark Stanley Responses / Expected: 5 / 26 (19.23%)

					Ма	rk Sta	nle	у				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	ponse	s (%)			Indi	vidual			So	cSci	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	15	4.1	4.1	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	15	4.1	4.1	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	15	4.2	4.3	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	15	4.2	4.3	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	15	4.0	4.1	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	1 20%	3 60%	5	4.2	4.7	5	15	3.9	4.1	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	15	4.5	4.7	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	15	4.4	4.6	75
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	15	4.3	4.3	75
Q10	My instructor provides timely feedback to guide my progress.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	15	3.9	4.4	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	15	4.3	4.3	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	15	4.3	4.6	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	15	4.1	4.2	75
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	15	3.9	4.2	75

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					HIST -	261	0 - 030				- Survey Co	mparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	103	4.6	4.7	82
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	167	4.5	4.7	85

Course:	HIST - 2620 030 - United States History Since 1865	Department:	SocSci
Responsible Faculty:	Mark Stanley	Responses / Expected:	10 / 25 (40%)

					Ма	ark Sta	anle	y				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	ponse	s (%)			Indi	vidual			So	cSci	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	3 30%	5 50%	2 20%	10	3.9	3.9	4	15	4.1	4.1	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 30%	5 50%	2 20%	10	3.9	3.9	4	15	4.1	4.1	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	3 30%	4 40%	3 30%	10	4.0	4.0	4	15	4.2	4.3	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 20%	5 50%	3 30%	10	4.1	4.1	4	15	4.2	4.3	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 10%	3 30%	3 30%	3 30%	10	3.8	3.8	4	15	4.0	4.1	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	3 30%	3 30%	3 30%	10	3.8	3.8	4	15	3.9	4.1	25
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	15	4.5	4.7	25
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 20%	4 40%	4 40%	10	4.2	4.3	4	15	4.4	4.6	25
Q9	My instructor encourages me to do my best work.	0	0	1 10%	6 60%	3 30%	10	4.2	4.2	4	15	4.3	4.3	25
Q10	My instructor provides timely feedback to guide my progress.	1 10%	0	2 20%	3 30%	4 40%	10	3.9	4.2	4	15	3.9	4.4	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	6 60%	3 30%	10	4.2	4.2	4	15	4.3	4.3	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	4 40%	4 40%	10	4.2	4.3	4	15	4.3	4.6	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 30%	4 40%	3 30%	10	4.0	4.0	4	15	4.1	4.2	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	2 20%	4 40%	3 30%	10	3.9	4.0	4	15	3.9	4.2	25

				ı	HIST - 26	20 -	030				Survey Cor	nparisons	
Labs and Online Learning Questions			Resp	ponses (%)		C	ourse			A	II	
	SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	103	4.6	4.7	20
Q16 The course topics are organized in a coherent fashion.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	167	4.5	4.7	17

 Course:
 MATH - 1324 001 - Business Math I
 Department:
 MATHIS

 Responsible Faculty:
 Mary Hoyt
 Responses / Expected:
 3 / 18 (16.67%)

\equiv														
						Mary I	Hoy	t				Survey Co	mpariso	ns
Cou	rse Evaluation Questions		R	esp	onses ('	%)		Indi	vidual			MA	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.3	4.5	20
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.4	4.5	30
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.6	4.6	30
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.4	4.6	30
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.3	4.6	30
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.4	4.5	30
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.6	4.7	10
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.5	4.7	10
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.5	4.6	10
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.3	4.6	20
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0	4.0	4	17	4.6	4.7	10
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.3	4.5	40
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.1	4.1	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	18	4.2	4.3	50

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					N	ЛАТН - 13	324 -	001				Survey Cor	nparisons	
La	bs and Online Learning Questions			Res	onses (%)		C	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	103	4.6	4.7	29
Q.	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	167	4.5	4.7	12

Course:MATH - 1600 030 - TrigonometryDepartment:MATHISResponsible Faculty:Joshua GoodsonResponses / Expected:3 / 7 (42.86%)

					Josi	nua Goo	ds					Survey Co		ns
Cou	rse Evaluation Questions		Re	espon	ses (%)			Indi	vidual			MA	THIS	
		SD [)	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 (ס	0	1 33.3%	2 66.7%	3	4.7	4.8	5	18	4.3	4.5	70
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 (ו	0	0	3 100%	3	5.0	5.0	5	18	4.4	4.5	80
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 (ס	0	0	3 100%	3	5.0	5.0	5	18	4.6	4.6	80
Q4	My instructor provides material that helps me do well on assignments.	0 (ס	0	0	3 100%	3	5.0	5.0	5	18	4.4	4.6	80
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 (כ	0	0	3 100%	3	5.0	5.0	5	18	4.3	4.6	80
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 (כ	0	0	3 100%	3	5.0	5.0	5	18	4.4	4.5	80
Q7	My instructor establishes a climate of respect for students.	0 (ס	0	0	3 100%	3	5.0	5.0	5	18	4.6	4.7	80
Q8	My instructor is available to me on matters pertaining to the course.	0 (ס	0	0	3 100%	3	5.0	5.0	5	18	4.5	4.7	80
Q9	My instructor encourages me to do my best work.	0 (כ	0	0	3 100%	3	5.0	5.0	5	18	4.5	4.6	80
Q10	My instructor provides timely feedback to guide my progress.	0 (כ	0	0	3 100%	3	5.0	5.0	5	18	4.3	4.6	80
Q1	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 (ם כ	0	0	3 100%	3	5.0	5.0	5	17	4.6	4.7	80
Q1:	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 (ס	0	0	3 100%	3	5.0	5.0	5	18	4.3	4.5	80
Q1:	My instructor encourages me to develop new viewpoints.	0 (33	1 3.3%	0	2 66.7%	3	4.3	4.8	5	18	4.1	4.1	70
Q14	My instructor made the subject interesting and motivated me to learn.	0 (ס	0	1 33.3%	2 66.7%	3	4.7	4.8	5	18	4.2	4.3	70

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

						MATH	- 16	00 - 030				- Survey Co	mparisons	
L	abs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
6	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	103	4.6	4.7	82
(The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	167	4.5	4.7	85

Course:MATH - 1680 030 - Elementary Probability and StatisticsDepartment:MATHISResponsible Faculty:Byungik KahngResponses / Expected:7 / 27 (25.93%)

		_									_			
					Byun	gik Kahı	ng				8	Survey Co	mpariso	ons
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	ividual			MA	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	18	4.3	4.5	20
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	4.3	4	18	4.4	4.5	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	18	4.6	4.6	50
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3	4.6	5	18	4.4	4.6	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	4.3	4	18	4.3	4.6	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	18	4.4	4.5	50
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	18	4.6	4.7	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	18	4.5	4.7	30
Q9	My instructor encourages me to do my best work.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	18	4.5	4.6	30
Q10	My instructor provides timely feedback to guide my progress.	0	2 28.6%	0	2 28.6%	3 42.9%	7	3.9	4.3	4	18	4.3	4.6	20
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	17	4.6	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	18	4.3	4.5	40
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 42.9%	2 28.6%	2 28.6%	7	3.9	3.8	4	18	4.1	4.1	30
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9	4.0	4	18	4.2	4.3	20

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					MATH	- 1680 -	030)				Survey Co	nparison:	ş
La	abs and Online Learning Questions			Response	es (%)			Co	ourse			А	11	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	103	4.6	4.7	82
Q	The course topics are organized in a coherent fashion.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	167	4.5	4.7	24

Course:MATH - 2424 030 - Calculus IDepartment:MATHISResponsible Faculty:Joshua GoodsonResponses / Expected:1 / 10 (10%)

						Joshua	a G	oodson				Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	les	por	se	s (%)		Indi	vidual			MA	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.3	4.5	90
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.4	4.5	80
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.6	4.6	80
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.4	4.6	80
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.3	4.6	80
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.4	4.5	80
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.6	4.7	80
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.5	4.7	80
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.5	4.6	80
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.3	4.6	80
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	17	4.6	4.7	80
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.3	4.5	80
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.1	4.1	90
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	18	4.2	4.3	90

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					MATH	- 24	24 - 030				- Survey Cor	nparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	103	4.6	4.7	-
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	167	4.5	4.7	85

Course:MATH - 4900 002 - Special ProblemsDepartment:MATHISResponsible Faculty:Noureen KhanResponses / Expected:4 / 10 (40%)

					N	louree	n K	han				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Re	spons	ses (%	.)		Indi	vidual			MA	THIS	
		SD	D	N	А	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	18	4.3	4.5	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	18	4.4	4.5	10
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	18	4.6	4.6	10
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	18	4.4	4.6	10
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 50%	0	2 50%	4	4.0	4.0	4	18	4.3	4.6	10
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	18	4.4	4.5	10
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	18	4.6	4.7	30
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	18	4.5	4.7	50
Q9	My instructor encourages me to do my best work.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	18	4.5	4.6	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	18	4.3	4.6	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	17	4.6	4.7	30
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	18	4.3	4.5	10
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 50%	1 25%	1 25%	4	3.8	3.5	3.5	18	4.1	4.1	10
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	18	4.2	4.3	20

Course:	MGMT - 4880 010 - Management of Projects and Systems	Department:	BUSI
Responsible Faculty:	Subhro Mitra	Responses / Expected:	11 / 28 (39.29%)

					Sub	hro Mitr	ra				8	Survey Co	ompariso	ons
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2	4.6	5	42	4.5	4.7	21
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	42	4.6	4.7	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 9.1%	1 9.1%	3 27.3%	6 54.5%	11	4.3	4.6	5	42	4.5	4.7	36
Q4	My instructor provides material that helps me do well on assignments.	0	1 9.1%	0	3 27.3%	7 63.6%	11	4.5	4.7	5	42	4.5	4.7	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 9.1%	1 9.1%	3 27.3%	6 54.5%	11	4.3	4.6	5	42	4.5	4.7	21
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1	4.4	4	42	4.5	4.7	7
Q7	My instructor establishes a climate of respect for students.	0	0	3 27.3%	3 27.3%	5 45.5%	11	4.2	4.3	4	42	4.5	4.7	7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	42	4.6	4.8	50
Q9	My instructor encourages me to do my best work.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	41	4.5	4.7	14
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4	4.4	4	42	4.5	4.7	14
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	42	4.5	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	41	4.4	4.7	14
Q13	My instructor encourages me to develop new viewpoints.	1 9.1%	0	2 18.2%	3 27.3%	5 45.5%	11	4.0	4.3	4	42	4.4	4.7	7
Q14	My instructor made the subject interesting and motivated me to learn.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1	4.4	4	42	4.5	4.7	7

					N	и GMT - 4			Survey Con	nparisons				
L	Labs and Online Learning Questions			Res	ponses (%))		Co	urse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	103	4.6	4.7	61
q	The course topics are organized in a coherent fashion.	0	0	0	4 40%	6 60%	10	4.6	4.7	5	167	4.5	4.7	38

Course: MGMT - 5240 010 - Project Management Department: BUSI

Responsible Faculty: Subhro Mitra Responses / Expected: 4 / 17 (23.53%)

			_	_		Subh	ro N	/litra				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	spo	onses (%)		Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	79
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.6	4.7	79
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	64
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	79
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	64
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	64
Q 7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.6	4.8	64
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	41	4.5	4.7	64
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	64
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	86
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	41	4.4	4.7	79
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.4	4.7	64
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	42	4.5	4.7	64

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					N		Survey Cor	nparisons						
Lab	Labs and Online Learning Questions			Resp	ponses (%)		C	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	103	4.6	4.7	41
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	167	4.5	4.7	53

Course:	MGMT - 5870 010 - Leadership Research and Development	Department:	BUSI
Responsible Faculty:	Chemene Crawford	Responses / Expected:	3 / 7 (42.86%)

					Che	emene (Crav	wford				Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	42	4.5	4.7	64
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	42	4.6	4.7	64
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	42	4.5	4.7	86
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	42	4.5	4.7	64
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	42	4.5	4.7	86
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	42	4.5	4.7	86
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	42	4.5	4.7	79
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	42	4.6	4.8	86
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	41	4.5	4.7	86
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	42	4.5	4.7	86
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	42	4.5	4.7	64
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	41	4.4	4.7	64
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	42	4.4	4.7	86
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	42	4.5	4.7	86

					N	1GMT - 58			Survey Cor	nparisons				
La	Labs and Online Learning Questions			Res	onses (%)		C	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	103	4.6	4.7	41
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	167	4.5	4.7	85

Course:	PBHL - 4340 030 - Health Promotion Skills and Competencies	Department:	LIFESCI
Responsible Faculty:	Corron Sanders	Responses / Expected:	1 / 9 (11.11%)

						Corro	n Sa	anders				- Survey C	ompariso	ns
Cou	se Evaluation Questions	F	les	on	ses	s (%)		Indi	ividual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50

					PBHL -	434	10 - 030				- Survey Coi	nparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			А	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	103	4.6	4.7	82
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	167	4.5	4.7	85

Course: SOCI - 4540 030 - Race and Ethnic Minorities Department: SOCPSY

Responsible Faculty: Adrian Tan Responses / Expected: 9 / 40 (22.50%)

						Adrian	Та	n				Survey C	omparisc	ons
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	ividual			SO	CPSY	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q9	My instructor encourages me to do my best work.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	9	4.8	4.9	50

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					:	SOCI - 454	40 -	030				Survey Cor	nparisons	
Labs and Or	line Learning Questions			Res	onses (%)		C	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The se	ection or lab is well integrated into the course structure.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	103	4.6	4.7	48
Q16 The co	ourse topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	167	4.5	4.7	45

Course:	COUN - 5500 040 - Human Sexuality in Counseling	Department:	SEHSD
Responsible Faculty:	Deborah Cain	Responses / Expected:	5 / 12 (41.67%)

						Debor	ah	Cain			;	Survey Co	mparis	ons
Cour	se Evaluation Questions	R	esp	on	ses (%)		Indi	vidual			SE	HSD	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.6	4.8	23
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.6	4.9	14
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.9	14
Q4	My instructor provides material that helps me do well on assignments.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.9	14
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.8	23
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.9	14
Q7	My instructor establishes a climate of respect for students.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.9	14
Q8	My instructor is available to me on matters pertaining to the course.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.9	14
Q9	My instructor encourages me to do my best work.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.8	32
Q10	My instructor provides timely feedback to guide my progress.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.6	4.8	23
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	50	4.7	4.9	14
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.8	23
Q13	My instructor encourages me to develop new viewpoints.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.8	23
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	51	4.7	4.9	14

				С	OUN -	550	0 - 040				Survey Co	mparison	s
Labs and Online Learning Questions	Re	spo	nse	s (%	5)		Co	urse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 100%	0	0	0	0	1	1.0	1.0	1	59	4.5	4.8	21
Q16 The course topics are organized in a coherent fashion.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	86	4.5	4.8	15

Course:	COUN - 5580 001 - Family Counseling	Department:	SEHSD
Responsible Faculty:	Amy McCortney	Responses / Expected:	2 / 6 (33.33%)

						Amy N	/IcC	Cortney				Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	esp	on	ses	s (%)		Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.6	4.8	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.6	4.9	77
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	73
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	82
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.6	4.8	77
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	50	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77

						COUN -	558	30 - 001				Survey Co	mparisons	s
Labs	and Online Learning Questions	-	Res	pon	ses	(%)		Co	urse			4	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	59	4.5	4.8	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	86	4.5	4.8	79

Course:	COUN - 5590 040 - Couple Counseling	Department:	SEHSD
Responsible Faculty:	Samuel Bore	Responses / Expected:	3 / 7 (42.86%)

					Sam	uel Bor	е				9	Survey Co	mparis	ons
Cour	se Evaluation Questions		Re	sponse	es (%)			Indi	vidual			SE	HSD	
		SD	D	N	А	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	51	4.6	4.8	36
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	51	4.6	4.9	23
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	51	4.7	4.9	27
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	51	4.7	4.9	27
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	51	4.7	4.8	32
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	51	4.7	4.9	73
Q7	My instructor establishes a climate of respect for students.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	51	4.7	4.9	23
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	51	4.7	4.9	32
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	51	4.7	4.8	41
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	51	4.6	4.8	41
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	50	4.7	4.9	27
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	51	4.7	4.8	32
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	51	4.7	4.8	32
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	51	4.7	4.9	27

					COUN -	559	90 - 040			-	Survey Co	mparison	s
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	59	4.5	4.8	85
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	86	4.5	4.8	79

Course:	COUN - 5670 040 - Developmental Processes and Strategies	Department:	SEHSD
Responsible Faculty:	Yu-fen Lin	Responses / Expected:	8 / 8 (100%)

					Yu-	fen Lin					5	Survey Co	mparis	ons
Cour	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	51	4.6	4.8	14
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 12.5%	1 12.5%	0	6 75%	8	4.4	4.8	5	51	4.6	4.9	32
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	51	4.7	4.9	41
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	0	1 12.5%	6 75%	8	4.5	4.8	5	51	4.7	4.9	41
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	51	4.7	4.8	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	4.7	5	51	4.7	4.9	23
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	51	4.7	4.9	32
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	51	4.7	4.9	23
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	51	4.7	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	51	4.6	4.8	32
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	50	4.7	4.9	41
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	51	4.7	4.8	41
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	51	4.7	4.8	41
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	51	4.7	4.9	50

					СО	UN - 5670	0 - 0	040				- Survey Co	mparison	ıs
Lab	s and Online Learning Questions		Re	spo	nses (%)			Co	ourse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	59	4.5	4.8	35
Q10	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	86	4.5	4.8	50

Course:	COUN - 5720 001 - Internship in Counseling I	Department:	SEHSD
Responsible Faculty:	Shelley Jackson	Responses / Expected:	6 / 13 (46.15%)

					SI	nelley J	acl	kson			5	Survey Co	mparis	ons
Cour	se Evaluation Questions		R	esp	onses (%)		Indi	vidua	I		SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	51	4.6	4.8	36
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	51	4.6	4.9	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	51	4.7	4.9	27
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	51	4.7	4.9	27
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	51	4.7	4.8	14
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	51	4.7	4.9	32
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	51	4.7	4.9	41
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	51	4.7	4.9	50
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	51	4.7	4.8	18
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	51	4.6	4.8	14
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	50	4.7	4.9	27
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	51	4.7	4.8	14
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	51	4.7	4.8	14
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	51	4.7	4.9	27

				С	OUN - 57	20 -	- 001				Survey Co	mparison	s
Labs and Online Learning Questions			Res	oonses (%	6)		C	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	59	4.5	4.8	50
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	86	4.5	4.8	35

Course:	COUN - 5720 002 - Internship in Counseling I	Department:	SEHSD
Responsible Faculty:	Shanda Riley	Responses / Expected:	5 / 6 (83.33%)

						Shan	ıda	Riley				Survey Co	mpariso	ons
Cou	se Evaluation Questions	R	esp	on	ses	s (%)		Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.6	4.8	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.6	4.9	77
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.9	77
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.9	77
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.8	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.9	73
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.9	77
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.9	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.8	82
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.6	4.8	77
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0	5.0	5	50	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.8	77
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	51	4.7	4.9	77

					COUN -	572	20 - 002			-	Survey Co	mparison	s
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse				All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	59	4.5	4.8	85
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	86	4.5	4.8	79

Course:	COUN - 5721 001 - Internship in Counseling II	Department:	SEHSD
Responsible Faculty:	Jennifer Baggerly	Responses / Expected:	2 / 6 (33.33%)

				J	ennifer	Ва	ggerly			;	Survey Co	mpariso	ons
Cour	se Evaluation Questions		Resp	onses	(%)		Indi	vidual			SE	HSD	
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.6	4.8	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.6	4.9	77
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	73
Q7	My instructor establishes a climate of respect for students.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q9	My instructor encourages me to do my best work.	0	0 0	1 50%	1 50%	2	4.5	4.5	4.5	51	4.7	4.8	18
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.6	4.8	77
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	0	2 100%	2	5.0	5.0	5	50	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77

					COUN -	- 57:	21 - 001			-	Survey Co	mparison	s
Labs and Online Learning Questions	1	Res	pon	ses	(%)		Co	ourse				All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	59	4.5	4.8	85
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	86	4.5	4.8	79

Course:	COUN - 5765 040 - Appraisal in Counseling	Department:	SEHSD
Responsible Faculty:	Jennifer Baggerly	Responses / Expected:	6 / 10 (60%)

						Jennife	er B	aggerly	,			Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	esp	pon	se	s (%)		Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.6	4.8	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.6	4.9	77
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.9	77
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.9	77
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.8	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.9	73
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.9	77
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.9	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.8	82
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.6	4.8	77
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	5.0	5	50	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.8	77
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	51	4.7	4.9	77

					COUN -	576	55 - 040			-	Survey Co	mparison	s
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	59	4.5	4.8	85
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	5.0	5	86	4.5	4.8	79

Course:	COUN - 5790 001 - Counseling Culturally Diverse Clients	Department:	SEHSD
Responsible Faculty:	Samuel Bore	Responses / Expected:	2 / 2 (100%)

					Sa	amue	l Bo	ore			\$	Survey Co	mparis	ons
Cour	se Evaluation Questions		Re	espon	ses (%)		Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	51	4.6	4.8	5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	51	4.6	4.9	5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	51	4.7	4.9	5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	51	4.7	4.9	5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0	4.0	4	51	4.7	4.8	5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0	4.0	4	51	4.7	4.9	5
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	51	4.7	4.9	5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	51	4.7	4.9	5
Q9	My instructor encourages me to do my best work.	0	0	0	2 100%	0	2	4.0	4.0	4	51	4.7	4.8	5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0	4.0	4	51	4.6	4.8	5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	50	4.7	4.9	5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	51	4.7	4.8	5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	51	4.7	4.8	5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	51	4.7	4.9	5

Course:	COUN - 5900 001 - Special Problems	Department:	SEHSD
Responsible Faculty:	Jamaica Chapple	Responses / Expected:	2 / 5 (40%)

						Jamaio	ca (Chapple				Survey Co	mpariso	ons
Cou	se Evaluation Questions	R	esp	on	se	s (%)		Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.6	4.8	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.6	4.9	77
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	73
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	82
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.6	4.8	77
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	50	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.7	4.9	77

				С	OUN -	590	0 - 001			-	Survey Co	mparison	s
Labs and Online Learning Questions		Re	spor	ıses (%	5)		Co	urse				All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	59	4.5	4.8	35
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	86	4.5	4.8	21

Course:	EDUC - 3320 021 - Foundations of Education	Department:	SEHSTE
Responsible Faculty:	Yolanda Graham	Responses / Expected:	18 / 30 (60%)

					Yoland	a Graha	m				5	Survey Co	mparis	ons
Cour	se Evaluation Questions		Res	sponse	s (%)			Indiv	vidual			SEH	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 11.1%	0	2 11.1%	3 16.7%	11 61.1%	18	4.2	4.7	5	42	3.9	4.6	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 11.1%	1 5.6%	1 5.6%	2 11.1%	12 66.7%	18	4.2	4.8	5	42	4.0	4.7	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 5.6%	1 5.6%	2 11.1%	1 5.6%	13 72.2%	18	4.3	4.8	5	41	4.0	4.7	50
Q4	My instructor provides material that helps me do well on assignments.	2 11.1%	0	2 11.1%	2 11.1%	12 66.7%	18	4.2	4.8	5	42	4.0	4.7	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.6%	1 5.6%	2 11.1%	2 11.1%	12 66.7%	18	4.3	4.8	5	42	4.0	4.7	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5.6%	1 5.6%	1 5.6%	2 11.1%	13 72.2%	18	4.4	4.8	5	42	4.0	4.7	50
Q7	My instructor establishes a climate of respect for students.	1 5.6%	1 5.6%	1 5.6%	0	15 83.3%	18	4.5	4.9	5	41	4.3	4.8	83
Q8	My instructor is available to me on matters pertaining to the course.	1 5.6%	1 5.6%	1 5.6%	1 5.6%	14 77.8%	18	4.4	4.9	5	42	4.3	4.8	83
Q9	My instructor encourages me to do my best work.	1 5.6%	1 5.6%	2 11.1%	1 5.6%	13 72.2%	18	4.3	4.8	5	42	4.1	4.7	83
Q10	My instructor provides timely feedback to guide my progress.	1 5.6%	1 5.6%	2 11.1%	2 11.1%	12 66.7%	18	4.3	4.8	5	42	4.0	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5.6%	0	2 11.1%	0	15 83.3%	18	4.6	4.9	5	42	4.1	4.7	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 11.1%	0	2 11.1%	0	14 77.8%	18	4.3	4.9	5	42	4.0	4.7	83
Q13	My instructor encourages me to develop new viewpoints.	1 5.6%	0	2 11.1%	2 11.1%	13 72.2%	18	4.4	4.8	5	42	4.1	4.7	83
Q14	My instructor made the subject interesting and motivated me to learn.	2 11.1%	0	2 11.1%	0	14 77.8%	18	4.3	4.9	5	42	4.0	4.8	83

				ED	UC - 33	320 -	021				Survey Co	mparison	s
Labs and Online Learning Questions		Res	ponses ((%)			Co	urse				All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	2 20%	0	8 80%	10	4.6	4.9	5	59	4.5	4.8	56
Q16 The course topics are organized in a coherent fashion.	1 6.7%	0	2 13.3%	0	12 80%	15	4.5	4.9	5	86	4.5	4.8	56

Course:	EDUC - 3320 022 - Foundations of Education	Department:	SEHSTE
Responsible Faculty:	Miriam Bennett	Responses / Expected:	7 / 19 (36.84%)

					Miriam	Bennet	t				9	Survey Co	mparis	ons
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			SEH	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 28.6%	2 28.6%	1 14.3%	1 14.3%	1 14.3%	7	2.6	2.3	2	42	3.9	4.6	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 28.6%	2 28.6%	1 14.3%	1 14.3%	1 14.3%	7	2.6	2.3	2	42	4.0	4.7	17
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 28.6%	1 14.3%	1 14.3%	2 28.6%	1 14.3%	7	2.9	3.0	3	41	4.0	4.7	17
Q4	My instructor provides material that helps me do well on assignments.	2 28.6%	2 28.6%	0	2 28.6%	1 14.3%	7	2.7	2.3	2	42	4.0	4.7	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 28.6%	1 14.3%	2 28.6%	1 14.3%	1 14.3%	7	2.7	2.8	3	42	4.0	4.7	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 28.6%	2 28.6%	1 14.3%	1 14.3%	1 14.3%	7	2.6	2.3	2	42	4.0	4.7	17
Q7	My instructor establishes a climate of respect for students.	2 28.6%	0	0	3 42.9%	2 28.6%	7	3.4	4.0	4	41	4.3	4.8	17
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	3 42.9%	1 14.3%	2 28.6%	7	3.4	3.3	3	42	4.3	4.8	17
Q9	My instructor encourages me to do my best work.	2 28.6%	0	3 42.9%	1 14.3%	1 14.3%	7	2.9	3.0	3	42	4.1	4.7	17
Q10	My instructor provides timely feedback to guide my progress.	3 42.9%	0	3 42.9%	0	1 14.3%	7	2.4	2.7	3	42	4.0	4.7	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 28.6%	0	2 28.6%	2 28.6%	1 14.3%	7	3.0	3.3	3	42	4.1	4.7	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 28.6%	1 14.3%	1 14.3%	2 28.6%	1 14.3%	7	2.9	3.0	3	42	4.0	4.7	17
Q13	My instructor encourages me to develop new viewpoints.	2 28.6%	0	2 28.6%	2 28.6%	1 14.3%	7	3.0	3.3	3	42	4.1	4.7	17
Q14	My instructor made the subject interesting and motivated me to learn.	3 42.9%	0	2 28.6%	1 14.3%	1 14.3%	7	2.6	2.8	3	42	4.0	4.8	17

				EDUC - 3	320 - 02	2					Survey Co	mpariso	ns
Labs and Online Learning Questions		Res	sponses	(%)			Co	urse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	59	4.5	4.8	26
Q16 The course topics are organized in a coherent fashion.	2 33.3%	1 16.7%	1 16.7%	1 16.7%	1 16.7%	6	2.7	2.5	2.5	86	4.5	4.8	9

Course:	EPSY - 5050 040 - Foundations of Educational Research Methodology	Department:	EDUCATION
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	9 / 15 (60%)

					Phil	lip Ortiz	<u>.</u>				5	Survey Co	mparis	ons
Cour	se Evaluation Questions		Re	esponse	es (%)			Indi	ividual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	13	4.3	4.4	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	13	4.5	4.8	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	13	4.5	4.7	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	13	4.3	4.6	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	13	4.5	4.6	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	13	4.5	4.6	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	12	4.7	4.8	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	12	4.6	4.8	50
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	11	4.5	4.7	75
Q10	My instructor provides timely feedback to guide my progress.	0	1 11.1%	0	2 22.2%	6 66.7%	9	4.4	4.8	5	12	3.9	4.5	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	13	4.6	4.8	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	13	4.6	4.8	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	13	4.5	4.7	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	13	4.5	4.7	75

Labs and Online Learning Questions					Е	PSY - 505	50 -	040				Survey Co	mparison	s
La	The section or lab is well integrated into the course structure.		ı	Resp	onses (%	5)		Co	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	59	4.5	4.8	62
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	86	4.5	4.8	26

Course:	EPSY - 5050 041 - Foundations of Educational Research Methodology	Department:	EDUCATION
Responsible Faculty:	Chi-Sing Li	Responses / Expected:	4 / 6 (66.67%)

					Ch	i-Sing L	.i				5	Survey Co	mparis	ons
Cour	se Evaluation Questions		R	espons	es (%)			Indi	vidual			EDUC	ATION	
		SD	D	N	А	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	13	4.3	4.4	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	13	4.5	4.8	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	13	4.5	4.7	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 50%	0	2 50%	4	4.0	4.0	4	13	4.3	4.6	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	13	4.5	4.6	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	13	4.5	4.6	25
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	12	4.7	4.8	25
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	12	4.6	4.8	50
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	11	4.5	4.7	25
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	2 66.7%	0	0	3	2.3	2.8	3	12	3.9	4.5	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	13	4.6	4.8	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	13	4.6	4.8	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 50%	1 25%	1 25%	4	3.8	3.5	3.5	13	4.5	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	13	4.5	4.7	25

l					Е	PSY - 50	50 -	041				Survey Co	mparison	s
	ibs and Online Learning Questions The section or lab is well integrated into the course structure.		F	Resp	onses (%	6)		Co	ourse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
	Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	59	4.5	4.8	-
	Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	86	4.5	4.8	35

Course:	HSML - 3000 040 - Human Service in the Nonprofit Sector	Department:	SEHSD
Responsible Faculty:	Joy Patton	Responses / Expected:	10 / 28 (35.71%)

		L			Joy	Pat	ton				Survey Co	mpariso	ons
Cour	se Evaluation Questions	R	espo	ons	ses (%)		Indi	vidual			SE	HSD	
		SD	D N	1	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	0	1 9 10% 90%	10	4.9	4.9	5	51	4.6	4.8	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0)	2 20% 8 80%	10	4.8	4.9	5	51	4.6	4.9	41
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0)	1 9 10% 90%	10	4.9	4.9	5	51	4.7	4.9	50
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	0	1 10% 90%	10	4.9	4.9	5	51	4.7	4.9	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0		2 20% 8 80%	10	4.8	4.9	5	51	4.7	4.8	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0)	2 20% 8 80%	10	4.8	4.9	5	51	4.7	4.9	41
Q7	My instructor establishes a climate of respect for students.	0	0 0	0	1 10% 90%	10	4.9	4.9	5	51	4.7	4.9	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0)	2 20% 8 80%	10	4.8	4.9	5	51	4.7	4.9	41
Q9	My instructor encourages me to do my best work.	0	0 0)	2 20% 8 80%	10	4.8	4.9	5	51	4.7	4.8	59
Q10	My instructor provides timely feedback to guide my progress.	0	0 0)	2 8 20% 80%	10	4.8	4.9	5	51	4.6	4.8	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0)	2 8 20% 80%	10	4.8	4.9	5	50	4.7	4.9	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0)	2 20% 8 80%	10	4.8	4.9	5	51	4.7	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	0	0 0)	2 20% 8 80%	10	4.8	4.9	5	51	4.7	4.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0)	2 8 20% 80%	10	4.8	4.9	5	51	4.7	4.9	41

					Н	SML - 30	00 -	- 040				- Survey Co	mparison	ıs
Labs	and Online Learning Questions		F	Resp	onses (%	5)		C	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	59	4.5	4.8	68
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	9 100%	9	5.0	5.0	5	86	4.5	4.8	79

Course:	LING - 3060 001 - Principles of Language Study	Department:	SEHSTE
Responsible Faculty:	Shelby Miller	Responses / Expected:	17 / 17 (100%)

					Shel	by Mille	er				5	Survey Co	mparis	ons
Cour	se Evaluation Questions		Res	ponse	es (%)			Indiv	vidual			SEH	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	3 17.6%	1 5.9%	0	1 5.9%	12 70.6%	17	4.1	4.8	5	42	3.9	4.6	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 11.8%	1 5.9%	0	1 5.9%	13 76.5%	17	4.3	4.8	5	42	4.0	4.7	83
Q3	My instructor gives assignments that contribute to my understanding of the subject.	3 18.8%	0	0	0	13 81.3%	16	4.3	4.9	5	41	4.0	4.7	83
Q4	My instructor provides material that helps me do well on assignments.	2 11.8%	1 5.9%	0	1 5.9%	13 76.5%	17	4.3	4.8	5	42	4.0	4.7	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 17.6%	0	0	2 11.8%	12 70.6%	17	4.2	4.8	5	42	4.0	4.7	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 11.8%	1 5.9%	0	1 5.9%	13 76.5%	17	4.3	4.8	5	42	4.0	4.7	83
Q7	My instructor establishes a climate of respect for students.	2 12.5%	0	0	2 12.5%	12 75%	16	4.4	4.8	5	41	4.3	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	2 11.8%	0	0	2 11.8%	13 76.5%	17	4.4	4.8	5	42	4.3	4.8	50
Q9	My instructor encourages me to do my best work.	2 11.8%	0	1 5.9%	2 11.8%	12 70.6%	17	4.3	4.8	5	42	4.1	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	2 11.8%	0	0	2 11.8%	13 76.5%	17	4.4	4.8	5	42	4.0	4.7	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	3 17.6%	0	0	3 17.6%	11 64.7%	17	4.1	4.7	5	42	4.1	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	3 17.6%	0	0	2 11.8%	12 70.6%	17	4.2	4.8	5	42	4.0	4.7	50
Q13	My instructor encourages me to develop new viewpoints.	3 17.6%	0	0	2 11.8%	12 70.6%	17	4.2	4.8	5	42	4.1	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	3 17.6%	0	0	1 5.9%	13 76.5%	17	4.2	4.8	5	42	4.0	4.8	50

					LII	NG - 3060	- 00)1				- Survey Co	mparison	ıs
Lab	s and Online Learning Questions		Re	spo	nses (%)			Co	urse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	2 14.3%	0	0	3 21.4%	9 64.3%	14	4.2	4.7	5	59	4.5	4.8	44
Q16	The course topics are organized in a coherent fashion.	2 12.5%	0	0	3 18.8%	11 68.8%	16	4.3	4.8	5	86	4.5	4.8	44

Course:	LSCM - 4800 001 - Logistics Internship	Department:	BUSI
Responsible Faculty:	Subhro Mitra	Responses / Expected:	1 / 9 (11.11%)

						Subh	ro l	Mitra				Survey Co	ompariso	ons
Cour	se Evaluation Questions	R	esp	on	se	s (%)		Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q 7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50

Γ						LSCM -	480	00 - 001			-	Survey Co	mparison	s
	abs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			ı	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	59	4.5	4.8	85
Į,	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	86	4.5	4.8	79

Course:	LAW - 7V30 001 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Reynaldo Valencia	Responses / Expected:	5 / 22 (22.73%)

					Reyn	aldo Va	ale	ncia			5	Survey Co	mparis	ons
Cour	se Evaluation Questions		Res	spons	es (%)		Indi	vidual			LawS	Chool	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	96	4.6	4.8	32
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0	5.0	5	96	4.7	4.9	86
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	96	4.5	4.8	14
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	96	4.7	4.8	55
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	96	4.7	4.8	14
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.6	4.8	64
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	96	4.7	4.9	45
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.8	4.9	41
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.8	4.9	45
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	0	1 20%	3 60%	5	4.2	4.7	5	96	4.7	4.9	14
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	96	4.7	4.9	14
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	95	4.8	4.9	14
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	95	4.6	4.8	45
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	96	4.6	4.8	23

Course:	LAW - 7V30 002 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Kevin Robinowich	Responses / Expected:	5 / 20 (25%)

					Ke	vin Rob	oino	wich			5	Survey Co	mparis	ons
Cour	se Evaluation Questions		Re	spon	ses (%)		Indi	vidual			Laws	School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.6	4.8	68
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.7	4.9	41
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	96	4.5	4.8	68
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	96	4.7	4.8	55
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.7	4.8	59
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.6	4.8	64
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.7	4.9	45
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	5.0	5	96	4.8	4.9	86
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.8	4.9	45
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.7	4.9	59
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.7	4.9	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	95	4.8	4.9	41
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	95	4.6	4.8	45
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	96	4.6	4.8	59

Course:	LAW - 7108 001 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Stewart Caton	Responses / Expected:	1 / 6 (16.67%)

						Stew	art	Caton				Survey Co	mpariso	ons
Cour	se Evaluation Questions	R	esp	on	se	s (%)		Indi	vidua	I		Laws	School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.6	4.8	91
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.7	4.9	86
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.5	4.8	91
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.7	4.8	91
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.7	4.8	91
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.6	4.8	91
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.7	4.9	86
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.8	4.9	86
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.8	4.9	91
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.7	4.9	86
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.7	4.9	86
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	95	4.8	4.9	91
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	95	4.6	4.8	95
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	96	4.6	4.8	91

Course:	LAW - 7108 501 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Tracy Eaton	Responses / Expected:	7 / 18 (38.89%)

						Tracy E	ate	on			Survey Comparisons					
Cour	se Evaluation Questions		R	esp	onses ((%)		Indi	vidua	I						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.6	4.8	91		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.7	4.9	86		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.5	4.8	91		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.7	4.8	91		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.7	4.8	91		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.6	4.8	91		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.7	4.9	86		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.8	4.9	86		
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.8	4.9	91		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.7	4.9	86		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.7	4.9	86		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0	5.0	5	95	4.8	4.9	91		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	95	4.6	4.8	77		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	7 100%	7	5.0	5.0	5	96	4.6	4.8	91		

Course:	LAW - 7108 502 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Tracy Eaton	Responses / Expected:	4 / 13 (30.77%)

	·					Tracy E	ato	on			9	Survey Co	mnaris	ons
Cour	se Evaluation Questions		Re	esp	onses (vidua				School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.6	4.8	59
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.7	4.9	32
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.5	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.7	4.8	32
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.7	4.8	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.6	4.8	32
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.7	4.9	23
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.8	4.9	23
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.8	4.9	32
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.7	4.9	41
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.7	4.9	41
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	95	4.8	4.9	32
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	95	4.6	4.8	18
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	96	4.6	4.8	41

Course:	LAW - 7110 501 - Criminal Law Topics	Department:	LawSchool
Responsible Faculty:	Brooke Grona-Robb	Responses / Expected:	11 / 29 (37.93%)

					Bro	oke Gro	ona	-Robb			Survey Comparisons					
Cour	se Evaluation Questions		Re	esp	onses (%)		Indiv	vidual							
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	96	4.6	4.8	77		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	96	4.7	4.9	68		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	96	4.5	4.8	23		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	96	4.7	4.8	73		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	96	4.7	4.8	77		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	96	4.6	4.8	77		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	11 100%	11	5.0	5.0	5	96	4.7	4.9	86		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	96	4.8	4.9	59		
Q9	My instructor encourages me to do my best work.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	96	4.8	4.9	59		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	11 100%	11	5.0	5.0	5	96	4.7	4.9	86		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	11 100%	11	5.0	5.0	5	96	4.7	4.9	86		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	95	4.8	4.9	77		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	95	4.6	4.8	59		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	96	4.6	4.8	77		

Course:	LAW - 7111 001 - Dispute Resolution Topics	Department:	LawSchool
Responsible Faculty:	Laura Frase	Responses / Expected:	7 / 19 (36.84%)

		Laura Frase										Survey Comparisons					
Cour	se Evaluation Questions		ı	Respon	ses (%))		Individual				LawSchool					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	96	4.6	4.8	50			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	96	4.7	4.9	50			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	96	4.5	4.8	41			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	96	4.7	4.8	23			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	96	4.7	4.8	32			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	96	4.6	4.8	23			
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	96	4.7	4.9	14			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	96	4.8	4.9	50			
Q9	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	96	4.8	4.9	23			
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	96	4.7	4.9	32			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	96	4.7	4.9	27			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	95	4.8	4.9	23			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	95	4.6	4.8	77			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	96	4.6	4.8	32			

Course:	LAW - 7205 501 - Texas Civil Procedure	Department:	LawSchool
Responsible Faculty:	Josh Bernstein	Responses / Expected:	13 / 44 (29.55%)

					Josh	Bernst	ein			Survey Comparisons							
Cour	se Evaluation Questions		R	espons	es (%)			Indi	vidual			Laws	Chool				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	1 7.7%	1 7.7%	5 38.5%	6 46.2%	13	4.2	4.4	4	96	4.6	4.8	14			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.7%	7 53.8%	5 38.5%	13	4.3	4.3	4	96	4.7	4.9	5			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 7.7%	7 53.8%	1 7.7%	4 30.8%	13	3.6	3.3	3	96	4.5	4.8	5			
Q4	My instructor provides material that helps me do well on assignments.	0	0	5 38.5%	3 23.1%	5 38.5%	13	4.0	4.0	4	96	4.7	4.8	5			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.7%	7 53.8%	5 38.5%	13	4.3	4.3	4	96	4.7	4.8	5			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 7.7%	5 38.5%	2 15.4%	5 38.5%	13	3.8	3.8	4	96	4.6	4.8	5			
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 53.8%	6 46.2%	13	4.5	4.4	4	96	4.7	4.9	5			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 7.7%	4 30.8%	8 61.5%	13	4.5	4.7	5	96	4.8	4.9	5			
Q9	My instructor encourages me to do my best work.	0	0	0	7 53.8%	6 46.2%	13	4.5	4.4	4	96	4.8	4.9	5			
Q10	My instructor provides timely feedback to guide my progress.	0	0	6 46.2%	1 7.7%	6 46.2%	13	4.0	4.0	4	96	4.7	4.9	5			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 15.4%	5 38.5%	6 46.2%	13	4.3	4.4	4	96	4.7	4.9	5			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.7%	6 46.2%	6 46.2%	13	4.4	4.4	4	95	4.8	4.9	5			
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 30.8%	5 38.5%	4 30.8%	13	4.0	4.0	4	95	4.6	4.8	5			
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 7.7%	1 7.7%	6 46.2%	5 38.5%	13	4.2	4.3	4	96	4.6	4.8	5			

Course:	LAW - 7206 501 - Texas Criminal Procedure	Department:	LawSchool
Responsible Faculty:	Sarah Jacobs	Responses / Expected:	6 / 20 (30%)

					Sarah	Jacobs					Survey Comparisons					
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	ividual	I	LawSchool					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8	4.2	4	96	4.6	4.8	5		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2	4.8	5	96	4.7	4.9	14		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	96	4.5	4.8	77		
Q4	My instructor provides material that helps me do well on assignments.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	96	4.7	4.8	14		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	96	4.7	4.8	23		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	96	4.6	4.8	14		
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	96	4.7	4.9	59		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	96	4.8	4.9	14		
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	96	4.8	4.9	14		
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	96	4.7	4.9	23		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	96	4.7	4.9	59		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	95	4.8	4.9	50		
Q13	My instructor encourages me to develop new viewpoints.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	95	4.6	4.8	18		
Q14	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	96	4.6	4.8	14		

Course:	LAW - 7285 501 - SENTENCING	Department:	LawSchool
Responsible Faculty:	Shani Flemins	Responses / Expected:	14 / 36 (38.89%)

													-		
Course Evaluation Questions		Shani Flemins									Survey Comparisons				
		Responses (%)						Individual				LawSchool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	0	6 42.9%	8 57.1%	14	4.6	4.6	5	96	4.6	4.8	23	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 28.6%	10 71.4%	14	4.7	4.8	5	96	4.7	4.9	23	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	96	4.5	4.8	59	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	96	4.7	4.8	41	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 14.3%	12 85.7%	14	4.9	4.9	5	96	4.7	4.8	68	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	96	4.6	4.8	45	
Q7	My instructor establishes a climate of respect for students.	1 7.1%	1 7.1%	0	1 7.1%	11 78.6%	14	4.4	4.9	5	96	4.7	4.9	32	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7	4.9	5	96	4.8	4.9	32	
Q9	My instructor encourages me to do my best work.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8	4.9	5	96	4.8	4.9	68	
Q10	My instructor provides timely feedback to guide my progress.	0	1 7.1%	0	2 14.3%	11 78.6%	14	4.6	4.9	5	96	4.7	4.9	50	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.1%	1 7.1%	0	2 14.3%	10 71.4%	14	4.4	4.8	5	96	4.7	4.9	27	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 14.3%	12 85.7%	14	4.9	4.9	5	95	4.8	4.9	59	
Q13	My instructor encourages me to develop new viewpoints.	1 7.1%	0	0	1 7.1%	12 85.7%	14	4.6	4.9	5	95	4.6	4.8	77	
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.1%	0	0	1 7.1%	12 85.7%	14	4.6	4.9	5	96	4.6	4.8	68	

Course:	LAW - 7317 501 - Professional Responsibility	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	23 / 59 (38.98%)

earn the material.	0	D 0 0	N O	A 7	16 69.6% 20	N 23		ridual Grp Med 4.8	Med. 5	S N 96	LawS Mean 4.6	mpariso chool Grp Med 4.8	Pct Rnk
earn the material.	0	D 0 0	N	7 30.4% 3	16 69.6% 20	23	Mean	Grp Med			Mean	Grp Med	Rnk
earn the material.	0	0	0	7 30.4% 3	16 69.6% 20	23		Med				Med	Rnk
earn the material.	0	0		30.4%	69.6%		4.7	4.8	5	96	4.6	4.8	41
the subject.			0	- 1									
,	0	_			87%	23	4.9	4.9	5	96	4.7	4.9	59
		0	0	7 30.4%	16 69.6%	23	4.7	4.8	5	96	4.5	4.8	32
	0	0	0	4 17.4%	19 82.6%	23	4.8	4.9	5	96	4.7	4.8	73
	0	0 4	1 1.3%	4 17.4%	18 78.3%	23	4.7	4.9	5	96	4.7	4.8	50
learn.	0	0	0	5 21.7%	18 78.3%	23	4.8	4.9	5	96	4.6	4.8	45
	0	0	0	3 13%	20 87%	23	4.9	4.9	5	96	4.7	4.9	68
	0	0	0	1 4.3%	22 95.7%	23	5.0	5.0	5	96	4.8	4.9	68
	0	0	0	2 8.7%	21 91.3%	23	4.9	5.0	5	96	4.8	4.9	77
	0	0	0	2 8.7%	21 91.3%	23	4.9	5.0	5	96	4.7	4.9	68
reely.	0	0	0	2 8.7%	21 91.3%	23	4.9	5.0	5	96	4.7	4.9	68
standing of the	0	0	0	3 13%	20 87%	23	4.9	4.9	5	95	4.8	4.9	68
	0	0 8	2 3.7%	3 13%	18 78.3%	23	4.7	4.9	5	95	4.6	4.8	32
	0	0	0	5	18	23	4.8	4.9	5	96	4.6	4.8	50
r	eely.	0 learn. 0 0 0 0 0 0 0 1 0 0 1 0 0 1 0 0 1 0 0 1 0 0 1 0 0 1 0 0 1 0	learn. 0 0 2 2 3 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	learn. 0 0 1 4.3% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 teely. 0 0 0 tanding of the 0 0 0 0 0 0 0 0 0 0 0	learn. 0	17.4% 82.6% 18 17.4% 78.3% 18 17.4% 78.3% 18 17.4% 78.3% 18 17.4% 78.3% 18 17.4% 78.3% 18 17.4% 78.3% 18 17.4% 78.3% 18 17.4% 18 18 17.4% 78.3% 18 17.4% 18 18 18 17.4% 18 18 18 18 18 18 18 1	0 0 0 17.4% 82.6% 23 0 0 1 4 4 18 78.3% 23 learn. 0 0 0 0 5 18 78.3% 23 0 0 0 0 3 3 20 87% 23 0 0 0 0 1 4.3% 95.7% 23 0 0 0 0 2 4.3% 95.7% 23 0 0 0 0 2 8.7% 91.3% 23 eely. 0 0 0 2 2 1 91.3% 23 tanding of the 0 0 0 3 3 20 21 91.3% 23 0 0 0 0 2 3 8.7% 91.3% 23 0 0 0 0 2 3 13% 87% 23 0 0 0 0 2 3 13% 87% 23 0 0 0 2 3 18 78.3% 23	1	1	1	1	10 0 0 17.4% 82.6% 23 4.8 4.9 5 96 4.7 10 0 1 17.4% 82.6% 23 4.7 4.9 5 96 4.7 10 0 0 0 5 18 78.3% 23 4.8 4.9 5 96 4.6 10 0 0 0 3 13% 20 87% 23 4.9 4.9 5 96 4.7 10 0 0 0 1 2 2 95.7% 23 5.0 5.0 5 96 4.8 10 0 0 0 2 2 8.7% 91.3% 23 4.9 5.0 5 96 4.7 10 0 0 0 2 2 8.7% 91.3% 23 4.9 5.0 5 96 4.7 10 0 0 0 2 3 4.9 5.0 5 96 4.7 10 0 0 0 2 2 8.7% 91.3% 23 4.9 5.0 5 96 4.7 10 0 0 0 2 2 8.7% 91.3% 23 4.9 5.0 5 96 4.7 10 0 0 0 2 3 4.9 5.0 5 96 4.7 10 0 0 0 2 8.7% 91.3% 23 4.9 5.0 5 96 4.7 11 0 0 0 0 2 8.7% 91.3% 23 4.9 5.0 5 96 4.7 12 0 0 0 0 1 3 13% 87% 23 4.9 5.0 5 96 4.7	10 0 0 17.4% 82.6% 23 4.8 4.9 5 96 4.7 4.8 18 17.4% 78.3% 23 4.7 4.9 5 96 4.7 4.8 18 18 17.4% 78.3% 23 4.8 4.9 5 96 4.7 4.8 18 18 18 18 18 18 18 18 18 18 18 18 18